AN-SAS Section

Subject: Disclosure of Question Paper of SAS Part-I Examination (CBT) May, 2023

The Original/Master Question Papers of SAS Part-I Examination (CBT)
May, 2023 are uploaded. The randomisation of questions was done in each
paper to make different sets of question papers.

2. Following questions as mentioned against each paper have been
cancelled as they were not found correct. To compensate/ nullify the effect of
these wrong questions one mark for each such question have been awarded to
all the candidates irrespective of the fact whether the candidate attempted the
question or not without deducting negative marking:-

Paper Question Number
Paper [ 37
Paper II 4, 6, 24, 36
Paper III (MCQ) English 15
Paper III (MCQ) Hindi 17, 18
Paper IV (MCQ) -
Paper V 35, 81, 83, 91, 99
3. Further being an auto generated format of MCQ portion, correct option

has been shown as ‘A’ against all the questions, which is by default and may
not be taken as correct answer. For descriptive portion of Paper III & practical
portion of Paper IV, Questions are in PDF format.
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1. ATFUId & 148 HEHaN &1 HTdTe! 1 AR™M B IHdrg?

Who can initiate impeachment proceedings against the President of India?

(A) () TGS BT DI Ht Tga

(a) Either House of Parliament

(B) (T) $ad ol JHT
(b) Only Lok Sabha

(C) (1) hael g JHI
(c) Only Rajya Sabha

(D) () Dig I fFem= g1
(d) Any Vidhan Sabha

Correct Option(s): A

2. FrafeiEd B @ & 99 WHR & Iod &1 9 781 22

Which of the following is not the source of Revenue of the Union Government?

(A) (B) 31 (P Y 3 IR IR B BISHR), HIRURLH PR 3R Jd1 HX

(a) Income (except tax on agricultural income), Corporation Tax & Service Tax

(B) (W) TH1EH 3R 3= g3l W IdIE Yob

(b) Excise on tobacco and other goods

(C) (1) TS a1y TR &R, Tl B YA BT SeHR IRGPIRA & ST Jed R I

(c) Capital gains taxes, Taxes on capital value of assets except farm land

(D) ) P G HfF G Fefod B 3R Yeob

(d) Taxes and duties related to agricultural lands

Correct Option(s): A

3. U Yfery SHiYarl & Ui e gR1 S bt fawntia Wi & S &1 o 31102) () & 3 a1 ¥
a@%mﬁmwmlw BRAG dBHd g2

1. U4l IRam 39 AHd J ahuTd g ofd ol Sfdd & U U S{TeRUl & YR IR Taa]d 34al Fshiiad 3{ual 34d
I H 92Id &1 ol Ydbell g o BakdeU I a5 U aifgd 3Ry o auviifs g3 o

1. 0¥} BILGTS deb I § afc Uch SAfdkd i UGodd 31ydl FIShIRId et 3dl 38 ¥ H Uil de & (g i o
Wwwﬁ%@%m,mwmmmwﬂmmw,wmwﬁ
HIGRURD g ¢ [ Ul Sild &1 S|

111, JIGFA 3YaT ITUTd, SRaT 4 7 g1, 39 &1d 3 Udy § [ Uy &1 YRen & fgd | g aurdgia g1 & fa 0l Sifg

Cake | _
Mt N

A police officer was dismissed from the service by Mumbai Police Commissioner under Article 311(2) (b) of the Constitution
without a departmental inquiry. Is such an action tenable?

I. Such an action is tenable in case a person is dismissed or removed or reduced in rank on the ground of conduct which has
led to his conviction on a criminal charge.

11. Such an action is tenbale if the authority empowered to dismiss or remove a person or to reduce him in rank is satisfied that
for some reason, to be recorded by that authority in writing, it is not reasonably practicable to hold such inquiry.

III. The president or the Governor, as the case may be, is satisfied that in the interest of the security of the state, it is not
expedient to hold such inquiry.

IV. Such an action is not tenable.

Which of the above statements is/are correct?

(A) (@) Pad 1
Only I

(B) (@) Had 1 3R 11

Only Iand I



(C) () Had Iv

(c) Only IV

(D) () $aA 1, 11 3R 11
(d) Only I IT and Il

Correct Option(s): A

4. I 1 YauTAS Ui url Gﬁ?ﬁﬂﬂﬁaﬂaﬁﬁéaﬁf@?mﬁﬁuﬁaﬁamw%

Which constitutional authority can alter the areas and boundaries of States and Union Territories?

(A) (P) HRd & Ipufg

(a) President of India

(B) () UYTTHAT &1 fegerd | Sl HEHS, U 3Ry & R

(b) Union Cabinet headed by the Prime Minister, through an Ordinance
(©) (N H4g

(c) Parliament

(D) (9) UHTTad wr=if & grref O 9yg

(d) Parliament. in consultation with the States affected

Correct Option(s): A

5. Gfaur YRne f[9gs & o T=6 365 T Tafta Faffad syt ) FaR &3
1. Gfau Y (G99 Bl bac Tl GHT RT Wd [T ST Ul 8: o9 THT gRT 7]

s Srara v o
N Wi L o e ¢

fotus ol uds g | 333 = uifva faar _ forgapt ared ¥
D gy, i o Y e
SUdd § U &I U &Y gl 32

Consider the following statements regarding Article 368 of the Constitutional amendment bill;

1. Constitutional amendment bill can be initiated only in Lok Sabha; not in Rajya Sabha

II. The bill can be introduced either by the minister or by a private member

I The bill does not require prior permission from President

IV. The bill must be passed in each house with a special majority, means 50% of the total membership of the house and 2/3rd

of the member of the house present and voting.
Which of the above statements is/are correct?

(A) (@) dad 1 AR 11

(a) Only I and II

(B) (@) &ad L. 11 AR 11

(b) Ouly I II and III

(©) AN Had 10, 1 AR v

(c) Only II, T and IV

(D) () ST

(d) All of the above

Correct Option(s): A

6. EfaRad @ ¥ &F W uey™ o fatas! ¥ Jeftd gl 82

Which of the following provisions do not relate to Money Bills?

(A) (@) B BT IHEH

(a) Abolition of a tax

(B) (T@) AU, <37 3R WY &) AR &

(b) Imposition of licences, fines and fees

(€) () YRd B {Tb Bl A oI SiftRen
(¢) Custody of the Contingency Funds of India

-~ ~ -~ —~ ~ =~ ~ a



(D) (¥) U g Bl HRd DI YHIDT 19 TR UHIRT S BT G190 B

(d) Declaring an expenditure to be charged on the Consolidated Fund of India

Correct Option(s): A

7. ST A U T B! 1 U3 SR FefifEa 7 4 ue) e & tgar ot
1. AT H ST 1 11 Gt R 1 wRfesd Ry & g fsar smam
11 §9 ROR & bl off offeprdl gr1 et RRvwd @ ured ot el ) fifdid = @ 4Ra & widfed AR & sm

@%m HYH gl §/Te! g2

Please read the following statements and identify the correct option below

L. All moneys deposited in a court shall be paid into the Consolidated Fund

1. All moneys received by any officer of the Union Government in his official capacity must be deposited into the
Consolidated Fund of India

Which of the above statements is/are correct?:

(A) (@) DT U198 B

(a) Only Statement I is true

(B) (T) ddd YA 1 T &

(b) Only Statement II is true

(©) (M) &+ Py 9g1 §

(c) Both statements are true

(D) (9) GF ST T &

(d) Both statements are false

Correct Option(s): A

8. e fay 710 € Sl 3R 2 FuHl & wmdA B R U daf &1 ug 3R U fdey a1 ugam o
EGH U WAy & o WAyl & YNy & forg wew Asmimralt #8218 & gR FEwd S 3|
gﬁ;u-smasn:rtﬂwwmmﬁraa%ﬂaﬁwaﬂﬁa%mmwwwmwaﬁﬁmﬁﬁw

Read the Assertion made below and the Reasoning given in support of the Assertion and identify the correct option
Assertion: Amendment of certain provisions of the Constitution requires ratification by half of the State Legislatures.
Reason: This provision was made to protect the interest of the erstwhile princely states which merged into the Dominion of
India

(A) (@) T¢ DY 3R Tob I Ug! § g € Do & foTw adh U5} Wlawor =g &

(a) Assertion and Reason are both correct but the Reason is not the correct explanation for the Assertion

(B) (W) €G B 3R dcb Gl Tl ¢ o] €¢ by & foTy adh Tgl Wslamvr g

(b) Assertion and Reason are both correct and the Reason is the correct explanation for the Assertion

(C) () T¢ HY AR T a1 7Teid §

(c) Assertion and Reason are both incorrect

(D) (9) €§ BY Fg! © fdeg dch 7TeTd ©

(d) Assertion is correct but Reason is incorrect

Correct Option(s): A

9. B UM UGN & el 3R UdD e Bl Fgferd TFuta gRT [bud Rt g 31 sl
The Chairman and every other Member of the Central Administrative Tribunal shall be appointed by the President after
consultation with whom?

(A) () HRd & G

(a) Prime Minister of India

(B) (@) YRd & Yy ey
(b) Chief Justice of India

(C) () W1 THT 3{egef
(c) Lok Sabha Speaker



(D) () Iugad Tl

(d) All of the above

Correct Option(s): A

10. fa SRR @ Weiferd e # 4 & &1 o el el 62

Which of the following statements regarding the Finance Commission is not true?

(A) (@) TPU Udd Ui auf & fere fast e &1 76+ S 41

(a) President shall constitute a Finance Commission every five years

(B) (@) IFUTA U i SN BT 76 U8 TG R ST S 98 ATaac A

(b) President shall constitute a Finance Commission at such time as considered necessary

() () G, RN & Tew! B 3pdl Bl FuRv B gebdl 3

(¢) Parliament may determine the qualification of members of the Commission

(D) () 3TN & Jeel iR YGR & 9+ T4 vl Whfdd MY 1 uHiRe g1d ¢

(d) Pay and allowances of the Chairman and members of the Commission are charged upon the Consolidated Fund

Correct Option(s): A

11. FRiH® U TeTeRaTIie &1 e fba S arar da- Rafiiad 1o safdmt § 9 fbdd 9 & SRR gidl 82

Comptroller and Auditor-General shall be paid a salary which is equal to the salary of which of the following dignitaries?

(A) (@) Iy HAl

(a) Minister of State

(B) (@) Bl ufeg

(b) Cabinet Secretary
(©) (Ui

(¢) Secretary
(D) () Yaled ATy & g

(d) Supreme Court Judge

Correct Option(s): A

12. 7TAd &Y B UgaH B

Identify the incorrect statement:

(A) (@) e e HeRagdies & 997 Ud MR Udte ARy & U Aieie) & aRiaR gl

(a) The pay and allowances of the Comptroller and Auditor General will be equivalent to a judge of the Supreme Court

B) () e Ud AeeRamsied s T4 i @iy & fu a1 62 98 &1 /g b, i+ U8l &, 30+ U R &4 5

(b) Comptroller and Auditor General shall hold office for a term of 5 years or until the age of 62, whichever is earlier

(C) () T, i Ud HgTeaTuRieh & gl WihRdd UIfter] g

(c) President is the leave sanctioning authority of the Comptroller and Auditor General

fedl T & Gl das ud
(D)(ﬂ% @%W%(W gd 3Afd ) U4 FRICRITIRI6 B! 39 o0 & ol & JHH- &

(d) Governor of a state may (with the prior approval of the President) relieve the Comptroller and Auditor General of the
responsibility of compiling the accounts of the state

Correct Option(s): A

13. B & GRI $S Rl &1 araradien, Fdad td HeTeiarRia o Tgl 9idl 715 8 1 quifa e ud
%@gﬁ%@é@ﬁé@qﬁ&ﬂ@ﬁ% eI TR g g | Fefafad J 3 o1 O 2 g9 2l & 31 et
\Hlal 2
Audit of certain bodies is not entrusted to the C&AG by law. However, C&AG can undertake the audit of such accounts under
certain conditions. Which of the following do not constitute one of these conditions?



(A) (@) TFUFA, ASUUTE, s R YL & TS D R R, ST 4 A gl

(a) On the request of the President, Governor, Administrator of UT, as the case may be

(B) () WY vmefn, afe 1% 81, df o I Fda® Ud HRTeauRied § TRIHs &3 & UL o1 fddl S

(b) The request. if any, shall be made only after consultation with the C&AG
%:) (M) TEHR R AT 31778 YRR & $86d gu FFd Ud HRiaaruRied U8 UeR U S &1 urdH1 &R gadl

(¢) C&AG may request such authorisation given the amount invested by the government

(D) (%) Ife SRaTadien R diefed H 81 dl e td HeTeReraied WiRon 9 Ul dRaraien 30+ g1y | o Uahdll §

(d) C&AG may suo moto undertake such aundit if it is in urgent public interest

Correct Option(s): A

14. 5 U4 HRRIE@ITeS & oo daal @ i A & 71 31 FRiEe vd agreiaadies & ddedl d eftd gl
fahed &) UgaH B3 |

1. g0fed A § uaie gie Ui &3 g/ HRAY 1R WRa R G164 &l aargsien FiEd 1 neeaiRie s &1 Sadl §

Tferd Y W B0 Ui d3- ardl fobdl o uraddl & o @) Wil Rdae ud meeardiad @ Uddl g ol (& U
%ﬁ&ﬂmmmﬁ@uwﬁ% :

111, e U4 ARTaRaTIRiad WY 314d1 Ua UeR & el Srierd S1yal a4 & HeR @ &1 cRaTuef &R Hbdl 8|
Some of the duties of the C&AG are listed below. Identify the correct option relating to the duties of the C&AG.

I. C&AG may audit an Indian NGO receiving substantial grants from the Consolidated Fund.

II. C&AG may examine the accounts of any recipient of loan from the Consolidated Fund that is not a foreign state or
international organisation.

II. C&AG may audit the store accounts in any office or department of the Union or of a state.

(A) (@) Iudad Ul o= T8 8

(a) All the above Statements are correct

(B) (@) Hdd &Y 11 31X 11 51 o

(b) Only Statements II and III are correct

(©) (1) Had HYF 1 Tl §

(c) Only Statement III is correct

(D) (3) ITGad H By TeTd §

(d) All the above statements are incorrect

Correct Option(s): A

15. gHR fde™ Fafdrsl A Fdae ud Agickarudies & [dadl &1 gHiEd & &l - @) & Fefif@a g 3 aF
H WAy (dFs Ud TERaToRied o Waadl &1 gRiEd &37 4 Yefia 98 g

The makers of our Constitution sought to ensure the independence of the C&AG. Which of the following provisions is not
related to ensuring the C&AG's independence.

(A) (®) Rz vd wgreraraderes @1 RUld yufe & uxdd $1 Sl of 3% 49e & Uod W Wl

(a) The reports of the C&AG shall be presented to the President who shall cause them to be laid before Parliament

(B) (9) M43 Ud HEREUigs HRd WRBR & e 3R 7 ug & foru ur 981 gim
(b) C&AG shall not be eligible for further office under Government of India

(©) (1) Fda® ud Aeeaiise & WeA & undiHe o &1 ghfed A B uwifya fear smom

(c) The administrative expenses of the C&AG’s organisation shall be charged upon the Consolidated Fund
(D) ?ma@mﬂ&%@?é@ﬁm$mﬁ®maﬁmﬁmmmﬁﬂwwuﬁ@mﬁ%$

(d) Conditions of service of persons in the Indian Audit & Accounts department may be prescribed by the President in
consultation with the C&AG

Correct Option(s): A



o IR R A B TR I
F o e o RIFRlor 9 9 "

Service HQrs. and authorities below them have been delegated certain powers of reappropriation. Which of the following
kinds of reappropriation do not fall within these powers?

(A) (@) 341 IU & 3¢

(a) Reappropriation under the same Sub Head

(B) (@) faft faega il & <t

(b) Reappropriation between different Detailed Heads

(C) @1y <g 2l o sl gAfdAareH

(c) Reappropriation between Minor Heads

() (8 3 @Y A & 3refi Juiif & dhe gAfdrsH

(d) Reappropriations between Sub Heads under the same Minor Head

Correct Option(s): A

17. FRmfead &0 S 91 ST 3¢ &1 a1 UIgh T § el a=idl Srdl g2

Which of the following data sets is not reflected in the Defence Services Estimates?

(A) (®) TTe| 7Y & [T Fore Uraber

(a) BE for the current year

(B) (@) 37Tdl T4 o feIU Swie Uraber
(b) BE for the next year

(C) (T TTeL 94 & forg afeiiferd wadb e

(c) RE for the current year

(D) (9) el 9 & ferw Soie Ui

(d) BE for the previous year

Correct Option(s): A

.gr_g%@aﬁ@aﬁqmwmwﬁmw ST B Amya H ©e gifa & PIEIBA B
%SQ 5\ ug ugg

Which of the following is not an objective for constituting the Chief of Staff Committee (COSC) with CDS at its head.

(A) (@) T8 WA TR IRBR I W UGH ST

(a) To advise the government on defence strategy

(B) (@) ! Yarail & dig dgaR UHIHRUT 3R UGl & YT Al

(b) To achieve better integration and jointmess among the three Services

(©) () Vg w1f] 3R Wiy g Ty Rfaferad Nepng] & did SHFd & gl &1 g7 Sl

(c¢) To address issues of disparity between military personnel vis-a-vis civilian bureaucracy

(D) () A BT Hol 70 ot off favg R WReR &1 9arg &

{(d) To advise the government on any matters referred to it

Correct Option(s): A

19. FufafEa 1@ =19 wr Fem e a1 uasa! W Ueren 3FEEH gl U S 82

Which of the following bodies do not receive grants-in-aid from the Defence Services Estimates?

(A) (@) ferre udarigur dwim, gifstfem

(a) Himalayan Mountaineering Institute, Darjeeling

(B) () &1 ey 3R faweior Yoy, 73 el

(b) Institute for Defence Studies & Analysis, New Delhi

(C) Ty G YA a1
(¢) Naval Research Board

- * —_ —~ ~



(D) (F) 1394 d FedcR HIEHHSD [delieid, a9l
(d) Vijayanta Senior Secondary School. Avadi

Correct Option(s): A

20. 381 HaTeg H e faun o 9 69 gy & o3| Srivd AnieRu FeRieaa: i1l g2

Which of the following departments in Ministry of Defence has ‘Directorate of Standardisation’ functioning under it?

(A) (@) &1 JdTe faymT

(a) Department of Defence Production

(B) (W) &Il 384 Ud faepry faumr

(b) Department of Defence Research and Development

(C) () T4 fawmT
(c) Department of Defence

(D) (7) g1 fau e fadhedl # 9 ig et

(d) None of the options given here

Correct Option(s): A

21. T HHAR o) Rieh 01.01.2020 &1 T WA UTed &erl 3, a8 I fRufa # RafdiRad # 9 oy aiia &1 arfie
-G UTed P

An employee who gets a promotion on 01.01.2020 will get his Annual Increment on which of the following date, in the normal
course?

(A) (@) 01.01.2021
(a) 01.01.2021

(B) (9) 01.07.2021
(b) 01.07.2021

(C) (T) 01.07.2020
(c) 01.07.2020

(D) (9) 39+ uRdien (HegH) Bl gof e |

(d) on completion of his probation

Correct Option(s): A

22. ?Wﬁ%ﬁfﬂﬂaﬁﬁaﬁm% RIS B (TR 21EY) ¥ W &1 o fear mn g | Fafaf@a A g e &

Attempt has been made to place various ranks of the three Services in ascending order of seniority. Which of the following is
incorrect?

(A) (@) YT HPA, e HAISY, TR HHISKR, HOR SR

(a) Army Captain, Lt. Commander, Air Commodore, Major General

(B) (@) Aftfeie, HHISY, T HPH, FHSR

(b) Lieutenant, Commander, Group Captain, Commodore

(©) (M) T AR, THE YeaR, AR dRE S(BIR, T3 3HHIR
(¢) Petty Officer, Naib Subedar, Master Warrant Officer, Flying Officer

(D) () G HPA, FIEUR, TR HIdd, RUR UsRd
(d) Navy Captain, Brigadier, Air Marshal, Rear Admiral

Correct Option(s): A



23, WAT. @A u Frmmad), 1965 & TR FEfaRad § 8 1 U 09 §8 (IR UHed) 7181 82

IR
g. 399 & I | 8 AR ued W dF a¥ 9 il 3@y & fog Sad uqie & {51 3 3U@! UeH W ufdgd

&

Hrd STt |
IIL. G{ﬁ'dmf%m%ﬁ o

v. gary

As per the CCS (CCA Rules), 1965, which of the following is not a minor penalty?

I. Censure

II. reduction to a lower stage in the time-scale of pay by one stage for a period not exceeding three years, without cumulative
effect and not adversely affecting his pension

[II. Compulsory retirement

IV. Dismissal from service

(A) (B) P 1 AR 1V
(a) Statements I1I and IV

(B) (@) HYA 11, 11T 3R IV
(b) Statements II, III and TV

(©) () Iy HY DI HI 7Y IS eI §

(¢) None of the above is a minor penalty

(D) (@) Il fapeu eg ds 8

(d) All the options are minor penalties

Correct Option(s): A

24. T HATTT & b FAHIT/IHIT & el & UeiHl HTa+ 31l 82
Which Department/Division of Ministry of Defence has Defence Exhibition Organisation under it?

(A) (@) 38 faum & 314 JuRig f&dieH

(a) Ceremonials Division under Department of Defence

(B) (W) &1 YR Ud faapry faum

(b) Department of Defence Research and Development

(C) () &I IATEA faHmT
(c¢) Department of Defence Production

(D) (&) &l U 7Y fyebed! H § pig T

(d) None of the options given here

Correct Option(s): A

25. B HSR faum (fewdh) & gl d-eA! & fou & 7o deiad TiaR g2

Who is the Chief Accounting Authority for all transactions of Canteen Stores Department (CSD)?

(A) (@) &1 oA HRIfEad

(a) CGDA
(B) (T) g e fow)/ o TaesR (e gamn)

(b) Secretary (Defence Finance)/Financial Advisor (Defence Services)

(C) () Yl TTeey
(c) Chief of Army Staff

(D) (9) ¥&1 Tfad
{d) Defence Secretary

Correct Option(s): A

—_ - -~ - = o~ —~— -~ ~-



26. *3{I9Y’ GiolAl &_HdY H W@
1. 7% 18-21 94 & ToUI 3R Afgamait W’@?ﬁ%
1. 38 TR W13l & ga1 Wy Bl U a4 & o SHiHefeud ($oirg) fbar mar g

i 3R WSS SHTTGDI & YR W 25% dd AU Fafia Sz & ufdfaa g
SR 1 e

Consider the following with regard to ‘Agnipath” Scheme:

L. It is open to men and women between 18-21 years

I1. It is designed to attain a youthful profile of the Armed Forces

111. Based on merit and Organisation requirements, upto 25% ‘Agniveers’ will join the regular cadre
Which of the above is/are correct?

(A) (F) Had 11 AR I

(a) Il and I1T only

(B) (@) Fdd 1 AR 11

(b) I and III only

(C) (1) Had I

(¢) I only

(D) (&) 78 fe T ol faped
(d) All of the options given here

Correct Option(s): A

27. T 3 faoma v & oA Fafafed ) IR &t
g1 AT 3R e QU T YR 3R IS YA U B & B! 3R Gt U8 TRl 31 ol {6 gt & el o

! Juidl 3R 39d WAL ETY P D .
%aaméim?&n wq%&gﬂqaﬂﬁ%ﬁwwaa g2 g g

Consider the following under Allocation of Business Rules:

“Defence of India and every part thereof including defence policy and preparation for defence and all such acts as may be
conducive in terms of war to its prosecution and after its termination to effective demobilisation.”

Which Department under Ministry of Defence is responsible for above work?

(A) (@) 99 & faum

(a) Department of Military Affairs
(B) (@) & faHm

(b) Department of Defence

(C) (M) T&T SHYH Ud fabr fqumT

(c¢) Department of Defence Research and Development

D) (9) &1 1Ay (W)WWW
(d) THQ of MoD (Army)

Correct Option(s): A

28. 18-22 3faIaR 2022 & g MefR H I 12d 3%y vawdl &1 @1 fawg axg (i) dh

What was the theme of 12th DefExpo held at Gandhinagar between 18-22 October, 20227

(A) (@) &1 H <3rakar

(a) “Aatmanirbharta’ in Defence

(B) () *HIRd: IR g1 &M Rfmior doget g4y
(b) “India: The Emerging Defence Manufacturing Hub’

(C) () TIRE &1 Y
(c) ‘Path to Pride’

(D) () &7 ¥ f3fred eramidem:

(d) ‘Digital Transformation in Defence’

Correct Option(s): A



29.

fafafad &1 fiaH &1

Match the following:
] % | agftsrt aravi smanf arg
Rustom|l | @ | Mult-missionunmanned aerial vehicle
i | P 7 | Frat I SR, g [T
Nirbhay b | Long Range Sub-sonicCruise Missile
i |afry o | e 9T 6 ATE A A A A e
AgniV ¢ | Long Range surface to surface ballistic missile
T T | B 4T M G
Nag d | Anti-Tank Guided Missile

(A) (P) i-9, i1, i{i-%, iv-B

(a) i-d. ii-c, iii-b, iv-a

(B) (W) i-71, ii-4, iii-, iv-d

(b) i-c, ii-d, iii-a, iv-b

(C) (1) i-4, 1i-, 1ii-7], iv-9
(c) i-d, ii-a, iii-c, 1v-b

(D) (9) i-®, ii-, iii-Tl, iv-Y

(d) i-a, ii-b, iii-c, iv-d

Correct Option(s): A

30. 39 R (ST BT A T 41 o gRT R AGEHT A g Ud el § YR ARTRD! D Febrer Ui

What was the name of the operation through which Indian Air Force evacuated Indian Nationals from conflict hit Ukraine?

(A) (@) AT AR

(a) Operation Maitri

(B) () TR 711
(b) Operation Ganga

(C) @) TR Ybed
(¢) Operation Sankalp

(D) (9) AR IR

(d) Operation Sagar

Correct Option(s): A

31. Fofafad 7@ & 91 41 o faum &1 Ue &1 8! 87

Which of the following is not a function of the Defence Accounts Department

(A) () TR gall § Yaf¥d gt UHRT &1 YiraH

(a) Payment of all charges pertaining to the Armed Forces

(B) (@) &1 Tareft T Haftra @i wifteal &1 gt

(b) Accounting of all receipts pertaining to the Defence Services

(C) (1) ATGEAT gRT SRIET HSR o 1 3iidRe darudian

(¢) Internal audit of store accounts maintained by the Air Force

) (9) .09 1. & T o &1 R0

(d) Maintenance of commercial accounts of the CSD

Correct Option(s): A

32, Fwfefed § S &H ISy 7T9d 82

Which of the following statement is incorrect?



(A) (@) & AT U 19, AR T9.0.00. gR1 WRdd [T Y f&efl &1 eRaraia &3l g
(a) PCDA Bangalore audits bills preferred by HAL

(B) (@) &1 ST U T (TR YT BT B S0, 3.0, T BT 3FR&VI Tl 8

(b) PCDA (0O) maintains DSOP accounts of Army officers

%%(rr) Ref1 TR T Fidae (@, 73 et & iefiF & oRaT Wgad FYad (@) WA aigHl & sl &
T BT ARV BT ©

(c) Jt.CDA (AF) under PCDA (AF) New Delhi maintains the pay accounts of IAF personnel

D) () I&ﬂﬂgumﬁw (T8 feeth & e SR ot SfeR (.f3.) & HaTey & wiarey & ey

HITdH oXdl

(d) AO(DAD) functioning under PCDA (ND) makes payment in respect of MoD Secretariat

Correct Option(s): A

33. e § A o1 9T Hy= 981 82

Which of the following statements is correct?

(A) (@) D= AP a1, &1 Faum & (el Srar @

(a) Kendriya Sainik Board falls under the Department of Defence

(B) () Sl ST U, &1 Jae faum & e 31l §
(b) DGAQA falls under the Department of Defence Production

(C) () &0 Te=T YEH, e fum & 3iefi 3T §

(¢) Defence Exhibition Organisation falls under the Department of Defence

(D) (5) TR, T4 I & AU & i 31ar g

(d) Coast Guard falls under the Department of Military Affairs

Correct Option(s): A

34, FPufiad 8 A9 T <ifte = vmal & faum J =1 ord &2

Which of the following responsibilities does not devolve on the Department of Military Affairs?

(A) (@) QT3 §RT W ST & SYGNT &I Fgral &1

(a) Promoting use of indigenous equipment by the Services

(B) (@) Yaraff & forg o iRt

(b) Revenue procurement for the Sarvices

(C) () AT H Wgad Tar! &f dgral &l

(c) Promoting jointness in operations

(D) (9) Yoira 3ugull & TR ST

(d) Overseeing capital acquisitions

Correct Option(s): A

35. FRufafEaa O @ &1 91 vy Rufvd ordfafy @ g agfaarg

Which of the following statements does not describe prescribed procedure

(A) (@) TEER $1 99 9% D1 07 & a4 HUR Ufay 641 s =ifge

(a) Subject matter of correspondence should be entered at the top of a letter

%ﬁ%}[&@m%g%qﬁﬁmqg%mmw@@Wwﬁiar%qmq?maﬁﬁaﬁmw%maﬂﬁ

(b) Reminder must mention number and date of the letter to which attention is drawn and need not mention the subject

(©) () U H U &) YoM 31 aRia 3ifdhd &1 St Ffgy, #uld &1 aikg 16l

(c) Letters should bear date of despatch not date of draft

@) (8) 58l 1 & Fuer § e g9 &1 Gua- g d 98T s g & Hidr Sidfm IR Ufta faar s =ifge
(d) Where disposal of a letter is likely to be delayed, interim reply should be sent within a week




Correct Option(s): A

36, a1 PRIHISA P TG F Had BIT A1 U T 2

Which of the following statements regarding the maintenance of Service Books is incorrect?

(A)@)@mgﬁmsﬁﬁaﬁﬁuﬁf@ﬁrmmemﬁaﬁﬂﬁaﬁamﬁﬂﬁwmm

(a) Entries in Service Books will be got attested by the individual concerned every two years

(®) (@) a1 Qa1 § uRaR & faavor gt fe ST 9y
(b) Family details should be pasted in the Service Book

C)m@mg@ﬁﬁaﬁﬁf@awﬁmaﬁmwuﬁaﬁammm%maﬁaﬁawﬁm
f?ﬂﬂanéaqm%

(¢) Date of Birth recorded in Service Book can be changed only if the individual applies through proper channel

D) ( W%Wﬁ,ﬁag@mmwﬁmmm@@vaﬁn@ﬁ&nﬁwﬁmw
&1 1 ol STl 91
(d) In case of transfer the Service Book should be brought up to date and got audited by the LAO

Correct Option(s): A

37, e e @ e R g & TEREE & &l 97w gl FIHFER TTard i &1 ugdH BY:
Different Controllers have been assigned the responsibility of maintaining various Books of Regulations. Identify the incorrect
match below:

(A) (@) BT FRIH-J&d X1 - &/ T UHH s (3HH)
(a) OM XI - PCDA (O)

(B) (@) &1 aT Uil - &1 e HgTaa®

(b) Defence Account Code - CGDA

(©) () BRI - Qi HT 11 - 3¢ A e (8, IRS

(c¢) OM Part I - CDA (Army) Meerut

(D) (3 ey FIgH-Uad X — &1 3l Y Fiae (@i | 9s6)
(d) OM XIII - PCAD (BR)

Correct Option(s): A

38, FufREad 7 4 19 W HY TeId 82

Which of the following statements is incorrect?

(A) () BRITHT ST I 1 praferd B pufafdy iR sl & iR ol dare § efed 3

(a) Part I Office Orders relate to procedure and internal working of the office

(B) () U] 11 Hrafeid A oafdrTa Hifien-Aral 4 Hafdd gid 8

(b) Part I Office Orders relate to personnel matters

(C) () SFIED S DI, BT gRT ST b ST R, &l Al e GRS b it &

(¢) Instruction Orders are issued for the compliance of the office by the CDA

(D).(4 W?ﬂg 1 TIRITS T SFHIT ER1 by irl] & R It & forw ST arel e abl wifad e aret
aﬂ%ﬁﬂ) 3R %ﬁ e foar il 8
(d) Master Note Book is maintained in each Section noting the orders and decisions affecting the work dealt within the section

Correct Option(s): A

30 PrgfifEd 1 3 fg Qemid & yRdty g 9ot B i 81 fobar 1 82

Which of the following platforms have not been inducted into the Indian Armed Forces?

(A) (P) DI
(a) Rafale

(B) (@) R gHe

(b) Super Hornet




(©) (M forid
(¢) Chinook

(D) (3) I/

(d) Tejas

Correct Option(s): A

20, 32T 3NN FRESR & Rufafaa 7 3 oy v o wiftd fear i g2
A

ﬁi.an——ﬁw

Iv.

Il IS B FUGNT B gU UG Gk B TG BY:

Defence Industrial Corridors have been established in which of the following states?
1. Uttar Pradesh

I1. Madhya Pradesh

[11. Karnataka

IV. Tamil Nadu

Select the correct answer using the code given above:

(A) (@) G fached T §

{a) All the options are correct

(B) (@)1 R IV LI 8

(b) I, IV are correct

(©) (ML IL RV IR 8

(¢) L II, IV are correct

(D) (9) L, 11, 3R m TE &

(d) L, 1L, III are correct

Correct Option(s): A

1. @ oy, @ o) g, 1965 FafaRad w a8 shm:

L 381 qa??ﬁg fGfaferd TRl HHaR]

1. 3 FaIoH & SHaR]

1L &1 1 fd, 2 P 98 U g U &1 &1 I R Y41 d 4o fbar S g

1v. YR XA W1 HfRdl & ©3 1 g8 102 H 3y aRHIMNG Big H Yad sHar
e @18 &1 ST a4 §U He! R & 98- 6

CCS (CCA) Rules, 1965 shall not apply to:

I. civilian Government servants in the Defence Services

IL persons in casual employment

I1I. any person subject to discharge from service on less than one month’s notice

IV. any railway servant, as defined in Rule 102 of Volume I of the Indian Railways Establishment Code
Select the correct answer using the code given below:

(A) (@) T HYT G 3

(a) All the statements are correct

(B) (@) HYA 1, 11 3R 111 931 §

(b) Statement I, IT and IIT are correct

(©) (M HYF N, m AR v IS 8

(c) Statements II, IIl and IV are correct

(D) (9) BIE I HY TE1 el &

(d) None of the statements is correct

Correct Option(s): A

42. U6 PR THAR oY « 1 A S BT Y TS UGH 61 T 8, a8 Urafal & 70 diva g1 S § 1 59
Hwa H ufa Fafofad fufa o gl e ¢

A Government Servant who has been awarded the minor penalty of “withholding of increments” becomes due for promotion.
Promotion in this case may happen:




(A) () acl <3 B (T FHIG I 9H & &7q

(a) Only after the expiry of the period of penalty
(B) () VA 39 THY B Il § 91 98 < § Fifd 3o &8 $ad P Y53 ¢

(b) Promotion can happen when due as the said penalty is only a minor penalty

(C) 1) Uizl ¢ ¥ uwifad el gl 8

(c) Promotions are not affected by penalty

(D) () BIS +ft fIpe TR el 8

(d) None of the options is correct

Correct Option(s): A

és.m@@ﬁﬁm%ﬁmﬂm#maﬁmmmﬁﬁmmaﬁéﬁm

Imposition of which among the following penalties does not by itself debar the Government servant concerned from being
considered for promotion?

(A) (@) Ha

{a) Censure

(B) (@) e 1 Syt

(b) Recovery from Pay

(C) () $ad ()
(¢) Only (b)

(D) (&) (@) 3R (@) &Il
(d) Both (a) and (b)

Correct Option(s): A

44. Frgfafed W AaR ¢
. U TR a3 39 gt Bl 39 SR W AT oIl b 9 39 a1 &1 Ffid & arel gl 2R sl &
%Mﬁwﬂuuﬁ&nﬁmmﬁﬂ&m@n%m@mawuaﬂaaaﬂfm%mwrrﬁmmﬁ

GH-AY SR) I UR & H 3Gl P YR R BT daTHH H a8 )
1L G&dl (?ﬁwaﬁ%! RUDCSRIEHIE] 153

111 Uep IR BHAE & T R [39R U oM & U SU@! Uik, 918 98 4o Sal RIHY= gRd U gl, 39 Jdl
o 71t faan ST forgeh fofg 9 U g

V. U6 SRR BHar) &) 3ua! Afafifar sryar Jaghy I Hefid wray & ergey e Jarfaf

Iwfad # 4 B A ds Wl vy, (@ ¥ w) P, 1965 & 31 & ofarld T <8 orrdr g2

Consider the following:

I. Withholding of increments of pay of a government servant for his failure to pass any departmental examination in accordance
with the rules or orders governing the Service to which he belongs or post which he holds or the terms of his appointment

I Stoppage of a government servant at the efficiency bar in the time-scale of pay on the ground of his unfitness to cross the bar
1II. Non-promotion of a government servant, whether in a substantive or officiating capacity, after consideration of his case, to
a service, grade or post for promotion to which he is eligible

IV. Compulsory retirement of a government servant in accordance with the provisions relating to his superannuation or
retirement

Which among the above amounts to a penalty within the meaning of CCS (CCA) Rules, 1965?

(A) (@) Pad 1, 1 3R 11
{(a) I, 11 and TII only

(B) (@) daa 11 3R v

(b) 11 and IV only

(C) () Had Iv
(c) IV only

(D) () Tef fGu e fawedl A Y &is +ff e

(d) None of the options given here

Correct Option(s): A



45, AT Raq (S1gel 7) B e uRfRufadl 7 9 fby uRfRfa & o= fafgd Tt fovar s wae g2

"Dies non' cannot be marked under which of the following circumstances:

(A) (@) Brafeg H faena 4 3T

(a) Coming late to the office

(B) (T) fo11 4d e & SFuiRd TG

(b) Being absent without prior information

(©) @1 f&1 3rgwfa & Frafera ¥ ReiRa g7 8 ugd ST

(c) Leaving the office early without permission

D) (8 it & 351 e & D1 &l X A AT DT

(d) Remaining in office but refusing to do assigned tasks

Correct Option(s): A

16, B Tl Qe (iraRon FawrEen, 1964 & et § Fuffad dy=l o 9 19 9 6y e 82

Which of following is wrong statement in respect of CCS (Conduct) Rules 19647

(A)(%)%WWW@@WﬁMWWWWWW%%@%WW%

(a) A Govt. servant qualified to vote at such election may exercise his right to vote

(B) () U WA SR o AUEraH Frafes & dd & JaR S U1 § 34dl 30U I9H g8y o ol
3T 3T THTE BT ITANT B Yebcll ¢ HUAT FHH HIT o Tebell T

(b) A Govt servant shall canvass or otherwise interfere with or use his influence in connection with or take part in an election
in legislature election only

(©) (1) SR FHIRY 30 IR S Y] &I Fafa= # 4l oA U Wb BT 9 3l §

(¢) Govt servant endeavour to prevent any member of his family from taking part in elections.

(D) (4) Suded H A IS Tl

(d) None of these

Correct Option(s): A

47, é%;ﬁnﬁrﬁa@al (TR FrgarEeh, 1964 & 1A O Iadis g H FEfafad 8 & W1 § 91 TR
Under Ct‘S (Conduct) Rules, 1964, the term, ‘sexual harassment’, includes which of the following acts or behaviours:

(A) (@) TRIRD Yuds A1 IUD! BIFAY BT

(a) physical contact and advances

(B) (@) T Ydiefl femof &

(b) making sexually coloured remarks

(C) (T 3fxeitel fodt (i) fezam
(c) showing pornography

) () § e (@), (@) 3T ()
(d) All the options (a), (b) and (¢)

Correct Option(s): A

45, T 0 0w, (@A 1) Famad), 1965 & STHR, S AT BT UGTH B o0 305 B Ul g1 &1 off el &:

Identify the order against which no appeal lies, as per CCS (CCA) Rules, 1965:

(A) (@) TP GRT TR D13 e

(a) any order made by the President
%@) g, (@) Praaae, 1965 & MW 14 & 3fefiF &1 71 it b SR U i WS ERIUING BT

(b) any order passed by an inquiring authority in the course of an inquiry under Rule 14 of CCS(CCA) Rules, 1965

~ o~ o~ ~ N ~ ~ ~ =




(C) @) Tl Y1 ST & Tavg 3MUId I Sl Ybdll §

(c) Appeals can be made against any order

D) (@ il & fawed (@) 3R (@) ¥el ©

(d) Both options (a) and (b) are correct

Correct Option(s): A

49, H-a1a Ryfde Ja1 (air=rvn) Fgwaed & e} i 1 T R QT U BN FHaR] Fafcifad | 8 feudt
gl Tel o JadD?

A government servant facing an Inquiry under the CCS (CCA) Rules may not take the assistance of which of the following:
(A) (@) DI

(a) A lawyer

(B) (@) I VI W 3R B1S off PR SHar) Sl wifd & o W e

(b) Any government servant at the station where the inquiry is held

(C) () U JaTgd WaRI R

(c) A retired government servant

(D) (3 If St SR 3uf a1 3 o o]+t e R @13 Wl Wer] FHar

(d) Any government servant at any other station if Inquiring Officer permits

Correct Option(s): A

50. B Fufae Fa (3=Ron Fgwrad, 1964 & Sl TR BiaRl gRT fope T FEfiad § 4 o 3 o1 deraR
(g deae) & EUH 31d g2

Which among the following actions by the Government Servant amounts to misconduct within the meaning of CCS (Conduct)
Rules, 19647

%lcﬁ)ﬁﬁ%ﬁafaﬁaﬁsamwuﬁummém%mﬂa{qﬁaﬁﬁ‘fmﬁéﬁmﬁwﬁs‘f

(a) Making normal arrangement during election tours of Ministers to enable them to carry out their responsibilities as
Ministers

(®) (@) HEE! gRT 91 TER & el GR1 & R o & sifreTRal g1 3 e RiEeER IR YR 8 YaY AT
(b) Arrangements by district officers for affording normal courtesies and security to Ministers on their visits connected with
election campaign

(©) () e 2 () i) B R WTifT Hifsar reiehH H TR § 4R A

(¢) Participation in sponsored media programme during study leave suo-mott

®) (%) g feu e fawedl § 4 &is 76!

(d) None of the options given here

Correct Option(s): A

s1. BT Rifde Qar (aimeRon Fgmae, 1964 & Tef A FRfifEd R fER &%
1 WRER B GS P b 71 g N SRR rfard) quf w001 ey SR U ¥ el FHrER T SridT 3

ST BTIM S SaaS T ST &1 Wifiied = ol qufe: SR 1 Sfifd U I U1 S 3R 7 T I Y
3G e H 41T

1. T TP & UHIRId H aTell a1 e M 1 Y o a7 U TRe ) HHAR) gad 98 WP 4T [ 3D

2R S [T U faR 39% WaH & ¢ 3R 98 WHR & ol ¢

%%%%wgvﬂmﬂwéﬁ 3R I AT I FA & fI 3R I ST SHTaeaeh § Suddd H B 4l
)

Consider the following with regard to CCS(Conduct) Rules, 19647

1. No Government servant shall, except with the previous sanction of the Government, own wholly or in part, or conduct or

participate in the editing or management of, any newspaper or other periodical publication or electronic media

IL. A government servant publishing a book or participating in a public media shall always make it clear that the views

expressed by him are his own and not that of Government

[IL Permission is necessary in participation in the A LR. programmes and receiving of honorarium thereof.

Which among the above is/are correct?

~ EY




(A) (@) Pad 1 3R 1
(a) I and II only

(B) (T) ddd I
(b) 1 only

(C) () Had 11 R 1M
(¢) I and 111 only

(D) () T feu T e ft facped
(d) All of the options given here

Correct Option(s): A

52, PufRifEd oy &1 g $¥ R S Hdfta el faded &1 9-1d a1
B Wi TRER SHATE B 3 a1d B AR TaH @ i € b 3 31870 & U urouhH | Wi o, o 34 WY
%mﬁﬁﬁmaﬁm%%ﬁnﬁmﬁmtﬂmﬁﬁmmﬁmm%mw%l

Examine the following statement and choose the correct option with respect to it:
Statement: When permission is granted for government servants to attend a course of learning, a condition is to be attached
saying that permission may be withdrawn at any time without assigning any reason.

%@Wsﬁaﬁsﬁﬁmﬁaﬁamw%mﬁfw@ﬁﬁmmﬁ?ﬁaﬁwaﬁﬁﬁmm

(a) This condition is prescribed so that government servants can be assigned to urgent duties in an emergency

grd &l 39 Al d S & feru Ruiid fdar i | WHR!
B ) A e g TR R i R &

(b) This condition is prescribed to deal with cases where the government servant starts to neglect his duties due to
preoccupation with the course

(C)(ﬂ)ﬁ@ﬂmrﬁm‘cﬁmﬁﬂ-ﬂw%maﬁE@Wﬁr%ﬁa‘uﬂﬁﬁaﬁﬂmwm%

(c) Such a condition can be prescribed only in respect of courses during office hours

D) () U 2rd Frgel # Ruffa 78 #1718 8

(d) Such a condition is not prescribed in the rules

Correct Option(s): A

53.WWW(W)W%%MM%%WWW%WWWWW
%?ﬁ oI ey H BT B S SR S ST I 39U fesviuard A 31 71 39 FeiRor & Ui 7 7 ©

CCS (Conduct) Rules prescribe that disciplinary action must be initiated against government servants subletting government
accommodation on charges of grave misconduct. What could be the rationale behind this prescription?

(A) (@) WHR FHIR 7 WIR & WY YrRag] 31 g

(a) The government servant has defrauded the government

(B) g)wﬁmﬁwmmw%ﬁ@mﬁwaﬁmwmﬁ IR g o valRid o o swd
el

(b) The government servant is guilty of not upholding the moral code and displaying integrity

e HEr A i AT U SR & forg S antl &1 dfud feban g St 1f TRBR) 3R & g udien HR
QLU v i peraR | g e

(¢) The government servant has deprived others waiting for scarce government accommodation for pecuniary gain which is a
grave misconduct

(D) (¥) ITGad I+l

(d) All of the above

Correct Option(s): A

5. it Tyl T (3HTerRon Frawaeh, 1964 P 18 TSR HHERA] 4 7 3R 3ree Yo ¥ Hea g1 39
foye & aieiH FwTeRad § 9 SIF U1 JraeT FeiRd el o2

Rule 18 of CCS Conduct Rules deals with movable and immovable property of government servants. Which of the following
is not prescribed under this rule?




(A) (@) Tt Ty fravof #f SU% R U R g arel 3rera Yufdl & S foar S ey

(a) Annual property return should include details of immovable property held by him on lease

(B)(@wnﬁaﬁarﬁaﬁqaﬁmﬁmwaﬁﬁﬁr@mwéﬂﬁaﬂwwaﬂaﬁéaﬂaﬂmaﬁ‘%

(b) Transactions entered into by the spouse of the government servant from own funds need not be reported
(CP Ty el TRy 3 g aiftraTed URaR (T9.4.UW.) A @) aifties Hofti faavol H sfawy fwfed foar S
(¢) HUF transactions of immovable property must be included in the annual property return

%D%T(%%@qﬁﬁﬂmmﬁﬁisoﬁﬂafaﬁuﬁﬁ%lﬁﬂﬂmﬂﬁwm%eﬁugwmmm@ﬁi&I-’ﬂ?

(d) Permission may be assumed to have been granted if no communication is received 60 days after seeking the same

Correct Option(s): A

55. &1 3R A, 2005 & Ydy H P & ) AR

L. 298 oo WiYeR] gRT WURUI Ydhed & UIasH §
u.wwmﬁﬁmﬂmmﬂaﬁmﬁmﬁmﬁﬁm@mm%ﬁwﬁmaﬁmm%
111, SUH 0T o1 ATgdd &l geTd S ol Wiy AHd Sl

1v. T® YT TG 5 38 & HRIGIE (U 65 9 DI 3y e, S W U g1, Ug R a1

St A G fopad] WA e o TR § e R U A FE U Bl &2

Consider the following statements about the Right to Information (RTI) Act, 2005:

1. Provides for suo moto disclosure by Public Authority.

II. An applicant making request for information will have to give reasons for seeking information.

111 It includes provision for removal of Chief Information Commissioner.

IV. Every Information Commissioner shall hold office for a term of 5 vears or till the age of 65 years whichever is earlier.
Which is not provided for or specially exempted?

(A) (@) Had 1 AR 11

(a) I and IT only

(B) (B) dad 11
(b) I only

(C) (1) Had 11 AR v
(c) III and IV only

) (9) Tg! Ru e faded! # 4 @15 -7l

(d) None of the options given here

Correct Option(s): A

s6. Y 1 SUBR ATYFATH, 2005 3 Yafta Fufifad dyl R AR $¥:

l.sﬂa{qgﬁmas Sl T 70 ol o7t S O e @1 ot e i are, eI sty o drdarfedl TR

11, 0 Fopat ot ST UR Wy Y So T S Rar 36 ol 59 e & Siefi v i & w0 H fepar T 3

1L A1 BT 3HTBR a@ﬁﬂﬂ@ﬁaaﬂmmﬁ%ﬁqmwammmm@mW

T 21 3R S HLFIdE & R qUT YSTER @1 Al AR TR Bl FeRerdt a1 b (e Ageaqyl ¢ |
EREAE R ERE RS,

Consider the following statements related to the Right to Information (RTI) Act, 2005:

1. No court shall entertain any suit, application, or other proceedings in respect of any order made under this act.

IL. No such order shall be called in question otherwise than by way of an appeal under this Act.

III. RTI Act has been provided to strengthen the democracy which requires an informed citizenry and transparency of

information. These are vital to the functioning of demcocracy and to contain corruption and to hold government accountable.

Which of the following statement(s) is/are true?

(A) (@) $ad 11 3R 1L
(a) IT and III only

(B) (@) $aa 18R 11
(b) I and II only

~ =




(C) (M) hdd 1 R 11
(¢) I and III only

(D) (9) Tgf fRu T Gt faded

(d) All of the options given here

Correct Option(s): A

57. Yol &l 3SR Sfafad, 2005 ¥ il TET & forg a1 TS e  Walftrd s # REfarad @) eH
3fd gl gh:

An application making a request for information under RTI Act, 2005 shall not be required to give:

(A) (@) G & URFATHRA & g BIg SR

(a) any reason for requesting the information

(B) (@) IY WU B P RIT ILIHA B b Riard Big W 37 AfdTd fdazo1

(b) any other personal details except those that may be necessary for contacting him

(C) () & ARG H!

(c)Both A and B

(D) () ST H A I !

(d) None of the above

Correct Option(s): A

sg. TR o A & H YE & sfeR fAFgH & i G B TR & el g7 31T 82

Which of the following does not fall under the definition of ‘information’ under the RTI Act?

(A) (@) $ Hel

(a) emails

(B) (@) TS
(b) logbooks

(C) () AT

(c) samples

©) () ST HY DI T

(d) None of the above

Correct Option(s): A

59, T & PR A FERiEd 3 & w78 82

Right to information does not include which of the following:

(A) (@) TSI Bl Siid

(a) Inspection of documents

(B) (T 3ffeRal & ey &
(b) Taking notes of records

(C) () TR Hail B HIe) ol 3R ST 1

(c) Taking photos and videos of public buildings
(D) (6) GxTduil &1 Uferdl! & |l Bl

(d) Seeking copies of documents

Correct Option(s): A

60. T B 3MUBR T U dRR el & e Gu & Udbed & gdy W gy yraYyH Bl g | Feffaa 7 d
B 8 U U WIayH el 82

RTI Act makes special provisions regarding disclosure of information relating to a third party. Which of the following is not
one such provision?




(A) (@) TN Y1 bR T T B9 3 U ol o i e aef ot fes <

(a) PIO shall give notice to third party within five days of receiving request

(B) (T) TR U& & UIY I8 AR ¢ [ a8 A W §H & 10 f& & HiaR TP naraeA HR G

(b) Third party has opportunity to make a representation within 10 days of receipt of notice

© m)aﬁ:gﬂﬂu&mmﬂ gifey B arian diiep R iferes TRyl © ot Gt el | e e fay S @1 SgAfd War
B S el

(c) Disclosure may be allowed in all cases if public interest is more important than any harm to third party

(D) (F) T T 2Afer) g o g Fyofa H efta val gy 3R 3 3l fop T ST &1 e wfferd g
(d) Decision taken by PIO will include provision for further appeal by third party

Correct Option(s): A

61. fa=c Ruafur i & iefe HHaTREl ot @ Afort R dpvr o fe=<l smfaft wlerell geiagie
SEIRTEER), $UEl/ad TR # erddiel & 3ol F¥A & R e BRI & Qg U el 82

1. 3 HHaTE e U1 sargd $ea 1 +f ugdl fg=<t dapunmfaiit &1 I o1

1. 3 HHar R AT SR @ URIe U T ¢ st fg=d dhun/eyfiit wder o @ ¢

. d SHar o e =< cauremfem & ufiemor sifard 761 8

Which categories of employees are not eligible for Cash Awards for acquiring qualification in Hindi Typewriting and Hindi
Stenography Examinations/Electronic Typewriters. computers/Word Processors under Hindi Teaching Scheme?

I. Employees who know Hindi Typewriting/Stenography even before joining service.

IL. Employees who have received training or passed the Hindi Typewriting/ Stenography test from a recognized institution.
TI1. Employees for whom training in Hindi Typewriting/Stenography is not obligatory.

(A) (@) 9ol faded 9e1 8

(a) All the options are correct

®) (@) i faded 11ed §

(b) All the options are incorrect

(C) (M) @Y 11 AR 1 T8l &

(c) Statements 11, 111 are correct

(D) (9) BUA1 AR 191 §

(d) Statements I, Il are correct

Correct Option(s): A

53.%?1shwu?%éﬁw%s%@%ﬁm%wmw@m%mﬁmﬁ%ﬁaﬁmﬁmw%
=4 H g1 U™l g2

Which language shall be used for the purposes of communication between the Union and a State which has not adopted Hindi
as its Official Language?

(A) () G
(a) Urdu

(B) (@) dffd
(b) Tamil

() (M) et &g e

(c) Concerned regional language

(D) (%) 3fTsit
(d) English

Correct Option(s): A




63. mg@ﬁﬁﬁﬂﬁ@aﬁ'@ﬁﬂmwmﬂwa@ﬁw 1963 & WY ¥ Hafdd g
a@uw SR Y
nqﬁmﬂa wm%ﬁaﬁmmﬁ
1L <10 GIBR & el & §i fg=al sruar 3fUsl # faht 710 =R & 91 gusl HIST H 3idia T gl d1igy
1v. 39 A & iatfa S0 T el gRT g oad gl YR o S =gy fob o <l ol fg=<l sruan gl o
YRIYTRA U1 & 3 WHd &0 3 o X 9 2 3¢ D13 Srgaen A g

Please confirm which of the following statements relate to provisions of the Official Languages Act, 1963:

I. Press communiques issued by a Central Ministry shall be bilingual.

I1. Reports laid before Parliament shall be bilingual.

[1I. Communication between Central Government Ministries in English or Hindi shall be accompanied by a translation in the
other language.

IV. Rules made under the Act must ensure that persons fluent in Hindi or English may function effectively and are not placed at
a disadvantage.

(A) (@) 30wl

(a) All of the above

(B) (@) Had 1 AR I
(b) Only I and 1I

(C) @) dad I, 11 3R 111

(c) Only I, II and III

(D) (9) &Id 11 3R 1V

(d) Only II and IV

Correct Option(s): A

64. FERIREd o Q& I Way™ ISIHST a9 1976 | FAfgd A1 82

Which of the following provisions is not contained in the Official Language Rules 19767

(A) (@) g WHR S U iy G <& & 1 e 59 & Wy a1 791 TR ame: =<t # g

(a) Communication from a central government office to a state in Region ‘A* will ordinarily be in Hindi

(B) (@) F% WHR & Us HEiay ¥ @ 3R T &7 7 fUq 57 & 1Y THER Yid: S # g

(b) Communication from a central government office to a state in Regions ‘B’ and ‘C” will ordinarily be in English

(C) () B TRBHR & HACH! & &1a TER <) 3rar s H gl ghdl g

(¢) Communication between Ministries of the central government may be in Hindi or in English

(D)(H)mwaﬁﬁunﬁms(s)ﬁmwmﬁmmemm%ﬁ

(d) Documents issued under Section 3(3) of the Official Languages Act will be in Hindi and in English

Correct Option(s): A

65, ﬁa%ﬁ@aﬁﬁﬁﬂﬁmﬁ@wﬁmmaﬁ%ﬁﬁm%mwaﬂaﬁmm$mﬁmw
3 fe1q U 2d T8l 82

Which of the following is not a condition for classifying a government servant as having a working knowledge of Hindi?

(A) (@) T2 R e A Afes Themarded Judl IR Ui -t &1 s fava & iy Siivf &1 §

(a) If government servant has passed matriculation/equivalentor higher exam with Hindi as a subject

(B) () 4 AIGHII =1 8

(b) If mother tongue is Hindi

(C) () U T1e I B W

(c) On passing the Pragya examination

(D) (9) A TRBRY HHIN T G el §

(d) If the government servant so declares

Correct Option(s): A



. afl &7 A1 Fadie @iy, Ay 3R Farom ffFgH, 2013 &
qu@mﬂmwé;( [y ) .2013 & 3FTUR FEffad 7 9 oy

As per the sexual harassement of Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013, which of the
following options is included as work place?

(A) (@) SRYARFT 8H

(a) Hospitals/Nursing Homes

| off T, TTEH 3T ITHH forga RIG=T Wifiid, v srar guid: a1 g U d &
(B)( )angﬁfﬁﬁrasgma‘mg% _ 3pyay quie: 7 qafid 7 W % IWBR & gRI

(b) Any department, organisation or undertaking which is established, owned. controlled or wholly or substantially financed
by funds provided by the Central Government

(©) (1) B3+ Weicpe, YR, WIFaw, Qaga URER 2ydl Ul a1 Yaga ®id

(c) Any sports institute, stadium, sports complex or competition or games venue

(D) (%) §1 feu e faed

(d) All of the given options

Correct Option(s): A

o7, g 1§ Q b e R Ak o1 49 Sdied Qoym, Ay ik fRarn g, 2013 & siarfd dH
IS HHT ST 9hdl 62 .

1. A1 § aaaqul adid & e TF g a1 Sfdfigd gl

1. 1B A g UgaI A1Q Sdid BT TE BT SaT SHdfHed g

1 < e % Rore fopar o) aTell U1 oagR R 39 W W 3R TSl 8l

Which of the following may amount to sexual harassment under Sexual Harassment of Women at Workplace (Prevention,
Prohibition, and Redressal) Act, 2013?

1. Implied or explicit promise of preferential treatment in her employment

1. Implied or explicit threat of detrimental treatment in her employment

[11. Humiliating treatment likely to affect her health

(A) (P) Bad 1 3R 1
(a) I and II only

(B) (W) H9d 11 3R 11
(b) Il and III only

() @ bad 11
(c¢) I only

(D) (9) T8l fGu T 9t fasen

(d) All of the options given here

Correct Option(s): A

%%ﬁ?amnﬁmﬁﬁmmsﬂ fufEm, 2013 & siarfd Rremd @ gafira Fafif@d Syl § 3 &F a1 Hu

1. ifd ARen gea & A AgiHT & MR 3 Salis &1 Re/d &) ddd! ¢
11, T3 1 el & A H Ricrd Sifam ge1 & i Al & VidR B o ] §

IIL. %mmmﬁ 31sfi difeq s o1 fafie aiivy +ff Rismd & godr ¢
V. X B GHY-UHT D ol SgIaT o Hdbdl g

Which of the following statements on complaints under the Sexual Harassment of Women at Workplace Act, 2013 is not
correct?

I. Aggrieved woman can make a complaint of sexual harassment within three months of the incident

IL In the case of a series of incidents, complaint can be made within three months of the last incident

III. Legal heir of the aggrieved woman can also make a complaint under certain circumstances

IV. Time limit for making a complaint cannot be extended

(A) (@) STEE HH BT M Td T ©

(a) None of the above are incorrect

(B) (9) Had 17T §
(b) Only III is incorrect

ay a




(C) (M Had IVIAd 8

(¢) Only IV is incorrect

(D) (F) 11 3R 1V TTEd

(d) II and IV are incorrect

Correct Option(s): A

6. R & yrfdREiem & fore Fafafea o 9 & W &4 98l el @2

Which of the following statements about re-appropriation of funds is not correct?

(A) (@) R o1 QRIS Sae o T faT ST e a8 Ual o <Y a1 98 Uei2id 8l & ora gfie 9 o
RPTEHT & 398 RIFEIRTG 4F TR TR SRmTe 8 e e a1 39 e & g RS o # aed ol o Tl §

(a) Re-appropriation of funds shall be made only when it is known or anticipated that the appropriation for the unit from which
funds are to be transferred shall not be utilized in full or that savings can be effected in the appropriation for the said unit

%§)§E§Wm§%ﬁ%®ﬁg;§%@aﬁ%mﬁ%ﬁﬁm@ﬁ$aiaﬁaaaam

(b) Funds shall not be re-appropriated from a unit with the intention of restoring the diverted appropriation to that unit when
savings become available under other units later in the year

(C)(ﬂ)WWW@WWWWWW%WWWWﬁﬁWW%ahﬁnaf‘f
mmqﬁﬁ%mﬁqwmam%ﬁﬁaﬁﬂﬁﬁm@maﬁ&@ﬁmwm%

(c) Funds can be re-appropriated from a unit which is having nnutilized amounts and later when savings become available
under other units the amount of funds taken out can be restored

(D) () fafror &1 ue wrfie gie 3 g U gfe &t [t o1 gafdfaieH u@ gie 3yar fafaeH & Hiar wam
e et ERT forat oft o farchr o & o O Od idd fobar S debar 8

(d) Re-appropriation of funds from one primary unit of appropriation to another such unit within a grant or appropriation, may
be sanctioned by a competent authority at any time before the close of the financial year

Correct Option(s): A

0. TR Tl frraTael (oUW, 3R, &1 75 13 I8 Bgdl § & U6 Jad (TR4Y) 2 ol Sfae & gy fed Iora

aﬁﬁ%zgamm ape(f BT B aRAad agel & ale fbar ST =R, 7 i 3Ub Ugel | TY e & Ui a1
Rule 13 GFR states that no revenue shall be credited by debit to a Suspense Head i.e. credit must follow and not precede
actual realisation. What is the rationale behind such an order?

(A)@)%ﬁﬁ@am%maﬂﬁ?wﬂﬂmaﬁﬁﬂwﬁwmé

(a) To ensure that balance under Suspense Heads is kept under control

(B) (@) TP TP SRAiH A & el febal Sl &

(b) Because government accounting is on cash basis

(C) (1) TSI & Fid B! gl Ugd B gHd S

(c) To enable correct identification of sources of revenue

(D) (9) WOR & T 31 ffd 3 ugl 9l ueRid &

(d) To correctly reflect the government’s cash position

Correct Option(s): A

71. U BRI 3 URER & Wit arell Ueb B d SR Bl Rt $3 B Wipld UeH &1 8| BH A Th
el e am feran 2R S Afd A gaq & U T U g3 | T ARG 7 fobl gl 1 Jeefe fear 32

An officer has sanctioned procurement of equipment from a firm owned by his family. The firm participated in an open tender
and fairly emerged as L1. Has the officer acted in violation of any rules?

(A) (@) faxia shfa & AFe] o ST T T TN @ i SifeieTdt A wivas R 9 oy o aret o b ey
S UER & Gaddr Te) e § fore Fadbar ag S [T B Hee H aRdm

(a) Canon of financial propriety has not been observed as officer has not exercised same vigilance on public expenditure as he
would his own




B) WW%@W ?Mw%mmﬁwﬁﬁmmﬂﬁmmm
%GFI% e 41 GRI& Y I A

(b) Canon of financial propriety has not been observed as the officer should not have exercised powers that benefit him
directly, or indirectly

(©) @1 facia ehfera & 9 AFTe! &1 Jecie fdl T 8

(c) All the canons of financial propriety have been violated

D) (9) et +ff o o7 Jecta ! fobdl T §

(d) No rules have been violated

Correct Option(s): A

;ﬁiw%}?ﬁ(gg@Bﬁﬁﬁﬁfﬂawﬁ?ﬁuﬁﬁmﬁ%mﬂﬁf%@wﬂmﬁ@ﬁmﬁaﬁuﬂmﬁ

1.@@@%%@1@?‘!@1znﬁwwﬁmm%ﬁmum?ﬁmmwam
1. e Wiepfa # =g Tg & 3ty 31 Iead fan T @ A Py o W Wigfa sggd g st
11, iy farit ol o oy T g Sigrh At IGH aeTe &1 wiaeT U fafy 9y § fear marg

Examine the following statements in respect of GFR provisions regarding lapse of sanctions and select the correct option:
1. Sanction for a fresh charge will lapse if no payment is made within 12 months from issue.

11. Sanction will lapse on specified date if period of currency is mentioned therein.

111. Sanction will lapse in the specified financial year if budget provision from a particular vear is made therein.

(A) (@) Sudad ¥

(a) All of the above

(B) (@) Hdd 1
(b) Only I

(©) (M dad 1 3R 11

(c)Onlyland II

(D) () ITad H Y BT el

(d) None of the above

Correct Option(s): A

Q.m@ﬁgﬁqmmwﬁ?ﬁnﬁwmw.mﬁwﬁ%ﬁmwﬁm 3R prag el
1. 35 910 &) GATET 3 &1 IR IR oRaT SR &1 +Tgl @ fob ool oM § 3ff¥e g gl o
n.qaaﬂﬁzﬂrf@Wﬁﬁwmwmﬁwmwmww%@wwm@
m%mww%aﬁqﬁﬂﬂﬁaW(m.é.)mmﬁWﬂﬁW%,Wam%

11, e # Wigd (@128) AR md o &l GEP U 3 &1 ST ey

v, T AT B IS o, o I e # Wit T o v §, I o sifafvar wfe o el o o ol @

Which of the following statements signifies a disregard of the Budget formulation and implementation principles as laid down
in the GFR?

I. The ultimate responsibility for ensuring that expenditure does not exceed allotment does not lie with the Accounts Officer.
1. Funds drawn from a head where savings are anticipated through reappropriation can be restored if additional funds become
available at RE stage, if necessary.

[II. Voted and charged expenditure must be shown distinctly in the budget.

IV. No expenditure on ‘New Service’ not included in original appropriation can be incurred without additional grant.

(A) @) ST H Y BIg T

(a) None of the above

(B) (@) HaA 1 AR v
(b) Only I and IV

(C) (M) I 1, 11 3R I
(¢) Only 1, 11 and III

(D) (4) Had 11
(d) Only II

Correct Option(s): A




74%&@@?@%@@%%3@1?@1&?%&@1@&@%@%%

L rﬁm%gﬁ?ﬂu LELE

11, Tl <aT WrAfd o Wl JURYA T

111, 3% U4 WeeRaIaied & TRIR U CRATUR1N A1 & &1

v, goit el & welt ReTsl o el IR gufad ¥4 3 3eward & FAfEd o

Which of the following statements relates to the duties and responsibilities of the Chief Accounting Authority of a Ministry?
I. Financial management of the Ministry

1. Appearance before the Public Accounts Committee

[II. Formulate audit plan in consultation with C&AG
IV. Ensure maintenance of full and proper records of all transactions

(A) (®) Iugad T

(a) All of the above

(B) (@) Had 1 AR IV
(b) Only 1 and IV

(©) (M) Faa 1, 11 ARV
(¢) Only I, 11 and TV

(D) () Had 1, 11 SR IV
(d) Only I, Il and IV

Correct Option(s): A

25, URE SRBR A 3% 9% 1 U BV o 31 38 o | by wobR g simeme

Government of India has taken a loan from the World Bank. How is this to be reflected in the accounts?

(A) () TorE I & U H

(a) As Revenue Receipt

(B) (@) Ustird Ui & =4 |
(b) As Capital Receipt

(C) (1) YT 111 - s aar |

(c) In Part III — Public Account

D) () YsIT fEatei & i clie 01, Bl 3R (& U H

(d) Under Capital Division as Public Debt. Loans & Advances

Correct Option(s): A

6. T T TSR 9 B B ReiRd $ear & R 49 IWER & Ol 1 [T a1 Sl g2

Which authority prescribes the form in which the accounts of the Union government are to be maintained?

(A) (@) i Ud TeTeauied & wrie U yufd

(a) President, on the advice of the C&AG

8) (@) fad Hared & el U ayufd

(b) President, on the advice of the I\ffinistry of Finance

(C) () TG HRIF- =

(c) Controller General of Accounts

(D) (9) 7 Ud Hgreauiia
(d) C&AG

Correct Option(s): A

27 TR A B AT B AT SRIYES TG0l & UaEhH (FRRRS)) & SFTER bl S § | affRor &1
29 YUTTell T g UGHEHH ol §2

Transaction are recorded in government accounts as per a hierarchy of functional classification. What is the correct order of
this system of classification?

~ " ~ ~ o P -~ o~




(A) (@) &3 WY, 30 A, 7Y Y, Sflesie AN
(a) Major Head, Sub Head, Minor Head, Object Head

(®) (@) e <, oy <, 3o 2, faega <

(b) Major Head, Minor Head, Sub Head, Detailed Head

(C)(mg@sﬁa‘,sn-g@ﬂﬁsf,agaﬁimaﬂﬁ,ﬁﬁam,mm

(¢) Major Head, Sub-Major Head, Minor Head, Sub Head, Detailed Head, Object Head

o) (7) T i, Fu.wger 9, g 2, frgd <, sifssre <

(d) Major Head, Sub-Major Head, Minor Head, Detailed Head, Object Head

Correct Option(s): A

-5, Effad #8 B9 iem 9f & [aEd &1 16 35 TH1 92

Which of the following is not an objective for maintaining Proforma accounts?

(A) (@) GBI T o drafad ARTd 1 ydl =T

(a) To ascertain true cost of government manufacturing

(B)(@)%wm%mwﬁmmuwﬁ%maﬁ

(b) To ascertain whether government agency concerned is making profit or loss

(C)(mﬂamaqﬁ@ﬁﬁmm%mﬁmm

(¢) To provide concerned agencies with a measure of functional autonomy

(D) m)aﬁ@af&ﬁmmﬁmﬁﬁmﬁwﬁﬁ@%wwwﬁﬂm

(d) To accommodate functioning of agencies of commercial/quasi-commercial nature with government accounts

Correct Option(s): A

79.m@ﬁ%mmﬁ@ﬁmmmamw$mﬁm$aﬂﬁ‘ﬁ%@@'ﬁﬁ
& A el

L. U TR ST & €1 & HRYI G616 gl o & a1 FfHd fdar R e 3Tar - USiid
11, i (Rgae) ed i o Sirer - Iord
m.wwaﬁaﬁa:rﬁfﬁaﬁamgqnmsﬁwaﬁ:ﬁwm_w

1v. U® ¢ Bl a[YH IEXWI — o

Please identify which of the following examples do not conform to the principles for allocation of expenditure as Capital or
Revenue:

1. Temporary office accommodation built after floods destroyed a government office — Capital

{L. Contribution to a Renewal Reserve Fund — Revenue

111, Mid-life upgrade to aircraft extending its life - Revenue

IV. Periodical maintenance of a tank - Revenue

(A) (@) ST H A BT el

(a) None of the above

(B) (@) e 1 3R 111

(b) Only [ and III

(C) () Had 11 AR v

(c) Only Il and IV
(D) (§) bad 11 3R 11

(d) Only II and I11

Correct Option(s): A




80, Pfifaa BT g it eragar Fam 8 fa 78 @ 8, $udr igar o
1. U W) SEiay A 8- 48 dgd §U e @1 § b a8 e & feA-ufafen & orf darer & foe & wal o

Easue
11, eI 3R HFEIHRT & SR TR Yebe alell B &1 715 8

. U% Yifid ¢ F oo gl aclidiall & Sic T & [oiu i fban
%.%wmﬁaﬁa wm@ﬁ%wmﬁsﬂ%ﬁ@sﬁnﬁ?ﬁ HE

Some of the procurement actions given below are not in consonance with rules. Please identify:

I. A government office has not undertaken e-procurement stating that it only procures items for day-to-day office functioning
I Single bid has been invited on grounds of compatibility and standardisation

[II. Two bidders have been invited to bid for a Limited Tender Enquiry

IV. An unsolicited bid in a Limited Tender has been opened

(A) (@) ITGH Tl

(a) All of the above

(B) (@) Had 1, 11 AR 111
(b) Ouly L, Il and III

(C) (1) a1, 1 SR 1V

(¢) Only I, 11T and IV

D) (F) Faa L, m AR v
(d) Only I, I and IV

Correct Option(s): A

g1, Frafad 1 2 5 S (3 A S &3 U B 981 € 7% 82

Which of the following are not exempted from depositing Earnest Money?

(A) (F) TH.0E.0H.S, Ry & gRT gy aR1ifid THTH.TA R,
(a) MSME:s as defined by department of MSME

(B) (@) ‘A g SfFAr il
(b) ‘Make in India’ companies

(C) (M) 3 HIfd 3R UiicTe fEHIT gRT 9uT HRaTTe T3y

(¢) Startups as recognised by Department of Industrial Policy & Promotion

(D) (3) B4 WG W13 & Ty Uolipd THUHIHE.

(d) MSMEs registered with Central Purchase Organisation

Correct Option(s): A

82. Ua faTiY a%a%amw a7 g, Fore QR v o o aftfep wore # eqgdes fereR T favan 77 8, TR o
pad FEfead ¥ & fdd 2dl & G 63 & d1G a1 S

Expenditure shall be incurred during a financial year on a “New Service” not contemplated in the Annual Budget for the year
only after which of the following conditions is fulfilled?

(A) (&) TS R Jie 2aT RS I [ S & 91

(a) After obtaining a supplementary grant or appropriation

(B)(@Gﬂaﬁ?maﬂaa@mﬁfwwa@nwﬁmaﬁ$qm

(b) After obtaining an advance from the Contingency Fund during that year

(C) (1) 39 T & GRM B T W TP R AT srya fafEeT v farg S & g

(¢) After obtaining a supplementary grant or appropriation or an advance from the Contingency Fund during that year
(D) mwﬁﬂha&%aﬁmw~=ﬁ§ﬁm"mma€fﬁmmw%ﬁmma§$ﬁmaﬁamﬁmqﬁm
TR YT

(d) Expenditure cannot be incurred during a financial year on a “New Service” not contemplated in the Annual Budget for the
year

Correct Option(s): A




53, 91¢ e & Gy A Fuiiad § 3 te Fadw s &1 19 1 4! el 82

Which of the following is not the role of a Controlling Officer in respect of Budget allocation?

() @) 70 &) fafad Wefa gem MieR gRI 3178 8

(a) Expenditure has been duly sanctioned by competent authority

(B) (@) 44 Soic e 3 ¥ U ol 781 §g1 3

(b) Expenditure does not exceed budget allocation

(©) () o I Iz & forg o ma & fors forg A Suere w18 7R 8

(c) Expenditure is incurred for the purpose for which funds have been provided

(D) (9) T bR H Y

(d) Expenditure is in public interest

Correct Option(s): A

84. ?@Héﬁgq 21T IR F9Te Tae AR, 2003 (T, 3R 1LTH. Tae 2003) & ey H FEfiRad Sol § 3 o @
DY ?

1 2 SR Sfeal 3 e T g P & e fop oft vl & forg, ) o) Al © o T & Sl by
SR TR R, I O g TR AT 55 TR & bt M R & v g i fafs sRar el &1

1 =G AR & S b TR g1 3T ) 3 i srean I gRT g U ) oft g @ Qe R <
@ g@ﬁ oI Rifaer <mare &1 Uy qag% HUBR gl gHM

1T, 39 SRAFRT & 31l g SRR gRI B TS Ol + r¥arg sruar 38 g1 ferg e fasddt off fAufg &1 deydi R e
& fepdt o) Rfae -araTerd &1 U U &l AUHR g
rv.wa@ﬁw%mm,ﬁmmmmﬂﬁmm%mﬁ%aﬁﬁw?ﬁ,ﬂﬁsmmﬂ%mﬁ
Which of the following statements about FRBM Act, 2003 are correct?

I. No legal proceedings shall lie against the Central Government or any officer of the Central Government for anything which
is in good faith done or intended to be done under this Act or the rules made thereunder

1. No civil court shall have jurisdiction to question the legality of any action taken by, or any decision of, the Central
Government, under this Act

11I. Any civil court of the country shall have jurisdicton to question the legality of any action taken by, or any decision of, the
Central Government, under this Act

IV. The provisions of this Act shall be in addition to, and not in derogation of, the provisions of any other law for the time
being in force

(A) (@) YT L 11 3R v IS 8

(a) Statements I, IT and IV are correct

(B) () BYA 1, I 3R v gl ¢
(b) Statements I, IIT and IV are correct

(©) (M) &5 1t BT UE e §

(¢) None of the statements are correct

(D) () Y1 AR 1 TS §

(d) Statements I and II are correct

Correct Option(s): A

o5, uffad § o O Ioia g g ol @sie ue A, 2003 3 0P ARw e 8

Which of the following is not a feature of Fiscal Responsibility and Budget Management Act, 2003?
(A) (@) I U1C Bl YA BT

(a) Eliminating Revenue Deficit

(B) (@) TSTHIYIY G B SH HIAT

(b) Reducing Fiscal Deficit

(©) @) YR o ¥ § BRI Bl TR DI real 6!

(¢) No Restriction on Government Debt from RBI

(D) (F) TP B0 B! T AT
(d) Limiting Public Debt




Correct Option(s): A

26, YR TRPR T FTee seie Fmfor (R aeiem W Fuifad 3§ 8 1 9 63 el 8
l.ﬁww-ﬁﬁmﬁWW$mW$M$Uﬁmaﬁwm% AR AT DI

Tt o foru SrEimH/SRE Bl UM B3 $1 a0l gl o
11 Sge Soie-[AHT0 B YRd GRPR H a8 1969 H URH far /@ 41
111, T YT b1 e FFffaeu e sefe- o & agHdl & AR ©

v 39 AT edl 1 R S G ST SRy e s & A S arel AR & W o e S @
TR B Slehl B

Which of the following statements on Performance Budgeting in Gol are correct?

. Performance Budgeting requires enunciation of objectives of the functioning of each Ministry and identification of
programmes/activities to achieve these objectives.

11, Performance Budgeting was launched in Gol in 1969.

1. The functional classification of Major Heads is as per the requirement of Performance Budgeting.

IV. Physical targets which are hoped to be achieved with the funds being sought in the Budget must be shown.

(A) (@) Iugad 91

(a) All of the above

(B) (@) Had 1, 111 3R v
(b) Ouly I, 1T and IV

(©) (N Had 1 ARV
(c) Only I and IV

(D) (9) Pad 1
(d) Only I

Correct Option(s): A

g7, ROT Sore- i) @ Gty FRRiid Sy 8 S 3 53T 36 el ¢
I.Ww-ﬁﬁmﬁmﬁﬂﬂmﬁwaﬁ%
aerergt @1 fAmfor Ryen fa JdE g, 9g URum Tg!
gxqﬁmﬂ%ﬁ%@%@?@uﬁvﬁﬁﬁ%wﬁ

Wmﬁu@m&ﬂ IR Wi/ $iR STR-gd &7 Bl HaR DI P o€ Iu-w1e BT Girferd faar
Which of the following statements regarding Outcome Budgeting is not correct?

1. Outcome budgeting requires identification of outcomes.

IL. Construction of schools is only an output of the Department of Education, not an outcome.

III. Outlays must be converted into outcomes.

IV. Outcome Budget should include sub-targets for coverage of women, SC/ST and N-E Region.

(A) (@) had IV
(a) Only IV

(B) (@) Had II
(b) Only II

(C) () Had 11 3R v
(¢) Only II and IV

(D) (8) G4 Y= TE1 B

(d) All of the statements are correct

Correct Option(s): A



s5. Fofifad @l 3 @ S W $U URUT-aWTE B JR 3 3 Gefa 8
I.QWM@IWUB@G#@WHW@Waﬁwﬁmm$mum(féfa)mwm%u

1. gf¢ aRomA mﬂﬁ%ﬁﬁuﬁamﬁmmﬁimma@u
I, g b {gaRuT 3R TR-GIST H ST fbdl off Feoell §

1v. JcTC bl T[UrerlT 1+ SR ST =gy

Which of the following statements relate to preparation of Outcome Budget?

1. Reform measures and policy initiatives must be linked to outputs and outcomes.
L. If outcomes are not measurable, likely benefits may be mentioned.

III. Expenditure may be broken up into Plan and non-Plan.

IV. Quality of output should also be brought out.

(A) (@) ITad GHI

(a) All of the above

(B) (0) HA 1 3R II

(b) Only T and 11

(©) (N HIAL 11 ARV
(¢) Only I, Il and IV

(D) () $Id 1 3R 1V

(d) Only II and IV

Correct Option(s): A

55, GRUTH-3M1e1Rd gere R & fg Pafif@a § 3 & w1 9l 8

Which of the following is correct for Outcome-Based Budgeting?

ooy & ufspar 2 ot fafis darerl & 31t ud® dioHTds URarsHI
() () T A T e o e R g X R

(a) It is a process of budgeting done at micro levels that sets measurable physical targets to be allocated on every planned
project under various ministries.

B) @)Wﬂwwmmmﬁnﬁﬁﬁwwéﬁaﬁwaﬁﬂawmﬁwﬁamﬁ
U AW & ofdl §

(b) The outcome budget becomes a means to establish a linkage between the fund spent by a government and the outcome that

follows.

(©) @ﬁyg%qamma%mﬁmm%@m%m%%ﬁmﬂw 3R faumt A v faRy a¥ & fiaR o
(c) It works as the progress card on what various Ministries and departments have done within a particular year

(D) () IFGerd G2t

(d) All of the above

Correct Option(s): A

90. R &1 2Th i A & Ydy # Aufafad eyl R [dar &
L URE T Ay [ B RO YRAY Wy @ 4RI 266(1) & U B §
11, SRR 37 A1 7 T IR 1 4fFep1 b1 it el @ SR g Fifgd fferal TR @1 e 8icll ¢

: AT 3f & aRM FAfeRl 1o f@e i 9 faar
1 ﬂ@%%mgg CARIRY |G

Consider the following statements regarding the Contingency Fund of India:

1. Contingency Fund of India has been established under Article 266(1) of the Indian Constitution.

II. The government acts like a banker in these transactions, and the funds in it do not belong to the government.
[I1. Funds used during a natural calamity or war are taken from the Contingency Fund.

Which of the above is/are correct?

(A) (@) Had 1 AR 1M

(a) I and III only

(B) (@) hadl 11l
(b) 11 only

(©) (M dbad

(¢) II only




(D) (4 gl Ru M wt fawed

(d) All of the options given here

Correct Option(s): A

91.mmﬁan$ﬁtr$ﬁ§$wwmaﬁ%§%wmﬂﬁ§%ﬁ%

. YRdg 99g BRI HRA &I 3HIHS R1fUd &

il.%W(mma’;Wﬁ%

111, WRE B eBTEe T & T &7 SHR HRA & yufd & o g §

v, T G o 1 UTRiGd [ ST Tl TR cb ST I (SFIRY) o @1 UY1 A & ferg fabar it

Which of the following statements about the Contingency Fund of India is correct?

1. Parliament of India by law may establish a Contingency Fund of India.

IL. It is in the nature of an Imprest.

III. The Contingency Fund of India is placed at the disposal of the President of India.

IV. The fund is used for meeting unforeseen expenditure pending authorization of the expenditure by the Parliament.

(A) (@) FUF L 11 AR v IS g

(a) Statements [, II and IV are correct

(B) (@) &Y 1, 111 3R v T ¢

(b) Statements I, ITT and IV are correct

(C) (M BY1 AR v TG R

(c) Statements I and IV are correct

(@) (&) T YA I g

(d) All the Statements are correct

Correct Option(s): A

92 R &1 3BT By @ FafiEa oaus! # 8 6y 3ewR T AT &1 3ER0T &1 S Yabdl §

ég%ﬁ%@mmwwaﬁmﬁm afafiad Y& IUIHRI BT 3MUTd AT DHRAT i UIgHT soie
. UIPTad TS BT HH P & yarE! & (A geE S

gr.mﬁmmqﬁﬁnﬁﬁm%g?gmm

1v. S U foiate ay # &l auic] ) URdd 301 SITam § df Sucniid 6 & Y UeH &1

Advances may be drawn from the Contingency Fund of India in which of the following instances:

1. An attack by a foreign power needs to be met by emergency import of additional defence equipment not catered for in the
budget.

I1. To fund relief efforts in the face of a natural calamity.

IIL. To fund a new service not provisioned in the Budget.

IV. To fund unforeseen expenditure when two budgets are presented in an election year.

(A) (@) Iuad g4I

(a) All of the above

(B) (@) had 1 3R 11
{b) Only [ and II

(©) () Had 11 3RV
(c) Only I and TV

(D) (8) &ad 1, 11 3R 11

(d) Only I, 11 and III

Correct Option(s): A



03, R T AT MY Y Yeifi Frafif@d ol § 3 SH I $3 98 o1 §
1.@%@@@@%@%%@%%%% R, Yed &1 U e [l

1 ot R @ ameRa S/ & e o &1 ok 7 o weR RaT i Sem SR ) 38 Faied ffe 8
o7 o1 711 g

Which of the following statements regarding the Contingency Fund of India are incorrect:

1. A specified sum shall be placed at the disposal of the Financial Commissioner. Railways out of the advance drawn from the
Contingency Fund to meet unforeseen expenditure of the Railways.

1. Actual expenditure from advances drawn from the Contingency Fund will be recorded in the accounts in the same manner as
if it had been incurred from the Consolidated Fund.

(A) (@) Had DY 1

(a) Only Statement I

(B) (T) had HYT 11
(b) Oaly Statement II

(C) () THI B TEI 8

(c) Both Statements are correct

(D) () T B el §

(d) Both Statements are incorrect

Correct Option(s): A

o T ) ST Y @) SRR, 2021 & el o Y 8 aiffm & forg oredan o fbd g fepan

To whom shall the applications for advance from the contingency fund shall be made under the Contingency Fund of India
(Amendment) Rules, 20217

(A) (@) Tfera, o faHmT, o< wared
(a) Secretary, Department of Expenditure, Ministry of Finance

(8) (@) Tfd, anfdies Hreel gy, fad Harer™

(b) Secretary, Department of Economic Affairs, Ministry of Finance

(C) Ty 3fed, Hifcl ST

(¢) Chairman, Niti Aayog

(D) (5 ot g wAAl

(d) Minister of State for Finance

Correct Option(s): A

o5, Ue Sfa P W SRl & Sfne (FURAH) & &0 H Ffd o (T ST T el 81 51 7 1 98
U3 IR 31¥G 8] 3 SIUGT 3G ol 61 8l:

A person shall not be qualified for appointment as the Chairman of the Central Administrative Tribunal unless he is, or has

been:

(A) (&) = AT S TR
(a) Judge of a High Court

(B) (T) Fated AR b1 AR
(b) Judge of Supreme Court

(C) () Tuw 9ofl & AR & e & AR

(¢) Judge of a First-Class Magistrate Court

©) (%) ST A G BT 2

(d) Any of the above

Correct Option(s): A




o6, BT T B0 & AT Bl geTU o & Ysa Fafifad Sl H 9 BIH W B Td §
I.wmaﬁmnﬁrﬁwﬂ@nﬂaﬁammw%%%uﬁaw%m&ﬂnﬁ$mﬁuﬁﬁ%

11 T e U A g &1 TS St & U R gU 3raT & 3 frg AUl GRS ger S Wbl §
111 U goiaeR @ sifd & Ry o farfaft &1 FeiiRd & gad 3

v, YRd & T Rftad HRIgRd Srues Hew & gRI §er o §hdl §

Which of the following statements regarding the removal of Chairman/Member of the Central Administrative Tribunal are
incorrect?

1. May be impeached in like manner as prescribed for judges of the Supreme Court.

1. May be removed by the President for proved misbehaviour or incapacity after an inquiry by a Judge of the Supreme Court.
111. Government may prescribe procedure for investigation of such misbehaviour.

IV. May be removed by executive order duly notified in the Gazette of India.

(A) (@) Pad 1

{a) Only I

(B) (@) had 11 3R 11
(b) Only I and III

(©) A FHaA 1 MRV
(c) Only I and IV

(D) (%) Sad 1, 1 SR v
(d) Only II, Il and TV

Correct Option(s): A

e el U, F YAy BE WHR HHARA! [ RufafGaH g oH 34
S s ST o . SRR < gt & AR 3

Provisions of the Administrative Tribunals Act, 1985 do not extend to certain government employees. Which of the following
fall in the category of employees to whom the Act applies?

(A) (@) GG I Difd

(a) Armed Forces personnel

(B) (T Tdied TRe & Siffeh

(b) Supreme Court employees

(©) (1) PR Ud ARTeraToRied & Wi & ISR Ud ©Th

(c) Officers and staff of the C&AG organisation

(D) (9) TG & HHAR]

(d) Parliament employees

Correct Option(s): A

b A UG DT
fgfarad 1 3 [ Tarm i ¥ wfmferd foar g2
Consider the following:
I. Citizens Charter
II. Public Grievance Redress
III. Public Service Delivery
Which among the above is/are included in the Sevottam framework?

(A) (&) Bad 1 3R m

(a) I and III only

(B) (@) Fad 1 3R 11

(b) 1 and 1T only

(C) @T) Had 11 3R 1
(c) 1T and IIT only

(D) (4 Tl feu g gl fdoed

(d) All the options given here




Correct Option(s): A

99, TR QR IR Al RIBTId T (DARPG) BRI SIRY a5 U far-FIEail & SFT8R T & 1 Sl & &
T TR T3 U Gl RIeTd IR BRAT H34 1 Uil & MU | 58 Yo H DI § $4 el Tel

?WM%W@WMQ@WWW
11. R aTged &3 &1 Uga ST AR Rl &1 g B o) Jad W o1 fd &3
111, R &1 FaRv &3 ¥ fuiRa S 61 &1 e Bia § Rhd g drd sifteial 31 Srer Fad

ﬂwmmwﬁm F ey o Ribadad ol Blsdd ol

Guidelines issued by Department of Administrative Reforms and Public Grievances (DARPG) require each government
organisation to establish a documented grievance handling process. Which of the following statements in this regard is not
correct?

1. Publicise the name and contact details of the Grievance Officer.

1. Tdentify complaint prone areas and fix time limit for settling complaints.

111 Fix responsibility on officers who fail to adhere to prescribed time limits for redressing complaints.

IV. Obtain feedback from the complainant regarding the decision taken on the complaint.

(A) (®) $aa 11, 111 3R v

(a) Only II, 1T and IV

(B) (@) dhdd Il
(b) Only III

(C) () Had IV
(¢) Only IV

®) (9 G FYT TE §

(d) All the statements are correct

Correct Option(s): A

100, A RIETad Baer. Sfade gharm, 3 R 8N 0 3 34 Riemwd 1 99fd 0 3 S o3 & U Sl

RIS GaRid Harer & 3HidRe oo ¥ FRaru urd & | & HHY
g‘?;%\‘rlﬁ | WW%W% GE BN 3T gl § | Fafiad ueR

Lop

L A . .

I, g@%’mﬁé@aﬁrmﬁ@ﬂaﬁaﬁm)

111, F! & TR TR U5 B FUers 7T [Ip

1v. IRl HEe

Directorate of Public Grievances, Cabinet Secretariat, has been set up to selectively examine grievances particularly those
where complainant has failed to get redress from the internal machinery of the Ministry concerned. Which of the following
types of cases are not taken up by the Directorate?

I. Policy matters

II. Service matters (excluding those relating to terminal benefits)

[1. Grievances already disposed off at the level of the Minister

IV. Sub judice cases

(A) (@) Sudad U

(a) All of the above

(B) (W) Faa 1 AR v

(b) Only T and TV

(C) () bad I, 11 R TV
(c) Only I, 11 and TV

(D) (3) Free e o R & W Bl Sifd &R Yl ©

(d) Directorate may examine any type of case

Correct Option(s): A
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1. o7 &) ol & o Se & Yt i A 8 o 9 e T E:

L wﬁmﬁm@%ﬁwmam%msﬁsﬂmﬂﬁ%mm%ﬁim%ﬁ
Il.mﬁﬁaﬂng%%aﬂéwqgﬁ 3y fha T 8

g &) U I8 ARIETE g T T S GU! o &R & oY
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Which of the following statements are correct with regard to main objects of audit of expenditure:

I. The payment is made to the proper person and so acknowledged and recorded in such a manner that a second claim against
Government on the same account is impossible

1. The expenditure is in accordance with a sanction properly accorded

[Il. The expenditure is incurred by an officer competent to incur it

IV. The charge is correctly classified

(A) (F) Had 1 AR 11

(a) I and I only

(B) (@) I, II, TII 3R 1V
(b) 1, I, Tl and IV

(C) () Had 11 3R I

(c) Il and I only

(D) () B 1, 11 AR M
(d) L, II and III only

Correct Option(s): A

> g &) fafae & iR TR & R sida: &9 91 UitieRT SwRar! g2

Which authority is ultimately responsible for keeping the expenditure within the appropriation?

(A) (@) Y& TG HelHdFS

(a) Controller General of Defence Accounts

B) (@) faFEeH &t Fafid B ared miEaR!

(b) The authority administering the appropriation

(C) (1) Halfra T eRaT wYH e R R fgad
(¢) PCDA/CDA concerned

(D) () U1 i YaIgdhR (315.U0.C.) HHH FBITad
(d) IFA Command Headquarters

Correct Option(s): A

3. 00 SRR & Ad B, STl 3T S BT ¥ <l 31 & T T8 aRIE 1 781 g <l 39 ar 1 el 3 &
o 5 forg o &1 ag iftraftfar e s, dt R srawT | b ARG 1 o+ @ i AT STeTe

In the case of an officer, whose year of birth is known but not the exact date, which date is treated as the date of birth for the
purpose of determining the date on which he should be held to have attained the age of superannuation?

(A) (P) 1 Fellg
(a) 1st July

(B) (@) 1 SHa

(b) 1st January

(©) (N 31 fegrar

(c) 31st December

(D) () 1 3T
(d) 1st April



Correct Option(s): A

4. Foffad T 8 &9 W HYF Tad 82

Which of the following statement is incorrect?

(A) (@) &I 1 AT ERT STGH 3T afiaRe RaTaRaf, Srure-neiRd crarien grf

(a) Risk Based Internal Audit (RBIA) by the Defence Accounts Department will be Compliance based audit.

(B) (@) &1 el faum g1 Sif@H e 3frafye eRaTalen, Srifare (W) e deuden gl

(b) Risk Based Internal Audit (RBIA) by the Defence Accounts Department will be Performance based audit.

(©) @ 36T oRa T T T SO aaTadien, onfer 3t gRan aaradien o o fawatd gl

(c) The *System Audit’ carried out by the Defence Accounts Department will also extend to security audit of the Systems.

(D) (5 & G 3HTT GIRT B 7T faal! b RATaRIEd, HEd: Sf M1 TR/ et 7 gy uraur!
% ST gRT P g i 3 faft U § areieR) Sdes @

(d) Audit of bills carried out by the Defence Accounts Department will primarily be governed by the compliance to the
provisions laid down in Supply Orders/Contract Agreements/Work Orders as they are legally binding documents.

Correct Option(s): A

5. PR B S U1 TaF o SRaraien & i smféd el 8:

Which of the following is not required for ‘Audit of Payment:

%%(aa)ﬂaﬂﬁ?ﬂnummgmuaﬂaﬁnimaﬁuﬁ%ﬁm 3R g aifFard &R Bl vefRid $3 i oax
fdiSTd® (ZTA1Y)

(a) Copies of Sanction Order of the Competent Financial Authority (CFA) and Contingent Bill/Invoice reflecting all
mandatory details.

(B) (T) Sebl/2MIfd Smex/dldpd ¢S e

(b) Contract/Supply Order/Accepted Tender(AT) Note
(¢ (TTy TETTOTG TGy STaay/ el e 7T SIS @1 7T Jarail/ime fy g wedt (&HT IR & 3FUR) ¥ Feferd

(c) Certified Receipt Voucher (CRV)/Certificate regarding stores supplied/services rendered/ milestone (as per Contract
Agreement) achieved

(D) (&) TSR YIS S a1 A, A, et AR 3ot & 3T SN faan T §

(d) The Tender Enquiry has been floated as per applicable Rules, Regulations, Instructions and Orders

Correct Option(s): A

mﬁﬁm‘ﬂa & G AdrMilitar aches & 3R fafa GA
6 $mﬁ§n§@ m%%} y Att h%?)maxsarﬂ Hed o oY Bl SaTuIE 3R

Which is the office centrally responsible for auditing and adjusting the contingent and miscellaneous expenditure of Military
Attaches/ Advisors to Indian Embassies abroad?

(A) (@) &1 a1 9eyH e, 3 faed!
(a) PCDA, New Delhi

(B) () & TRl e (@), A6 BIaHt
(b) CDA(Army), Delhi

(©) () A HAT™
(d) MEA

(D) (9) &1 ol FTEH U@ i Rith), 715 (il
(d) CDA(IDS), New Delhi

Correct Option(s): A



7.mmﬂ$ﬁmmﬁa@mﬁwwmmﬁaﬁ@ammmmgﬁ%mmm:

F AeUer gRTIRER ¢4 § ¥ fPuam g @/ & ddy # 34 T a3l ST F1feu oY fab
%Twﬁémawaim%amﬁmmﬁm%w% i e e
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ot v ufeert Wipd ifgadl &l 3¢9 uid j

glazaa:&[wuﬁam%wsﬁ%a{qﬁ%aﬁa’n gl e iy

Audit officers in the performance of their duties should ensure the application of the following principles:

1. Every officer is expected to exercise the same vigilance in respect of expenditure incurred from public moneys as a person
of ordinary prudence would exercise in respect of expenditure of his own money.

I The expenditure should not be prima facie more than the occasion demands.

[11. No authority should exercise its powers of sanctioning expenditure to pass an order which will be directly or indirectly to
its own advantage.

(A) (@) Had 1 981 8

(a) Only (I) is correct

(B) () S 1 3 111 TE1 §

(b) Only (I) and (III) are correct

(C) (T) Had 11 3R 1 Ul §

(¢) Only (IT) and (1II) are correct

D) (3) I TET ¢

(d) All are correct

Correct Option(s): A

8. Gy !/ Adas! g eEfw i 34 uRkfRufaal # fear S e
1. gl U@y & 34T & JHal o
1L I & S{HTE 34al WIN®R & 2AH1d & HiFa

Provisional payments may be made by the Principal Controllers/Controllers
L. In cases of lack of budget provision
II. In cases of lack of power or lack of authority

(A) (@) $Ie 1781 B

(a) Only 1 is correct

(B) (@) 49 11 W5l §

(b) Only Il is correct

() (M 1 3R u a1 Wel §

(c) Both I and II are correct

(D) (8) 1 3R 11 GH 7TeTd §
(d) Both I and II are incorrect

Correct Option(s): A

9.Wﬁéﬂuﬂ;ﬁr%§§n%ﬁ%mamaﬁmﬁ;
%mwmﬁmmwm W&m%ﬂgma%ﬁmmq&smmﬁ,wnm?ﬁﬁ@ﬁwwﬁuﬁfaa 31ef el &
1. 3eR] & HAd H &1 a1 STYfd el & A 9

. 474 U1 e & WYGR W HINMIR 3iyar da 1 Aehs-3{ar0l & Hremd 4

1v. &7 fafma erat oiR Fuer gl & AreH ¥ GHTEeH gRT

The amount due to Government are recoverable:

1. through pay bills/IRLAs in case of Government employees except where recovery is under rules required to be effected in
cash, e.g. Barrack damages

I1. through work or supply bills in the case of contractors

1I. by remittance of cash into a treasury or the bank on the authority of Military Receivable Order

IV. by adjustment through Defence exchange accounts and settlement accounts

(A) (@) Had 1, 11 3R 111 T §

(a) Only 1, II and IIT are correct

(B) (@) Had 1 AR 11 TG §
(b) Only I and II are correct

-~ = -~ a



(C) () Hdd 1 AR I Hel §
(c¢) Only 1T and III are correct

©) (@) T wE §

(d) All are correct

Correct Option(s): A

1%@@Wwa@mmﬁwﬁﬁﬁm$¥%ﬁﬁwmﬁﬁm%

: ifafid 4R

L3P of agwmmwﬁ%a@ﬁ TR g Aiga §
m.ﬁﬁﬁmémmwawmmw%wmaﬁmﬂmmm)

Major Financial & Accounting Irregularities (MFAI Report) may include following type of irregularities:
1. Cases involving irregular maintenance or non-maintenance of accounts which have serious implication
1. Improper utilisation of plant and machinery

[I. Deterioration in the condition of stores due to unduly long, inadequate storage

(A) (@) BT 1L &

(a) Only 1 is correct

(B) (@) Had 1 3R 11 H&l &

(b) Only I and III are correct

(C) () Had 1 3R 1 T51 §

(¢) Only 1 and II are correct

(D) (&) T 1. 11 3R 111 uE §
(d) AlL L, IT and IIT are correct

Correct Option(s): A

11 T HET & Gay 7 FERiEd aeAt § A S 3 ae B 2 & e o 8:
1. B0 3R 3(H

1. Yfasg [fe]

1L ST 3R 3

In relation to Ministry of Defence, which of the following transactions are covered under ‘Debt Heads’?
I. Loans and Advances

IL. Provident Funds

[11. Deposits and Advances

(A) (@) hadl 1
(a) T only

(B) (@) 1, 11 3R Im
(b) 1, 11 and TII

(©) (T HaA 1 3R 1
(¢) T and II only

(D) (8) Had 11 3R 111
(d) Il and III only

Correct Option(s): A

2. +aferr i Pfifad ¥ :
1?@ﬁ@ﬂg§%q—}mﬁ§%mgﬁiﬁq%ﬁ%

1. YaeT @) =P A TRyl Bl Sfa U 9 aRRId HT

111, 3501 T & ST U e, 1 T wfd i & e 3ruar iSe b FRT YHRINT Sl

w.@ﬁ%ﬁmﬁﬁﬂmmwmﬁmmwmqﬁ%

“Transfer Entries’ are used for the following:

L. To correct an error of classification in the original accounts

II. To revise classification provisionally made as a matter of convenience

ML To adjust, by debit or credit to its proper head an item outstanding under debt heads

IV. To adjust inter-departmental and other transactions which do not involve receipt or payment of cash

=)




(A) (P) D1

(a) I only

(B) (@) had 1 3R 1

(b) I and I1 only

(©) (M1, 1L, 1 3R v
(¢) L IL, IIT and IV

(D) (&) Had 1, 11, 3R 1

(d) 1, 11, and IIT only

Correct Option(s): A

13.

-1 1 -1 & W v ¥ 3R it & fil U 1Y ISt o1 Wi d §U Ue TR & 99 B

Match List -I with List-II and select the correct answer using the code given below the lists:

i)
(S T TG
5 TrrE ATE=T
#r wgoer At
o e e
ek fe
List-l

(Type of Transaction)

A Cash Voucher

B Transfer Entries
€ Railway Bills

£ MES Bills

(A)
(™

(a)

w P W H
C . - T T

®B)

) A B

= O =

(©)
m ¥

¢ A B C

E-N
rO

®)
% 7

@ A B

w O w o

L™ ] =~ g

-
(ava=T £t i)
1 ava=c ot seit 9
2 srg=c #t Avft 6
3 arg=ct Aot 1
4 syg=rcH At 2
List-1l
(Class of Voucher)
1 Class of Voucher 9
2 Class of Voucher 6
3 Class of Voucher 1
4 Class of Voucher 2

Correct Option(s): A



14 Gy o freel auT & Yaft aom & i SR e 8 T & o & ol o fere fe goft-Iu e &
fopanf-ad faa STl 82

To facilitate differentiation between the outstanding balances relating to the year of Review and those relating to previous
years, which category prefix is operated for earlier year’s balances?

(A) (P) 11
(a) 11

(B) (M) 66
(b) 66

(©) (77
(c) 77

(D) ()99
(d) 99

Correct Option(s): A

15, @ TRF E YR 112(3) F I & SR o B g el & g sirefed wel 3R &g P GTHd Hal & sk
PEICIEUICEACRIEE RG] %7

Whether re-appropriation is permissible between funds allotted for ‘Charged’ items of expenditure in terms of Article 112 (3)
of the Constitution and Voted items of expenditure.

&) @) T
(a) Yes

(B) () Tl
(b) No

(C) @) Tew Rt R PR Rl 8

(c) Depend upon the competent authority

(D) (8) IWad H A Bl Tel

(d) None of the above

Correct Option(s): A

16. U 8T Fdaes wrafery & <21 SR = SRl St 34 & AT & GHRITSA o ey U UH. SR 31, Bl 7
il ) 2 21 i, ST SFIHTT A TSR3, &) gud) il & W b3 whiel ol Uge o i o ol § R
32 g &R fegr g1 A SN & g1 3 BRATS DI o 82
T-Section of a Regional Controller’s office has lost the original copies of MROs received for adjustment of refund of

Temporary Duty advance. However, Accounts Section has already received the credit scrolls with duplicate copies of MROs
and adjusted them. What action devolves on T-Section?

(A) (@) T TRaT SFIMIT A U5 &1 hfSe BhTel I Ul He fern g, 3fct: << IHIT g1 DTg HIRATS 1G] DI oI ©

(a) No action is required by T-Section as the Accounts Section has already received the credit scroll.
(BF (v\‘q;)a@ SFTHIT R S § UTed TH. 3R, 311, 1 G} wfot & Heaf of <1 sppmT g JTaLaH IS a1 ST

(b) T-Section should carry out the necessary adjustment with reference to the duplicate copies of MROs received by Accounts
Section from bank.

(C) @1 SIS H GRS fa S SRS T8l 3

(¢) No adjustment is required.

©) (9) I H Y DIE Tol

(d) None of the above.
Correct Option(s): A
17, TRET AR (s 3 fore R Fvofl &1 & 9 o W TRBR g1 Wi faar T g

Which private sector bank has been authorized by Government of India for Government business?

~ o~ ~ o~ r oa. —~ o~




(A) (@) T30 1131, 9 [aes
(a) ICICI Bank Ltd.

(B) (@) Ufagy 3@ fiffids

(b) Axis Bank Ltd.

(C) () 3ms 2t 38, dF fafds

(c) IDBI Bank Ltd.

(D) (7)) ST H g g1
(d) All of the above

Correct Option(s): A

18. {8 yBR & 2Nl & dia gafdfFaieH srHd

Re-appropriations are permissible between “hlch t’y"pes of heads?

(A) (@) Tt =i
(a) Receipt heads

(B) (@) g Ay
(b) Expenditure heads

(©) (M) (@) 3R (@) Tl
(¢) Both (a) and (b)

(D) (9) aftfa o0 &1 Udfdid B o forg 2ty Wit &1 g febar S Tedr 3

(d) Excess receipts can be reappropriated to offset increased expenditure.

Correct Option(s): A

19, =< TRTERIE RIS U Hebed o ufaarg (=) 3 & oy e UuR 3R S odl & ey a1 eial
T & U Braferd §RI 600/~ T BT oy w711 411 3 eI bt e w9 o arfied faar s

Rs. 600/~ were incurred by a DAD office for stamp paper and legal expenses in defending a case in the Central Administrative
Tribunal (CAT). This amount will be classified as?

(A) (@) THIRd g
(a) Charged Expenditure

(B) (W) Wipd g

(b) Voted Expenditure

(©) @ fvfa Tt g gF 9% -

() Court deposit till verdict is declared

(D) (8) FAufa &t gwon gF 9 3da 2y o @ s

(d) Placed in a suspense head till verdict is declared

Correct Option(s): A

20. T G FHGTd & &0 H, TgHdl-3FaH FRfaRad o UaH 61 5 dadl 8:
I WHR gRI ARG Fdr

I1. bad U dls (b
u1. $ad g‘ﬁm fafeye af&Te aren T YUM
1v. 0 fad
As a general principle grants-in-aid can be given to?
I. A govt. recognised body
I1. A public body only
I1I. An institution having a distinct legal entity only
IV. An individual

(A) (@) Sudad A Y Big +f

(a) Any of the above

®) (@ 13RI
(b) 1 and II

=



(©) G 1L, 1M 3R 1V
(¢)II, Il and IV

(D) (9) Had 11
(d) 111 only

Correct Option(s): A

51 oo 3o o WY ST G TRPR o o, Yo 3R 3 S8l B o 1 1 4Ry, Foryeh 9 ol e
ST @9 BRaS) e o Siidl 8, I Fafeiad H & fan smem

The amount booked under Revenue, Capital and other transactions of Government including Deposits with RB, the balances of
which are not carried forward from year to year are closed to:

(A) (®) i ol

(a) Public Account

(B) (@) TRER] @l
(b) Government Account

(C) () &1 Sl

(¢) Defence Account

(D) () 4 &1 gHfehd [fY
(d) Consolidated Fund of India

Correct Option(s): A

zz.aq%ﬁ%ﬁ@ﬁf‘aﬁuﬁaaﬂﬁaﬁﬁuﬁaaa{tﬂﬂﬁqmmﬁmuﬁﬁﬁqw%ﬁwwaﬂ’ﬁ%@a’uﬁ
IS T Tl TR & U H 3pal g Y TN b U H aiffopd B A1 g SR TRl

Which authority decides whether any particular recovery in respect of Defence transaction is classifiable as revenue or as
deduction from expenditure under the rules regulating accounts of recoveries?

(A) (@) HRT & (i Ud HedarIdieis

(a) C&AG of India

(B) () HRd & g Td AgeRaradied & UM 3 & oial Heldas

(b) CGDA in consultation with C&AG of India

(C) (1) HIRd & g3 U9 FeTeraroRied & TR 3 o1 Helad

(c) CGA in consultation with C&AG

(D) (9) &1 eRaT HeTdHem & W ¥ faciy YegdR (&1 Jarg)

(d) FADS in consultation with CGDA

Correct Option(s): A

23, ﬁﬂ%ﬁﬁa@m&mﬂm@a HATHRT 7 ot SITel 8:
I HRd & A

1. HRd @1 [ iETD i

1L HIRd F] Qi ol

1v. yiasg g

V. BT 3R S

The accounts of Central Government are maintained in the following part(s):
I. Consolidated Fund of India

II. Contingency Fund of India

I1L. Public Account of India

IV. Public Fund

V. Loans and Advances

(A) (@) DA 1
(a) I only

(B) (@) 1, 11 3R I
(b) L, 1l and III

~ ~



(C) () UG HHI

(c) All of the above

(D) ()L, IV 3RV
(d)LIVandV

Correct Option(s): A

24, SHERI R TREBR Y UfrHfey S 1 el e o forg dien o1 ofafel fepait 5

What is the period of limitation for recovery by Contractors of Security Deposit from the Government?

(A) @) Ui 5 Bt andka @ 03 99
(a) 03 years from the date of deposit

(B) (@) Uy 51 3t I 9 os T

(b) 05 years from the date of deposit

(C) () AR 3afl & GHT g 9 05y

(¢) 5 years from expiry of warranty period

(D) (¥) SPHT-THIGH b 03 a4

(d) 3 years from completion of contract

Correct Option(s): A

zs.mﬁﬂmﬂa@ﬁﬁ%mﬁﬁqﬁw@@ﬁmaﬂmﬁﬁah?wa%%uﬁmmfmﬁmmﬁﬁ%és
LSk B lECIERIRITIS.

Which office is nominated as proforma Controller for DAD officers and staff posted abroad in Mission/ Embassies?

(A) (@) &1 Al A (U@ 81 ), 73 facd

(a) CDA (IDS) New Delhi

(B) (T) &I a1 A0S &1 drAiay

(b) CGDA Office

(C) () &1 oRar g s, 18 faeedt
(¢) PCDA, New Delhi

(D) (¥) &1 a1 U Rdad (UH), TR
(d) PCDA (Pension) Prayagraj

Correct Option(s): A

zs.%%ﬂwr&avﬂaﬁﬁw I, 39 da @l § P B H & g agrar wwf gr1 by sTH srféa &)
D13 vl UM 8 R e T SHHd g

All payments to a Government servant are required to be paid by payment advice for direct credit to their bank accounts. Is
there any condition in which payment in cash may be permitted?

(A) (@) BSS b HIwe] 7, TRaic e 3 faumes) & TR 3 Rt & TR gRT 4T SHifed

(a) in cases of hardship, duly approved by HoD in consultation with Head of Accounting Organisation

(B) (W) 3 o1 &1 praf-au forgw Wi & fIaRur &1 Ydbe g1 fbdl Sl 8

(b) for implementing scheme where details of payment are not to be disclosed

(©) (M) Iuda gl

(c) Both of the above

(D) (8) ST H U BT T

(d) None of the above

Correct Option(s): A

égﬁ%wmmmﬁ%aﬂzomﬁsaﬁmﬁwgﬁlww%ﬁqw&%aﬁm%&w

A Government servant has died at 5 am on the 20th of the month. How will his pay for that month be calculated?



(A) (@) T g BT 20 TRRE & 7Y o e 1) fepar Se ilfes St g Prferd- i & SR 4 gd g8 o

(a) Pay for the 20th of that month will not be taken into account as he expired before the start of official working hours

(B) () 20 TG & Yaig & U 319 & & da BT I [T Smer
(b) Half day pay for forenoon of 20th will be payable

(©) () Hg & "yuf fGaw o fou S T 180T a1 SIer
(¢) Pay will be drawn for the entire day of death

(D) (%) Heg & Ty 118 o g d o1 Mg faar sy

(d) Pay will be drawn for the entire month of his death

Correct Option(s): A

28, AFTAF & ARG B T0FT B4 & Ty H Fafafad 7 8 o 1 oo 1o ¢

% [3Red U O exyid usargy & ey | dRRG, AT U 9 & UIdd TR TS HRA D1
%aww?mm,@mmwm| ' i

T, o ARG B RUIRECE 3ffdrd , & A # 98 dRid
L A

. Gl i | i F fou, % & 3l 2R H R
%W&ﬁa@@ ) HeT & WIaH & g, 36 R iTaH T FagT (Uve whid) 9 WHged

Which of the following statements regarding reckoning the date of payment is incorrect:

1. Date of payment in respect of a digitally signed advice will be date of uploading on payment portal of the accredited bank or
date mentioned in advice, whichever is later

1L In the case of payment by cheque not bearing superscription for payment on a specific date, the date on which the cover
containing the cheque is posted to the payee

11I. For payments in foreign exchange to a payee in a foreign country, the date of remittance by the bank and entry of equivalent
amount in the payment scroll

(A) (F) DA
(a) Only 1

(B) (@) dHad I
(b) Only I

(C) (1) gt welt

(c) All of the above

(D) () Suderd H A BIS T

(d) None of the above

Correct Option(s): A

29, JARTYR & 1T wufiie TUY HIH e 2

Who is primarily responsible for an overcharge?

(A) () (T8R0T Td TRl SHASRT

(a) Drawing and Disbursing Officer

(B) (@) da- ol e RY

(b) Pay Accounts Officer

(C) Ty 0T 3R
(c) Controlling Officer

(D) (9) T&m fa<ia uiftrardt

(d) Competent Financial Authority

Correct Option(s): A




30. Hﬁgﬁmﬁﬁmwm:w&wﬁaﬁﬁ 3fyye =7el Bt | PefaRa A 8 o Ul v R 11 3
ﬁ;m% 29 9d ! R faa ol bl -

| 4f TR FHAR 7 U AT 1 U1 B3 A e & Ui o5deR fearg

11, 172, SRR R A fafiad Tiesvr & farT 47Ia 1 U g
le.ﬁmmﬂwm@wimmﬁmﬁ% AR Fryfiva ardia & R 91 ST oA
3(2@] I IYH B H B g@

1V, ORI GuRIE] & HIAd

Recovery from a Government servant will not normally exceed one-third of pay. Which of the following is not a condition in
which this stipulation may be relaxed:

1. If the Government servant has acted contrary to orders in receiving an excess payment

I1. If government servant has received payment without due justification

1L If Government servant has received an advance for a specific purpose and failed to utilise the same or refund it within the
prescribed date

IV. In a case of criminal conviction

(A) (@) dad 1 3R 1
(a) Only 1 and I1

(B) (@) hdad Il
(b) Only II

(©) () bad IV
(c) Only IV

(D) (9) ST g+

(d) All of the above

Correct Option(s): A

31 for st RAHP/AHTe & 91c & QUR 3 & T B9 Savard] 82

Who is responsible for preparation of budget of a Department / Ministry?

(A) () HATTa/ QU BT Ubigpd fawiid IaedR

(a) Integrated Financial Adviser of the Ministry/Department

(B) (@) HAT/ AU &1 e ol g

(b) Chief Controller of Accounts of the Ministry/ Department

(C) () HATRT/fAHIT BT TSP T HAGDR

(c) Statistical Adviser of the Ministry /Department

(D) (5 HATETa/faHT BT eI (S972)
(d) Director (Budget) of the Ministry /Department

Correct Option(s): A

3. i U4 FRTQRETOR 16 g1 @) TS araraden & ey B Fufifad 718 o 9 Y T8 ©:

1. g fafisl UOR & oan! @) SRaTaien & edl Siew & T FHI S BT Upid @18

11, 28 210 U Y YR SRaT R eraraie & Bieg rafard] & RIFA! TR S gRI I o, IRl 3R 3
HITA! 2R SISl B URIEM & HIEAH Y [l STl 8
m.ﬁm%ﬁmﬁ%mﬁﬁf%mmwﬁumﬁﬁﬁ@,gﬁﬁmmmwﬁd’fﬁqﬂ&ﬂ%
T ¥ 1301 STl &

Which of the following statements is/are correct with regard to the audit done by the C&AG?

I. It is in the nature of sample tests with varying quantum of audit for different types of transactions

11 It is done centrally at the location of the field offices of the IA&AD through examination of accounts, vouchers and other
papers and documents received by them

11 It is done locally at the site of the offices of the departments of Government through examination of their accounts, books.
papers and other documents

(A) (@) 1, 1 3R 1m
(a) L. 11 and 11

(B) (@) dad 1 3R 11
(b) I and 1T only

- =



(C) (T a1 3R 111
(c) I and III only

(D) (9) Had 11 3R

(d) I and III only

Correct Option(s): A

33, 3N AR HXd THY JraTasien | axr S fd:
1. 91 4 & fort qHfTd WiteR §

1. 1 S fohU o b1 ATa ol Ul

1L &7 348 & 23 3R Wha Ryl & for ~amaifed o
IV & e T g1 o4d & (e Widid UaH &l g 4t

While conducting Propriety Audit, audit will see:

I. Whether there is proper authority for expenditure

[I. Whether there was necessity for expenditure

[IL. Whether the rate and scale of expenditure were justified in the circumstances
IV. Whether sanction for expenditure was accorded by authority competent to do so

(A) (@) Had 1 3R 1

(a) I and 11 only

(B) (F) Had 1 3R 1

(b) I and III only

(C) (M 1L, 11 3R 111
(¢) L [l and 1I

(D) (9) Iudad g+t

(d) All of the above

Correct Option(s): A

34 WHR A9 & &3 1 sl uRom &H S I g2

L 11 o

Ry

IR

In the field of Government accounting, what are the end products?
1. The monthly accounts

I1. The quarterly accounts
111. The annual accounts

(A) (@) DI 1
(a)1 only

(®) @) 1, 11 3R 1m
(b) L. II and III

(C) () $ad 1 3R 11

(¢) I and 11T only

(D) (&) dad
(d) III only

Correct Option(s): A

35. faurig e IRl & 3i¢fid-
1. TTe/ AU & o ol Sraiaal gIRT AT b S g

n.%ﬁmmﬁmwwwwmﬁmﬁmm%

Under the departmentalized accounting set up-
L payments are made by the PAO of the Ministry/Department
11. cheque drawing powers may be vested on certain DDOs

(A) (@) bacT 1 TG §
{a) Only I is correct

- -~




(B) (@) had 1 Wl &
(b) Only II is correct

(©) (M 1R 1A T g

(c) Both I and I are correct

(D) (8) 1 3R 11 &1 Tefd §

(d) Both I and II are incorrect

Correct Option(s): A

36. oRd TTfteal & g Fafaiaa 7 9 & @ e g i g2
1. T& 34T Ud fadm - 2080

I1. Yl H-1 - 2076

L. = §7 - 0077

Tv. IR T - 0078

Which of the following is a Major Head for Revenue Receipts?

1. Defence Research & Development - 2080

IL. Army — 2076

I1I. Navy — 0077

IV. Air Force - 0078

(A) (@) D I
(a) Only I1

(B) (@) Hadl Il
(b) Only 111

(€)@ 1 AR U GHI
(c)Both I & II

(D) (9) T Wit

(d) All of the above

Correct Option(s): A

37, Prfafd o el 38 & A < & o Garsil & forg g e el gl 82

Which of the following Minor Heads does NOT have commen number for all Services?

(A) (@) 101 - 39 TF 41
(a) 101 — Pay & Allowances

(B) (@) 105 - URag

(b) 105 — Transportation

(C) (M) 110 - HER
(¢) 110 — Stores

(D) (¥) 103 — Held dcl
(d) 103 — Auxiliary Forces

Correct Option(s): A

38, T&fT T Uaher] & Seiy 7 oY Uel H 1 il ol W g-

In respect of Defence Services Estimates, number of Major heads on expenditure side are-

(A) (@) IR
(a) Four

(B) (@) Ui
(b) Five

(©) (N &
(c) Six

(D) () Hid
(d) Seven




Correct Option(s): A

%gm,wﬁ?mwmmqﬁm%ﬁﬂﬁawﬁﬁumﬁmméaiﬂﬁﬁaﬁiﬁaaﬁ@ﬁa@gmﬂ@

Which of the following pairs is NOT correct as per the six tier classification of transactions defined in pamphlet of RDR
Heads?

(A) (F) IU-TEA Y : 2 3fd (WE-Tha)
(a) Sub-Major Head : 2 digits (Sub-Function)

B) (@) g 2: 3 3id (T
(b) Minor Head : 3 digits (Programme)

(C) (1) T 2 4 3fp (Ha)
(c) Major Head : 4 digits (Function)

(D) (9) IU-TY: 2 3 (Te-TDH)
(d) Sub-Head : 2 digits (Sub-Scheme)

Correct Option(s): A

40.qﬁqaﬂﬁ@ﬁwﬁwmﬁwmﬁﬁﬁ,mﬁq&né@uﬂﬁm(ﬁmmﬂ)ﬁﬁ
IR faa T a7 i i o Teley H 367 SR W FEd (G0 HH) IR T T STl
(T Sfae ddTHeH @ IR v Rid g

If a DAD individual was transferred from CDA. Patna to PCDA(SC), Pune. responding debits by PCDA(SC) on account of
outstanding HBA balance would appear on side of the punching medium.

(A) (P) 3R+
(a) R+

(B) () MR-
(b) R-

(€) (N i+
(c) C+

(D) (9) Hl-
(d) C-

Correct Option(s): A

1T T i e & s ey ANl d Sle g oiNdg_ dlomdd dXale

Under the six tier classification of transactions, minor head consists of digits and denote S

(A) (@) 3 3P, ThIH

(a) 3 digits. scheme

(B) () 2 3, YU

(b) 2 digits, programme

(C) (M) 3 3l U

(¢) 3 digits, programme

(D) (9) 2 3{ch, Fd-THIH
(d) 2 digits. sub-scheme

Correct Option(s): A

42.Wé@$amﬂmaﬁﬁmwmwm$&mﬁmm%

Receipt head under Capital Account is operated under the following Major Head:

(A) () 2046
(a) 2046

(B) (&) 4000
(b) 4000




(C) (7T) 8000
(c) 8000

(D) (4) 0020
(d) 0020

Correct Option(s): A

43. ww%ﬁ?ﬁu afaT AT IS ST @ ore A Welfdra uel 1w sriuTeres wiftetial g,
Tyc:, HAfaiad B 1 ST 91fey

Questions relating to the interpretation of the orders of the Govt. of India involving financial or accounts considerations, in the
first instance, be referred by the local executive authorities to

(A) (@) Taftid a1 gerey

(a) Service Headquarters concerned

(B) (@) T¢I TG1 HETEaD

(b) CGDA

() (M b Ud Hglaala®
(c) C&AG

(D) (9) Yaifiret 3&fm oRaT we e A o Feas
(d) PCDA/CDA concerned

Correct Option(s): A

44, ARG RIS g1 gy My, & wdaau arfferor d _ cidgid §

As prescribed by the Controller General of Accounts, the latest classification of heads contain digits

(A) (@) 11 3fd
(a) 11 digits

(B) (@) 9 3i®h
(b) 9 digits

(C) () 12 3fh
(c) 12 digits

(D) (9) 15 3[&
(d) 15 digits

Correct Option(s): A

45. 3401, XA 2R ST [GURT & <1< 81 1) <iFeAl &f Fuer 3¢ s Fufafad 3 4 fvw Sura 3 fbar simg:

Transactions between Defence. Railways and Posts will be settled among themselves by which of the following means:

(A) (&) U Roid e, W0, TR I Y10 (TSAGH) SR} B

(a) Issue of advice to RBI, CAS, Nagpur

(B) () TH. 3.3, & H1eH F vl
(b) Remittance through MRO

(C) (M) Vb3 GHIYH

(¢) Cash settlement

(D) (5 VIS HATG & G 1 A & Ui Uole Hared/ faHm gR1 oy @ e gfd

(d) Direct booking of expenditure by agent Ministry/Department against the Demand for Grants of the functional Ministry.

Correct Option(s): A

A6, BT 11 AU U 3G T & TR (22 Jo 3R Ll T a8 B fordes] Jard i Aareil gr1 fifa
faHRT D1 UGH DI 15 82

Which department will bear the transit pay and allowances of an officer whose services are lent by the Defence Services to
the civil department?



(A) (P) T HAH
(a) Ministry of Defence

(B) (@) &/ a1 Y @ (SHIR)
(b) PCDA(O)

(C) () SYR T arefl faHT
(c) The borrowing department

(D) () 7l "6

(d) The parent organisation

Correct Option(s): A

4v.m@mﬁmmaﬁw-ma€ﬁw$mﬁ&m%

Extension of period of validity of a Government sanction already issued requires:

G Y 3R gl ATawS gl, T8 fadiu gegeR &1 YgHld Ifgd T M
(A)(ﬁgﬂm%m% E| @ oI, 381 UPIpd

(a) a separate Government sanction to be issued with the approval of the competent authority and concurrence of the Integrated
Finance, where necessary

(B) () 3T Y TG Wiepfa Sl oy S ) Sirarzachel -8l 8

(b) no separate Government sanction is required

(C) () &f1 TRal HgIFRiAaS B 3FHIG

(c) approval of CGDA
(D) m)maz&ﬂa@uwﬁﬂaﬁﬁaﬂa@ﬁﬁ%aﬁﬂanﬁ

(d) concurrence of PCDA/CDA concerned

Correct Option(s): A

45, 300 &1 Pufifad mel 7 Q SF @ He Te RIF U U ki 2 98 82

Which of the following items of expenditure is NOT a locally controlled head?

(A) (@) Fuiv-d oy

(a) Works expenditure

(B) (@) URag &

(b) Transportation expenditure

(C) (1) IR gl & HIfHp! & da- ud +d

(c) Pay and allowances of the personnel of the Armed Forces

(D) (9) HeRI Bl &g

(d) Stores purchases

Correct Option(s): A

49. T @I U 3 & VI TR 741 9 I T S &) 011 & el H i # 8 o a1 a2

Which of the following is NOT correct with regard to request for a fresh cheque in lieu of a lost cheque?

(A) (@) TF AU 3@ P\ U1 B d1d Ul & gRT U effgfed sy 1 Fgifaa fesan Sar smfara gim

(a) An Indemnity Bond will be required to be executed by the party requesting for a fresh cheque

(B) (W) &ffd ST TR ARKAAD SHTETT GRT SEAER fadl SIe
(b) The Indemnity Bond will be signed by the actual payee

(C) () &Yf YT W SriuTas wieal gR1 Wed Ua faar S

(c) The Indemnity Bond will be witnessed by the executive authorities

(D) () TR FAHFT IR YR 33 & Trel 7 aifdyff duw sraza g

(d) The Indemnity Bond will be necessary in the case of Government Departments and Scheduled Banks

Correct Option(s): A




50, 519 U IHRT FHAN 7 0 Fgr syt & w0 3 vfaeyfa (Gaaiieh) wad @1 8. 981 39 Sifad 9710 3@ & fag
forra ARl | vifew S e & fog Pffa safy FafaRad ae gl

When a Government servant has furnished security in the form of a fidelity bond, the period prescribed for the Government
servant to pay the premia to keep it alive on the due dates is until:

(A) (P) TP §RI BRI B9 & &: HIg & 9%

(a) six months after he vacates his office

(B) (T) IG& gRI B B8 & Udb I8 o 9%

(b) one vear after he vacates his office

(C) (1) T8 B 7Y BT T YR AT SIR] TGl §

() he continues to hold that assignment

D) (9) 3YS GRI ST BIeH & i 718 & 914

(d) three months after he vacates his office

Correct Option(s): A

51. TH.3R. 3. &1 vy ufa &) rafer ufd & =9 § 3@l Sirdl 82

Which copy of MRO is retained as office copy?

(A) (@) g4I ufaat

(a) All copies

(B) (@) Ha ufd
(b) Original copy

(¢ (T et wfd

(¢) Triplicate copy

() () fgda ufa

{(d) Duplicate copy
Correct Option(s): A

52. YeR! & IRafd® 499 & ey § fgfafes 0 9 &9 W ugl 71 82

Which of the following is NOT correct with regard to physical verification of stores?

(A) (@) T Toru Telfid Brfuree USRI youHd: STRerl 8d &

(a) Executive authorities concerned are primarily responsible for it

g)@wa@wﬂmwwﬁmmmwmmw:mmmm

(b) Both LAO as well as Executives authorities are primarily responsible for it

(C) () TS &1 T faHTT gRT TGRS YHT W1l § df 39 faUT & U R gRI1 3 fobar o Ul &

(c) It may be carried out by an officer of DAD whenever such verification is considered necessary by that Department

(D) () 3 39 4 @Rd ¥9 Y g o aifgu oid ag Mad gian g

(d) It should be carried out promptly as it falls due

Correct Option(s): A



53. [HgRIRaGd # U 14 T HYUA Hel B2

1. TG e & The! 1 AT afel ST Fifed difd AT @) g et & e | st IR wiiter) Bl Wighd
I B4 ) AGADdl Y adl Sl Heb
I'I.WWW@@@%%,WWM'%W@aruamamm\%uahwm@rﬁu‘fﬂ@ﬁa,
faH 2Sardl d &l Sl 91fey

111, Tep el SfTaegdd] & STeR TR o Hrell ¥ 3 o g 1 7T ©, 901 39 1 o1 fa=id s a1 S dife f
RS T2 &) 1 ¥ ad §U S oY bR 1 8 § a5 aRad H il g3 ¢

Which of the following is a correct statement? . . _ .
I Purchase order should not be split up to avoid the necessity for obtaining the sanction of higher authority required with

reference to the total amount of the orders. N .
II. When stores are purchased from contractors, the system of open competitive tender should be adopted and the purchase in

all condition should be made from the lowest tenderer. . ‘
111, In cases in which higher rates had been accepted on grounds of urgency, special attention should be paid to see that the
expectation in consideration of which higher price was accepted is actually fulfilled.

(A) (@) Pad 1 3R 1

(a) Only I and I

(B) () $ad 11 3R 1
(b) Only II and 11

(C) () Had 1 AR 1
(c¢) Only I and TII

(D) (8) ST it

(d) All of the above

Correct Option(s): A

F mgﬁw@ﬁwﬁ?ﬁ%ﬁé S a2 Ta I ol 2 gl G
. 3y YR TR ISP g,
%@%mmmamﬁmmwﬁ e e

1. o gifvdl o) Rerwt v iR vl & 2l 93 Wd 1o & oIy HRA WSR &1 Wpld H1a=ad &, 81 Sifd
3feTad @I 764 (idd T 9 fosar & aifgy
Ixx.mﬁ‘s'rﬁﬂ’fa:‘ta%éiﬁﬁmaﬁﬁmﬂaﬁaﬁﬁmmﬁmﬁmw%mﬁwﬁmumﬁéQl3@
St & a8 R o s 6 g & SRuna A IR fbd oI @t g1 g

Which of the statement is correct?

1. Court of Enquiry may not be convened, to investigate all losses which, under existing rules and regulations, require the
sanction of the Government of India to write off.

1. Court of Enquiry should invariably be convened, to investigate all losses which, under existing rules and regulations,
require the sanction of the Government of India to write off.

IIL. All losses. whether of public money or of stores, shall be subjected to a preliminary investigation by the officer in whose
charge they were, to fix the cause of the loss and amount involved.

(A) (&) Had 1 3R 11

(a) Only 1 and 111

(B) (@) &Hdd 11 3R 11
(b) Only II and I1I

(C) (N &Haa 1 3R I

(¢)Onlyland II

(D) (8) Il H A IS !

(d) None of the above

Correct Option(s): A

55. U &l U SHITLP, , R fE 3HeR & 5 31 9l 6, o) 3! fafde wfafAfe,
TeIft] dg Udb HGUD g, DI DI Kai A [T~
A CORBACK, ooisamvvninssas behalf of a minor, but if a contractor dies, his legal representative, even though a minor, ............

the terms of the contract

(A) (@) GRI U1 3G! 3R a1 o1 Hebdl 8, ST g
(a) Be made by or on, is bound by

~ =~ -~ ~ o~ = g -



(B) (W) g1 41 IUD! 3R Y gl 141 Sl Yl g, 94T g

(b) Cannot be made by or on, is bound by

(C) (M) BRI TT 3! 3R ¥ a1 oI el §, ST 7181 S

(c) Be made by or on, is not bound by

(D) (3) GRT U1 SHB! 3R U 7] b1 o1 G 8, der =] g

(d) Cannot be made by or on, is not bound by

Correct Option(s): A

s6. FafRa At # A fbq HHe H SErc 38 9 B W A8 & 3/d & Uge Rpar o gl 3

1. 99 % U TR IO ST & ia-a7 § RFEiaRa ga s
PRI SIS GIEL S S

In which of the following cases, the salary due to date may be paid before the end of the month?
1. When an individual is transferred to the payment area of another audit officer

Il. When an individual quits Government service

[II. When there is a medical emergency in the family of the individual

(A) (B) B 11
(a) II only

(B) (9) $a 11 3N 11

(b) IT and IIT only

(©) (T dad 1 3R 10

(¢) Tand II only

(D) (N 1, 11, 3R I
(d) I, IL, and 11

Correct Option(s): A

57. 19 A3 9 1 <t Wigall & erazged g1t & 6 9= wuwn Fafefad wu o fafga far smam.
11. ‘1,, ﬁ;)v, £39

1L TR, dr3°, S

When three copies of a voucher are needed, they shall be respectively marked:

L *original’, ‘duplicate’, ‘triplicate’

I. 12,33 <3»

II]. ‘X’, I.Y!: LZ!

(A) (P) S 11 3R 11

(a) IT and III only

(B) (@) F9d1 3R 11

(b) I'and 1T only

(©) (D 1L, 11 3R 1
(c) T, T and 11T

(D) (4) bad |

(d) I only

Correct Option(s): A

53.a@ﬁm&%ﬁ%ﬁuﬁﬁaﬁ@aﬁﬁﬁamaﬁ%mﬁmaﬁsﬁﬁwﬁmm%

Which of the following is correct in respect of Air Force Officers, when detached for duty with Army formation?

(A) (@) HqUT AT 09 (@ et i) &1 YA YY1 &1 AR fopar e

(a) The whole of the travelling expenses (including daily allowances) will be payable from the Army funds

m)@)mwmmWﬁ@mmwﬁWﬁm@mW

(b) Only travelling expenses (excluding daily allowances) will be payable from the Army funds



(C)@Wﬂmﬁﬁauﬁ@a)mwa@mﬁﬁmﬁmW

(¢) The whole of the travelling expenses (including daily allowances) will be payable form the Air Force funds

(D) (a)mwmmﬂﬁmmwmmaﬂﬁﬁﬁmw

(d) Only the travelling expenses (excluding daily allowances) will be payable from the Air Forces funds

Correct Option(s): A

59.%%%&%@&@@%%@@%@%@%%%@3&3@@%@@
Wﬁﬁﬁﬁﬁﬁﬁ@%ﬂ@ﬁﬁﬂ%ﬁﬁ%%ﬁﬁ?ﬂ%@ﬁﬁﬂﬁ%ﬁmmwm
e vy Ry T e
h.@mmwﬁnwm%mmwmmm

111, 93 farRrs TSR sryar Ueid forads RT3 U1 Ui fopat 7
v, R AR 3R i (i @ LRI RRidT T fbar T gl

Pending receipt of the LPC or certified copy thereof, the audit officer may authorise pay being disbursed and provisionally
admitted, on furnishing of a certificate by the individual concerned stating:

1. the rates of pay and allowances to which he is entitled

11 date up to and for which he was last paid

11I. particular authority or agency by which he was so paid

IV. the fund deductions and the amount of advance(s), if any, which may have been made

(A) (P) Had 1 R 11
(a) I and I only

(B) (@) Fad 1, 11 3R 11
(b) L. II and 111 only

() (M HIT L, 1 R 1V
(c) I, Il and IV only

(D) () 1, 11, T R TV
(d) L 1L, 1T and IV

Correct Option(s): A

60, Frfefiad 1 A frgat URT 1 A § UepiRrd el foba Sl 82

Which of the following are not published in Part Il Orders?

(a) (@) Fafere 9ot & uiadd

(a) Change in medical category

(B) (T) ¥l (TRIeHT)

(b) Enrolment

() (1) R B gfYe ot e, Forg Reararch & ufafd srar ST TR auied el ©

(c) Move of units in India not involving entry or departure from concessional area

) (9 AfRad wited Mg

(d) Extra regimental employment

Correct Option(s): A

61 FrufeiRaa uRiRRE 3 S e uRRR 7 i Jae THTores &1 S &3 &1 SaRsdl Tl ©:

Under which of the following circumstances, L.P.C. need not be issued:

(A) (&) U SHH U HHER BT YL RG] H R

(a) Transfer of a commissioned officer to pension establishment

(B) (@) U Fafafera &1 3 wiruHT | ufaf3gfad

(b) Deputation of a civilian to another establishment




fdd R Y BT H RIFETARY, foie A H 0 &1 3@XG1d 9 ol &

(¢) Transfer of an individual from one establishment to another. in whose case the accounts are maintained on the running
Ledger System of Pay Accounting

(D) () 4. H YRATG Iedrdit] &) RI1uT Y Uefeg U ifdsd

(d) A sailor attached to the establishment of the High Commission for India in the U.K.

Correct Option(s): A

62. FEIRET fafterad gl @ 9 @19 3 UHR &I Rgd &R 3 efed da-ie! uiienr R srcaned gl & ufd
Sfae g1 o1 ST Tl &:
Which of the following legitimate charges cannot be debited against Technical Training and Instructional Equipment Grant
related to Corps of Signals:

(A) (@) UTR&0T & U gaiaeiiie, safdedd SR doh-1! SUER & GiiG

(a) Purchase of electronic, electrical and technical equipment for training

(B) (W) TH-ID] S-all, deb-iidb] Gaieb!, e el 31fe B Wl 3R Fregursdt

(b) Purchase and binding of technical journals, technical books, reference books etc.

(©) %ﬁﬁﬁmﬁfaﬂ/ yfdaiall gRI &d & YR TR fhT 77U R JuLh o YA&f0T, RITTH] 3R §91 ARE Gaef
I & QR BT

(¢) To meet the expenditure involved in the survey, installation and heavy repairs of Signal Equipment by
manufacturers/suppliers on contract basis

(D) (9) I Furar SR/ 3w &1 @i S dh.E.21. gR1 wited 181 &

(d) Purchase of signal stores/ training equipment not authorized on PET

Correct Option(s): A

63. U4 ST Ut Ueb IJUTET & § O Feifd Uobiopd faiiy SemedR & wmrel I [y wu & gy o fomn s

CIRYICE R R fA@ear N
- W;ﬂaﬁ g ﬂﬁaﬁr@amaﬁm Y FrRrET = S R
II. 1 ]ai‘aﬂ

III.W%W(WS@WWW

Post Contract Management is a neglected area and must be undertaken carefully in consultation with the respective IFA. In
particular the following aspects need to be watched closely:-

I. Extension of Delivery Period

II. LC Extension

III. Waiver of Liquidated Damages

(A) (P) a1 3R 11
(a) Only I and ITI

(B) (8) dad 11 3R m

(b) Only 1T and 111

(©) (T U 1, 11 and 111
(c) AlLL 1T and III

(D) (%) Suad H Y BT !

(d) None of the above

Correct Option(s): A

64. FEfcRad Y1 4 @ $F 91 HYF T9d o

Which of the following statement is incorrect:

(A) (@) fa<ig Sid-rgat 3ie g eIl &) PRy YRe & U § e 781 fbar smon

(a) Officers in finacial difficulties will not be appointed as Imprest Holders
(B)%g)mwmﬁwa:me 3RyaT wiHed Y okar &1 T &3 &t o Ag

(b) The Field Imprest Holder will not normally be permitted to operate any other public or regimental fund account.



(©) (1) U 3T YR Bl Tg a@qﬁ{awﬁ%ﬁsaﬁwww@mwﬂﬁwﬁmaﬂﬁ

(¢) An Imprest Holder is permissible to operate more than one Field Imprest simultaneously

(D) (mmmwma:ﬁaawaﬁsﬁmﬁaﬁrﬂaﬁqﬁm

(d) Imprest Holders will ordinarily be military officers of rank not below that of Captain

Correct Option(s): A

65_WW%WRﬂW%WHWWWWﬁWWWWWWWW
%ﬁmmfarﬁWmmw%,aﬁ@miaﬂ%ﬁﬂmmmm$mmmmm%laanfa
S Frafiad A G U G TR gXIeR 3 &1 3igafd e < 718 8

A junior commissioned officer duly appointed by competent authority to act in place of an officer and granted acting
aliowance for that purpose may be authorized to sign certain documents. However, he is not permitted to sign one of the
document mentioned below.

(A) (@) BT fad

(a) Contingent bills

(B) () §4 HfSe AR

(b) Military credit notes
(C) @) R AN

(¢) Transfer voucher

(D) () B e

(d) Work orders

Correct Option(s): A

66. FERiRad B ¥ @14 T AT M & &l g2
I.W%W_WW
11 381 ARaidH UuTel & 3iefH TGl @ FueH

11 9 S WA T Bl SR BT AR TR Bl e (T el T faumT SeRad

1v. oigl +t ooaerd g1, gt Fdeafad (T B U B & oY ! 3R et & G B BB Y X8 o Bl
TR Bl

Which of the following are responsibilities of the Accounts Section?

1. Maintenance of Debt Head Register

IL. Settlement of transaction under Defence Proforma Accounting Procedure

11L. Preparation and submission of Budget Estimates for which DAD is responsible

IV. Examination of defence expenditure with a view to exploring ways and means of achieving economy, where practicable

(A) (@) B 1 3R 11
(a) I and IT only

(B) (@) dad 11 AR m
(b) 11 and III only

(C) (M) Had 1, 11 3R m

() I, 1 and III only

(D) () L, IL, 1 3R v
(d) L, I, Il and IV

Correct Option(s): A




Fafatad T S 1 e Mt akar 8 RuerT faar Sidig?
fi%&n{afr.ua{@i%ﬂﬁwnﬁﬁﬁﬁmm
1L ST 3R PRI T & arsi & (Y &1 efarul
1L ma%ﬁ‘rﬁuﬁuaﬁaﬁaqﬁ%ﬁiaééﬁr@r%uﬁmu@m@w%
w.iﬂ%ﬁa@ﬁﬁmﬂaﬁm@éﬁﬁﬁmé@ﬁsﬂaﬂm@m@m%’

Which of the following transactions are settled through Defence Proforma Account?

1. Remittance into Banks and Treasuries on MRO

II. Remittance into Defence Services from Banks and Treasuries

1L, Transactions originating in Defence Books which are adjustable against the balances of Railways

IV. Transactions originating in the Books of Railways and due for final adjustment in the Defence Accounts

(A) (@) Pad 1 3R 1
(a) 1 and II only

(B) (@) $ad m AR v

(b) IIT and IV only

(©) (M1, IL, I 3R 1V
(c) 1, 11, 1IT and TV

(D) (&) Had L, I 3R 1V
(d) I, IIT and TV only

Correct Option(s): A

65, TTHITTE & T H SRR &) e B & RY 3% &) w0d 71 & e
%i%mwﬁaﬁ@mﬁ.mﬁ ATAIS HIA S U &l GgTad o A1l Bl wiftidd fear ST

1. 3T GHE, 21 Yy g ARGRTOn AR e Hrget @ .en . tide R Uified B4
m.uﬁﬁﬁnmm@mﬂ%mﬁaﬂémaﬁgﬁ@mﬁﬁmﬁmﬁ%awm
3BT o) R witieRed & &4 § Ufidrd el a1 ol Yebel §

In order to enable the bank to credit the amount in accounts of the beneficiaries:

I. Two AAOs should be authorised to upload SBI-CMP files on Bank’s portal

II. Thereafter, two SAOs /AOs will authorise the files on the CMP portal

L. AAO cannot be authorised as second authoriser if no SAO/AO is available to be authorised as second payment authoriser

(A) (@) HIA 1 3R 11
(a) I and II only

(B) (@) L 11 3R 11l
(b) 1, 11 and I1I

(C) () Had1
(c) I only

(D) (9) Had 1 AR m
(d) T and 1II only

Correct Option(s): A

69. Fufdifad syfeal # @ &1 W sgt fafdy srum &1 syfedl &1 Wi g1 82

Which of the following is NOT part of duties of Miscellaneous section?

(A) (@) ufdrafur gie § Wi fbu e uARi &1 daEradian
(a) Audit of charges paid from Training Grant

(®) (@) AFFE Bt 2mgfd & g HRd Gdaon o1 G

(b) Payment to the Survey of India for supply of maps

(C) () Uf R FaT SEIGRT R b YT

(c) Payment to S&S Imprest Holders

(D) () &1 TR ZRT i U 77T Al IR 31 3R GuRAd Wiy & Ade 3 Sfdel o1 JomdisT

(d) Adjustment of debits on account of postage and air mail fee on the bags dispatched by Defence Headquarters

Correct Option(s): A



-0, PrufEd e ¥ @ 5 W HER ST ST gRI HIAT B S 82

Which of the following bills/claims are dealt with in Stores Contract Section?

(A) (F) T TY. B UGH B T a4 & og &rd

(a) Claims for liveries to MTS
(B) (W) GTGHEPR ¥Tll o g ard

(b) Claims for funerals allowance

(©) (M) BT RFA 3rar e BT Yaredl & dde A

(¢) Claims in respect of supplies made or services rendered

(D) (¥) eeTpIA fad

(d) Telephone bills

Correct Option(s): A

-1, P 3 @ 58 ufyfa o & =0 3 WeR 81 a1 o Yl 52

Which of the following cannot be accepted as security deposit?

(A) (@) T3S, &1 o Wig

(a) Deposit receipt of SBI

(B) (@) 3ATETd & @Id & b

(b) Account Payee cheque
(C) () TP Fad FHIUA

(c) National Savings Certificate

(D) (9) STHR &dd §b TP
(d) Post Office Saving Bank Pass Book

Correct Option(s): A

7%@@mﬁmﬂmmg%ﬁﬁa§mmmmz

hmﬁwﬁm&[gmg Sk
IHﬁaq%ﬁ%@m?mﬂEﬁ%ﬁug%aﬁu@ﬁ%%uWaﬁmw%ﬁ

RCCALER| ] e “«RIET g iR st § 91 39

While checking the sale accounts in Store Audit Section, it will be seen that:

1. the sale account has been signed by the competent officer

IL. the name of purchaser has been given

1. the authority for sale and the method of disposal of stores have been shown

IV. when the accepted bid as shown in the sale account falls below the “reserve price” shown in the auction catalogue,
sanction of the competent authority exists for the same

(A) (@) DA 1
(a) I only

(B) (@) Had 1 AR 11

(b) I and IT only

(C) ANy Had 1, 1 3R 1
(c) L IT and IIT only

(D) (F) L I, 11 3R IV
(d) L, 11, 11l and IV

Correct Option(s): A



;ﬁ.ﬁ%ﬁ?ﬁ&ﬁ@@wmé}imﬁwﬁnaiﬁrqm?fmmmwﬁaﬁf@aﬁﬁmﬁ@ﬂ

T IR e R gRT viieEderR
L, o NS [ T & g

m.m%%@wﬁagﬁmmﬁﬂ, zgmaﬂ afy & faffdy fpar man g

Iv. 308 B ghar B 90% I W b1 131 8

Which of the following points are to be seen while dealing with requisitions for advance in respect of LTC to Defence
Civilians?

1. The requisition has been countersigned by the Controlling Officer

II. The place of visit has been specified

1L In case of LTC for self, the period of leave has been specified

IV. Advance is restricted to 90% of approximate entitlement

(A) (@) Haa 1 AR T

(a) I and 1l only

(B) (@) Had 1, 11 3R I
(b) I, I and I only

(C) (M) &ad 1 AR I
(¢) 1 and I11 only

(D) () L, 11111 AR TV
(d) L, IL 11 and TV

Correct Option(s): A

74. w@maﬁﬁﬁaﬂs‘wmwﬁmu@ﬁaﬁa@u@@ﬁfﬁaa@mwNmﬁaﬁW%

Claim relating to Air passage of Army personnel and air freight of stores Ex-India are dealt with by-

(A) (P) &1 G UYH FEad (SIBHIR), g0
(a) PCDA (O). Pune

(B) (W) &1 1 WY e, deR
(b) PCDA, Bangalore

(C) () &7 o1 U i, =18 faeett
(¢) PCDA, New Delhi

(D) () &1 oRaT feaa (1), 13

(d) CDA (Army), Meerut

Correct Option(s): A

75 UfpaT Ud TUIE & HHSTS @ I Wi gaid &) YRR B & forg ol ud withan Sug Ry et SR
e forar ST SMifa | e o AT g it Sraiadl 3 s Sr-aE ueH feu e g | fafte e d
g Brdael e oa Rdad! @) ueH fbu i ol & fafRy &=l & Jdu # SF w1 gl U 4 Ad Wil 82

The Systems _and Procedures group is required to review and revise procedure and system to ensure their functioning at a high
level of efficiency. Different areas of work have been assigned to various offices by the CGDA. Which is correctly matched
regarding specific areas of work assigned to various PCDAs/CDAs?

(A) () YT R YYH TS &.F.), Q0 ----- TS.04, 3R
(a) PCDA (SC), Pune -- MES and Accounts

(B) (W) &1 oar A (@), TRS --- RIFH aRardlan 3R 4sR
(b) CDA (Army), Meerut --Local Audit and Store

(C) () &1 AT U FIdF® (4..), TSNTG --- da Ud 4 (Rifafer)
(c) PCDA(WC), Chandigarh -- Pay and Allowances(Civilians)

(D) (9) &1 AT UL TS (3.6.), 5] --- Y TS
(d) PCDA(NC), Jammu -- Border Roads

Correct Option(s): A



76. &b HaT | fad 2 oeT 7R fad =l wemar & kg # o Sl 2

In which currency are foreign transactions and foreign aid brought into account?

(A) (P) Halftya fad=i g o

(a) In respective foreign currency

(B) (W) fac2i gz § GuRkad (@-aoi) ¥ & 918 YR $uaf 7

(b) In Indian Rupees, after conversion from foreign currency

(C) () fe=h He1 O JuRadH (@-avi) A & 918 9,09 Sler o

(c) In US Dollars, after conversion from foreign currency

(D) (9) fad3 go1 ¥ YuRad (@-aviq) o & 91¢ et g ude o

(d) In British Pounds, after conversion from foreign currency

Correct Option(s): A

7. mmﬁ;ﬁmﬁmmmgﬁaﬁf@amﬁmﬁamww
I
L T T iy

1. g R0 BRI GRI 34T FAgad i+ braf-ag= woidl & qreng 3
Transfer of cash benefits from Ministries/Departments should be done:

L directly to beneficiaries from Ministries/ Departments

II. through State Treasury Account

III. through any Implementing Agency as appointed by Centre/ State Governments

(A) (P) Dad 1 3R 11

(a) I and II only

(B) (@) &ad 11 3R 11

(b) II and 111 only

(©) (ML 1 3R 1
(¢) L 11 and 11T

(D) (9) A1

(d) I only

Correct Option(s): A

78. mﬁmwﬁg%ﬁmﬁﬁﬁ@ﬁﬁgﬁamﬁwmﬁ%ﬁmﬁﬁwmm&nﬂm@wﬁnﬁm

The period accepted by the Central and State Governments for the re-audit of past transactions involving errors in
classification is: )

(A) (@) 3 9

(a) 3 years

(B) (@) 5 99
(b) 5 years

(€)M 139
(c) 1 year

(D) () 2 a§

(d) 2 years

Correct Option(s): A



against one another?

1. Through book adjustment

1. Such claims will not be preferred
IIL. Through contingent bills

(A) (@) Had 1
(a) I only

(B) (@) Had 11
(b) IT only

() () a1
(e) 1T only

(D) (9) 1 3R 11 &l
(d) Both I and II

Correct Option(s): A

so.qﬁaﬁwﬁﬁqu&mm@mﬂ@)ﬁaﬁ@ﬁﬁwwﬂ%wwﬂm%

Public Financial Management System(PFMS) is an integrated Financial Management System of

(A) (F) T8 Tl HRTHdAD

(a) CGDA

(B) () oIl AgI-dA®

(b) CGA

(c) () A Ud Heea{ied
(c) C&AG

(D) (9) X& HATad
(d) Ministry of Railways

Correct Option(s): A

faf? WHRI § &1 ) ’
81 m%)imgm%@mﬁ$@w&mﬁmmwwﬁmmm

Which agency acts as a general clearing house for the adjustment of all transactions between different State Governments?

(A) (@) UG KT S, Grg

(a) SBI, Mumbai

(B) (T) HReT Ferd 9, rarg

(b) RBI, Mumbai

(€) (M) HRAG &Ko ¥, H<rg Ffararerd 2, 75 et
(c) SBI, Central Secretariat Branch, New Delhi

(D) (1) MRy Feoid S, ARTYR &1 dh-aid Tl SFHTT

(d) Central Accounts Section of the RBI, Nagpur

Correct Option(s): A

g2, 3T R O Tafird SRR kgl & Wt H e 11er < 82

How many Major Heads are there in Part — I of Government Accounts pertaining to Contingency Fund?

(A) (@) U
(a) One




(B) (@) I
(b) Three

(C) @H U
(¢) Five

(D) () &
(d) Six

Correct Option(s): A

o3 FoRif@d § Q@ & 9 HUF Ugl 82
I.ﬁ?-a{ﬁmmasmqwﬁmﬂmwﬁa@aﬁi‘@ﬂqm%m,aﬁmﬁuﬁf 3R IUHH B SIFHY,
WWW%W%WWmeGﬁﬁWwN
ll.qmwﬁmwmm@$m$mwmmwmmﬁm
ux.wmmmmamﬁmﬁémﬂﬁmﬁﬁammﬁa@ﬁwﬂ

Which of the following statements is/are correct?

1. The Defence Services shall not be required to pay rent for buildings of the Central Civil Departments other than Commercial
Departments and Undertakings occupied by the Defence Services for non-residential purposes

IL. The Defence Services shall not be required to pay for the use of the Government / Civil aerodromes

IIL. The Civil Aviation Department shall be charged for the use of aerodromes of the IAF by the Civil aircrafts

(A) (@) Dad I
(a) [ only

(B) (@) Had 1 AR T
(b) I and II only

(C) @M 1, 11 SR
(¢) L, 11 and ITI

(D) () Had 1 3R 11
(d) IT and III only

Correct Option(s): A

T WOR FHAR & @l
wﬁﬁwmw@%m wg@maﬁaﬁéﬁéﬁzmwwéﬁﬁwzﬁﬁﬁmmw

%wmﬁﬁwWwﬁﬁaﬁiﬁﬁwa@W@W&wﬁméﬁﬁ@ﬁmmm 3UfErd gl
11 516 TRHR 34 AT TRl & o Forg deley & R a1 SI1e § o SU Yal B AL AT i e H e iy

gl‘h;m:;'elling expenses of a govt. servant may be debited to a major/minor etc. head different from that to which his pay is
ebite

I in case where a Govt. servant is required to travel on duty connected with an outside body or fund

I when Govt. considers it necessary to show separately the cost of a special service in connection with which the tour is
undertaken

(A) (@) Hac 1 81 8

(a) Only I is correct

(B) (&) I 11 §el ©
(b) Only II is correct

(€) (M) 1 3R 1 <l el §

(c) Both I and II are correct

(D) () 1 3R 11 &1 el 8

(d) Both I and II are incorrect

Correct Option(s): A

-~ P T . - .~ —~— e = ~ =




ss.mcma@rwawmmmwmﬁmwa

| ST eRal o v wauH funii wiitieTRal gRT i S

11 - TieTE o bt 3 TFg L o g IR b ST 3R B & S YXPR S ATaHIaD 3T 3fel-
G JUBH! I Taierd 181 6ld ©

Which of the following statement(s) is correct in r/o Pro forma accounts

1. The pro forma accounts shall be maintained by the Departmental authorities themselves.

1L The Pro forma accounts are also sometimes required to be prepared for transactions which do not relate to commercial or
quasi-commercial undertakings of Government.

(A) (@) Had 1
(a) Only |

(B) (@) Had I
(b) Only II

(©) (M 1 AR 1Al

(c) Both I and 11

(D) (F) I A DI TSl

(d) None of the above

Correct Option(s): A

s6. EURIfEd § @ g o7 &) 4Rd 31 Gafdd R ox w i febar smeme
e ngiammﬁ&fai“% CRREG!

1. HRd

11, Hated e & arardiR Bl o da U

Which of the following expenditure shall be charged on the Consolidated Fund of India?
I The emoluments and allowances of the President of India

1. The Pension payable to the Comptroller and Auditor General of India

1IL. Salaries and allowances payable to the Judges of the Supreme Court

(A) (P) DA I
(a) I only

(B) (@) Fad 1 3R I
(b) 1 and II only

(C) (T) Had 1 AR I
(c) I and 1T only

(D) () L, 11 3R 1T
(d) L, 1l and 11

Correct Option(s): A

3t & gau B FEfaigd sy 48 FUT TG B

l?ﬁ%Wi&ﬁW%%W ?@m%%
u.mzmﬁ?wméﬁ?mﬁ%%mﬁ%

RZHIEAGRINY Wf) gferdl ) Y | 3 A Bl 3T

SRR R 35t & T 7 I e ST i et

1v. SgTiffed drel m%mﬂwmwm@wm@)mﬁmﬁmmmmﬁ%m
S| i o ta ! Sifae §R I feban T ot

Which of the following statements are correct with regard to “Advances™?

1. Account Section is responsible for watching adjustment of advances

I1. Audit Section is responsible for watching adjustments of advances

1IL All recoveries effected in adjustment of advances will be credited in the compilations to the same heads as the advances
when originally made were debited

IV. In case of interest bearing advances, the amount of interest accrued up to the date an individual was last paid should also
be noted on the Last Pay Certificate

(A) (@) Had 1 3R 1

(a) I and IIT only

(B) (@) Had 11 3R 1
(b) 11 and 11T only




(C) (M L 11, I 3R IV
(¢) L IL III and IV

(D) () HaA 11, I SR IV
(d) 11, TIT and IV only

Correct Option(s): A

55, Frafefad § A @ < Jan TS, i a1 B! & U T8 1l 2

Which of the following Service/ Organisation is NOT covered under Defence Services Estimates?

(A) (@) 3.HI.TA.TW.
(a) ECHS

(B) (@) T ARy T/ Ta-gferd el Adsie & & SuhH

(b) Defence Ordnance Factories /Seven newly created Defence PSUs

(C) (T) T&T 3T Ud fabrd Ha-
(¢) DRDO

(D) (9) YR JeRED
(d) Indian Coast Guard

Correct Option(s): A

so. Frafead B A S W) 3rar @1 ARl e e 3 et 82

Which of the following Demands for Grant pertains to Defence Pensions?

(A) (@) 3FIEH U1 19
(a) Grant No. 19

(B) (F) 3IaH H&1 20
(b) Grant No. 20

(C) (T 3T T 21
(c¢) Grant No. 21

(D) (8 3far T 22

(d) Grant No. 22

Correct Option(s): A

90, Y 2022-23 %Wﬁz&nm@mmmwﬁﬁaﬁ@aﬂﬁ%m%muﬁmﬁﬁw
T B ey o991 [owl 62

In the total Defence Revenue (Net) Expenditure (BE) for 2022-23, which of the following component has the largest
percentage share of Revenue?

(A) (@) HSR 3R ITEHR
(a) Stores & Equipment

(B) (@) 3 Td
(b) Pay & Allowances

(C) (T) URde

(¢) Transportation

(D) () TR Fmfv-Hr, Haat AR S i @1 wavad

(d) Revenue Works, Maintenance of Buildings, Installation etc

Correct Option(s): A

o1. Frufafad 7 & & & Harad (Rfden & 3ieiH <bg o1 RIgH-aad & 3icria el 3imar g2

Which of the following does NOT come under ‘Establishment Expenditure of the Centre’ under MoD (Civil)?
(A) (P) 8T HUCT IS

(a) Defence Estates Organisation




(B) (@) W1 TS fabTy dIS Hfdarad

(b) Border Road Development Board Secretariat

(C) () TUTAT YT Hgled

(c) Director General Quality Assurance

(D) (¥) T HaT 2B
(d) Armed Forces Tribunal

Correct Option(s): A

> fafder gl & Uy # Paffea T4 &1 ?
I?HEWWW@E%H b L

u.%mé(mm)waaaw%mﬂ@mwa@%mwémﬁmaﬂmﬁm%
HI.WWﬁ?amﬁﬁm%aﬁamémmaﬁWwwﬁwmm%

Which of the following is/are correct with regard to Appropriation Accounts?

I. It is the final set of the Budget

I1. It reflects expenditure against each head of account booked as per printed compilation up to March (Final)
IIL The reason for variations between final allotment and actual expenditure are critically explained

(A) () a1
(a) I only

(B) (T) HaA 1 3R I

(b) I and Il only

() (M) Had 1 3R 11
(¢) I and III only

(D) (F) L 11 AR 11
(d) L Il and TII

Correct Option(s): A

o3, g @) Frafaad S & @ &= W Afvw ffae e | = o €2

Which of the following categories of Pensioners are NOT covered in Civil Pension?

(A) (@) Xe1 o1 faHTT
(a) DAD

(B) (@) U1 45H W6
(b) BRO

(C) @T) ST U8 HIHR wrge 3Whel
(c) JAKLI

(D) (9) YR, TR 3R Frg8T o e Rfafera

(d) Defence Civilians of Army, Navy & Air Force

Correct Option(s): A

o4, 38T RET WU i (A1) & ey Fafafad 3 3 o @ wgl 8

Which of the following is correct in respect of PCDA(Pension)?

(A)(a’i)mﬁlmaaeﬁ%ﬁﬁwﬁmaﬁuﬁaﬁmm%

(a) Defence Pension budget is submitted directly to MoD

(B) (@) Rifére e aore ! T W 1.2, S U e S g

(b) Civil Pension budget is submitted directly to CPAO

(©) m)ﬁﬁaﬁmwﬁw%@ngﬁﬂ%aﬁmémmmﬁmqmaﬁm@?rﬁ‘ﬁmsrm%

(c) Civil Pension budget is submitted to CPAO though CGDA office

(D) (9) I&nﬂaﬂaaaaﬂmé@naﬁﬁﬁaimamwn@é@naﬁdﬁﬁm%mm%
(d) Defence Pension budget is submitted to CGA through CGDA




Correct Option(s): A

o5, Tl o] faum & ey Agifed 3 9 & 9 gl 3R URaR St & e e e 2y g2

Which of the following is the Major Head applicable for the pensioner and family pensioners in respect of DAD?

(A) (@) 2071
(a) 2071

(B) (@) 2076
(b) 2076

(C) () 2077
(c) 2077

(D) (9) 2078
(d) 2078

Correct Option(s): A

o6, Fraal 12 1 RO <A & g SHaRTETa G 3 X @) H¥aTs & BRI g8 g JHaT Fral i g
0 H gifigd foar ST 8

For determining the disability pensions death or disability arising as a result of enemy action in international war is
categorised as:

(A) (@) 4uit St

(a) Category D

(B) (@) 4ofl

(b) Category C

I NIE]

(c) Category E
(D) () gufr s

(d) Category B

Correct Option(s): A

o7. Freraaar tem § Fafafaa Fika @

Disability pension consists of

(A) (F) BHad [ALaddl dd

(a) Disability element only

(B) (@) $ad a1 dd

{b) Service element only

(C) (M) Had IR-Ya1 I

(c) Non-service element only

(D) (9) YT ded AR (eI dl ded

(d) Service element and disability element

Correct Option(s): A

98, AR AAFIH, 1961 B TR FAFRIET 7Y Y I & wfefard el fepar S g2

As per the Income Tax Act, 1961, which of the following is NOT included in “Salary™?

(A) (P) TG

(a) Wages

(B) (@) 34ald
(b) Gratuity

(C) (1) URaR 4T+
(c) Family Pension

-~



(D) (&) 9
(d) Pension

Correct Option(s): A

99. T8 qrufi ¥ T T B & T SR o T U TR ST 1 el & a1 o (U, SgRYT Ud Hiaavul
m@ﬁsﬁ.aﬁ.)mmﬁﬁmﬂ@ﬁwmm&qwme-rﬁartfﬂépf%?

For claiming deduction of interest on borrowed capital for computation of Income from House Property. which of the
following details / evidences is not mandatory for the DDO to obtain from the employee?

(A) (@) ST SHET I b1 a1 T
(a) Interest payable or paid

(B) () FBUIaldl &l -AH
(b) Name of the lender

(C) () T T Yd
(c) Address of the lender

(D) (§) FBUETd 1 o @388
(d) TIN of the lender

Correct Option(s): A

mo.aaaﬂ‘a‘ﬁm@mmWﬁﬁ?ﬁﬁﬂ'ﬁaﬁwmﬂ%mﬁ%maﬁmﬁaﬂwﬁaﬁ@a
& MYR W AN

L 26U0Y

1. Helal P arel RIS ST HHTOIG

The deductee from whose income tax has been deducted at source would be entitled to get credit of the amount so deducted on
the basis of

I. Form 26AS

11. TDS certificate issued by the deductor

(A) () DHad 1

(a) Only I

(B) (@) had I
(b) Only II

(© @M Faa AR
(¢)Onlyland I

(D) () Iudad H A IS To!

(d) None of the above

Correct Option(s): A
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1. Select the word closest in meaning to the given word:
Propriety

(A) (a) Appropriateness
(B) (b) Property

(€) (c) Ownership

(D) (d) Procedure

Correct Option(s): A

2. Select the opposite of the given word:

Profligate

(A) (a) Frugal

(B) (b) Obstinate

(C) (¢) Decorum

(D) (d) Decent

Correct Option(s): A

3. Correct the part written in italics in the following sentences:
The SAS exam papers are distributed benween all candidates in each centre.
(A) (a) for all candidates

(B) (b) to candidates

(C) (c) among all candidates

(D) (d) of all candidates

Correct Option(s): A

4. The following sentence is broken into five parts. The first part is given in the question. Re-arrange the remaining four parts
from the options given as P,Q,R and S:

Annual accounts of the government of India

P. shall be signed by the Controller General of Accounts

Q. showing head-wise annual receipts and disbursements
R. and statement of balances

S. and countersigned by the Secretary Expenditure
The proper order is :-

(A) (a) QRPS

(B) (b) QSRP

(C) (c) QPRS

(D) (d) SPQR

Correct Option(s): A

5. ldentify error, if any, in the part of sentence written in italics and chose the correct option:
The main point fo the address of the CGDA was honesty and integrity.

(A) (a) from the address



(B) (b) regarding the address

(C) (c) of the address

(D) (d) no correction required

Correct Option(s): A

6. Choose the best option for the following idiom:
Hobson’s choice

(A) (a) excellent choice

(B) (b) poor choice

(C) (c) to accept or leave the offer

(D) (d) strong choice

Correct Option(s): A

7. To talk through one’s hat' means
(A) (a) To talk with authority
(B) (b) To talk with clarity
(C) (¢) To talk senseless
(D) (d) To talk with disrespect
Correct Option(s): A
8. Select the word opposite in meaning to the given word:
DEPLORABLE
(A) (a) Creditable
(B) (b) Memorable
(C) (¢) Laudable
(D) (d) Joyful
Correct Option(s): A
9. Choose the correct word out of the given alternatives to fill in the blanks.
Books were lying the curtain.
(A) (a) after
(B) (b) under
(C) (c) beyond
(D) (d) behind
Correct Option(s): A
10. Pick out the most effective word from the given words to fill in the blank to make the sentence meaningfully complete:
Nothing probably has more contributed to the poverty and backwardness of India than the want of good roads.
(A) (a) accelerate
(B) (b) alleviate

(C) (¢) circumvent




(D) (d) perpetuate

Correct Option(s): A

11. Four alternatives are given for the underlined idiom shown in the sentence. Choose the alternative which best expresses
the meaning of the idiom:
So far as the hazards of pollution are concerned, the traffic policemen bear the brunt.

(A) (a) have to run the risk
(B) (b) face the consequences
(C) (c) are exposed to danger
(D) (d) are immune

Correct Option(s): A

12. Passage
Read the passage given below and answer the questions provided at the end of the passage. The most suitable option among
the four options may be selected as the most appropriate answer for each question:
Abraham Lincoln served as the 16th President of the United States, yet he never went to college. In fact, Lincoln had nearly no
formal education whatsoever, attending schools for less than a year throughout his childhood. Yet this should not be construed
to mean that Lincoln was ignorant or unlearned; on the contrary, he was one of the most well-read leaders of the time. The fact
is that Abraham Lincoln educated himself by studying books of religion, philosophy, and literature, and he continued his
voracious reading throughout his life. A lack of public school education did not prevent Lincoln from becoming a great leader.
He led the United States through four years of civil war, which threatened to divide the nation into two separate countries. He
was a powerful opponent of slavery, and it was largely through his leadership that slavery was abolished in this country.
Lincoln’s determination to educate himself through diligent reading also led to his reputation as a great orator—and even
today his speeches are quoted and studied worldwide. He serves as an example of a great leader—and a great reader. His
love of books and good literature enabled Abe Lincoln to rise to world renown.

What is the main idea of this passage?

(A) (a) Lincoln was the 16th President of the United States.
(B) (b) Lincoln demonstrated the value of reading.

(C) (¢) Lincoln was a Republican.

(D) (d) Lincoln freed the slaves.

Correct Option(s): A

13. Passage
Read the passage given below and answer the questions provided at the end of the passage. The most suitable option among
the four options may be selected as the most appropriate answer for each question:
Abraham Lincoln served as the 16th President of the United States, yet he never went to college. In fact, Lincoln had nearly no
formal education whatsoever, attending schools for less than a year throughout his childhood. Yet this should not be construed
to mean that Lincoln was ignorant or unlearned; on the contrary, he was one of the most well-read leaders of the time. The fact
is that Abraham Lincoln educated himself by studying books of religion, philosophy, and literature, and he continued his
voracious reading throughout his life. A lack of public school education did not prevent Lincoln from becoming a great leader.
He led the United States through four years of civil war, which threatened to divide the nation into two separate countries. He
was a powerful opponent of slavery, and it was largely through his leadership that slavery was abolished in this country.
Lincoln’s determination to educate himself through diligent reading also led to his reputation as a great orator—and even
today his speeches are quoted and studied worldwide. He serves as an example of a great leader—and a great reader. His
love of books and good literature enabled Abe Lincoln to rise to world renown.

According to the above passage, what lesson can be learned from the life of Abraham Lincoln?

(A) (a) Education is not important.
(B) (b) All books are worth reading.

(C) (c) Good reading habits can help a person do great things.



(D) (d) Politicians are always good role models.
Correct Option(s): A
14. Pick out from the words, given below the sentence, the word which would complete the sentence correctly and
meaningfully.
The mining activity comes under the of the Forest (conservation) Act and we must that the law is followed
strictly.
(A) (a) limits, stipulates
(B) (b) purview, ensure
(C) (c) control, insist
(D) (d) course, observe
Correct Option(s): A
15. Find the two statements that together prove the verbal reasoning of the statement ‘Sandy is a country music singer’:
I. Sandy sings in a band.
1. Sandy likes the country music the best.
1L Difficult music such as country and classical require a strong training.
IV. Sandy’s band plays country song.
V. Sandy has attended singing lessons for many years.
(A)(a)l & 1III
B G IO&V
O )M&V
D) (D IT&IV
Correct Option(s): A
16. Choose the correct word out of the given alternatives to fill in the blanks.
None of them ..... died ..... cholera.
(A) (a) has / from
(B) (b) has / of
(C) (c) have / from
(D) (d) have / of

Correct Option(s): A

1.

'Small cog in a large wheel' means

(A) (a) Smaller people are powerless against powerful people.
(B) (b) Focus should be on small things rather than large things.
(C) (¢) A man who has a relatively smaller role in a 1arger picture.
(D) (d) Smaller things matter along with larger things.

Correct Option(s): A



18. Arrange the parts of sentences marked as P, Q. R, S in order:
1 enclose
(P) and the postage
(Q) a postal order
(R) the price of the books
(S) which will cover
(A) (a) PRSQ
(B) (b) QPRS
(C) () QRSP
(D) (d) QSRP
Correct Option(s): A
19. First named by President Dwight D Eisenhower in his farewell address, the Military Industrial Complex (MIC) was
originally tailored to develop and produce military technologies equal to the existential threat perceived to be posed by the

Soviet Union. An informal but robust relationship between the military and industry, the MIC pursued and won a qualitative,
technological arms race but exacted a high price in waste, fraud and abuse. In this context, MICs are:

(A) (a) Ethically neutral

(B) (b) Economically gainful

(C) (e) A thing of the past

(D) (d) Highlights the negative impacts of arms race

Correct Option(s): A

20. Whenever we are confronted with any audit references or problems from any field office, we have different model for
solving them. Which one of the following would be best interpreted as an example of critical thinking?

(A) (a) Refer the same to different offices, solicit their replies and forward the most appropriate one to the originating office.
(B) (b) Refer the same to ministry for guidance and directions.

(C) (c) Examine the same with reference to rules and regulations and solicit opinion from field offices, if required, for
arriving at the decision.

(D) (d) Submit the same to Competent Authority for guidance, directions and further orders.

Correct Option(s): A

21. What is the best example of collaborative learning in an office set up?
(A) (a) Boss comes to the conference room, gives a lecture and everybody learns.

(B) (b) AAO submits the file for further orders, AO submits the file for further orders and other officers follow the suit
upwards for orders. CDA then gives the orders.

(C) (¢) The officer cadre examines the problem at hand with reference to extant rules, past treatment of similar cases and
makes clear recommendations to CDA.

(D) (d) Go to boss, try to decipher his thought process and then put up the file as per his wishes.

Correct Option(s): A



22. In the question below has two statements followed by four conclusions I, II, Il and IV. You have to accept the given
statements to be true, even if they appear to be at variance with commonly known facts. Read all the conclusions and then
decide which of the given conclusions logically follows from the two statements.

Statement I: Only chartered accountants are serious

Statement I1: Kanika is serious.

I. No one except a chartered accountant can be serious.

1I. All chartered accountants may be serious.

I1I. Kanika is a chartered accountant.

IV. Kanika may be a chartered accountant.

(A) (a) Ounly II follows
(B) (b) Only II follows
(C) (¢) I and 111 follow
(D) (d) 1, 1l and IV follow.,

Correct Option(s): A

23. Choose the correct option:

(A) (a) The people in my office are smarter than other offices.

(B) (b) The people in my office are smarter than those in other offices.
(C) (¢) The people in my offices are smarter than other offices.

(D) (d) The people in my office are smart than those in other offices.
Correct Option(s): A

24. Choose the right meaning for the expression among the given choices:
'Be on the backburner'

(A) (a) A plan that nobody is dealing with at present but which has not been forgotten
(B) (b) Try to fit different solutions to a problem

(C) (c) Make barbecuing a way of life

(D) (d) To burn something

Correct Option(s): A

25. Fill in the blanks with appropriate verbs:

I'm ___ our family vacation in Europe.

(A) (a) looking back on

(B) (b) looking forward toward

(C) () looking forward to

(D) (d) locking forward at

Correct Option(s): A

26. Choose the synonyms of the given word:

"Nostalgic'

(A) (a) Practical

(B) (b) Realistic

(C) (c) Sentimental

(D) (D) Pragmatic



Correct Option(s): A

27. Choose the option which gives correct spelling of the word:
(A) (a) Cariage

(B) (b) Carrage

(C) (¢) Carraige

(D) (d) Carriage

Correct Option(s): A

28.

Select the option which gives a coherent arrangement of words/phrases for a meaningful sentence:

Mary / not/ it was / lost the / who / lamb
a b c d = f

(A) (a) adfbce

(B) (b) acdefb

(C) (c) bfade

(D) (d) cbaedf

Correct Option(s): A

29. You are violently against established beliefs, revered traditions. cherished customs — such, you say, stand in the way of
reform and progress and are always based on superstition and irrationality. Religion, family, marriage, ethics — you weren’t
there when these started and you are not going to conform simply because most unthinking people do. Which of the following
describes you best:

(A) (a) Chauvinist

(B) (b) Monomaniac

(C) (¢) Ieonoclast

(D) (d) Martinet

Correct Option(s): A

30. When a doctor describes a patient ambulatory., it means that patient is:
(A) (a) Sleepy

(B) (b) Unable to fall asleep

(C) (c) Incoherent

(D) (d) Able to walk and move

Correct Option(s): A

31. If someone has acrophobia, he/she has a fear of:
(A) (a) Enclosed spaces

(B) (b) Open spaces

(C) (c) Height




(D) (d) Darkness

Correct Option(s): A

32. Fill in the blanks with one of the options given below:
forced to do anything. He acted of his own free will.

(A) (a) In no way was he

(B) (b) In no way has he

(C) (¢) No way he was

(D) (d) In any way he was

Correct Option(s): A

33. Which of the following is correct:

(A) (a) Your parents were wise for give you a very good education

(B) (b) Your parents were wise to have give you a very good education
(C) (¢) Your parents were wise to give you a very good education

(D) (d) Your parents were wise to given you a very good education

Correct Option(s): A

34. Choose the correct antonym of the word ‘Kith”:
(A) (a) Strangers

(B) (b) Outfit

(C) (c) Relative

(D) (d) Spouse

Correct Option(s): A

35. What are two meanings of the word ‘Brook’?
(A) (a) Tolerate; a small stream

(B) (b) Inspire; a reservoir

(C) (¢) Thwart; thunder

(D) (d) Hide; smitk

Correct Option(s): A
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Q.1.

Paper-Ill (Descriptive)

frerferfarg RodTs 1 v " o o we agfe ofvds gemg)

Write a precis of the following report. Suggest a suitable title.

o 2017 ¥ Frerat ¥ e F 21 AT T @ deT # Afeeiear i uF At
ST T R weg orrel 0T ueh wegh &1 o il ¥ st sreqfa § 3 ae
21 Yaifa far B g i @ o age et & TET o e A A
Froriores S SATETQT 1 awaT ST <@ 21 g st FEweTT § § w47 wEEAT
s e St Tadr Tt 21 g e et ¥ ge F ST 398 & v F o
FerEt T, W7 G €S, gy RfAedT efiw e dqHd ud A wwed #
TR e afsRat ¥ wed § AU Sy, aragd AIeieeRdr i siasiaah @A
T 7T FAT )

whigd Ay /e SR T e TaT ST gady STy A g g & forg B
AT AT AT T ITReT FIAUTET AT ARRAT F FUL CF A0 T FAT A
7| AT, F ETSATHE, HCTATHF AT FEGAT Tl F FrO0T THIFd [=A6q T8
Sorreft 3 T FATe ¥ 9 auedATd Wl ¢, S weer 9 A o FAfaAt H agad
T TEl gl

it 7 Ferterea At i ag=r fi:

1. werw farfier srferaTRat 3 forg wohga =i aemg worreft &1 wa st sie 3wt
JUITET F & § ITAsY FHLT,

2. 7g giAtEr et B gearat a7 FTEETs F2 § /A1) F7 e F1 B a7 T8 8

3. faforgaryet srferartd & weferg F1= 7 sroma g Rt #1 == &0 § ang F#24
# Frgar # gfg FT;

4. ot a9 F1 g & ufrea BT qerg # ardF o, ST aaae q99 7
oy 7 ft. @A T QAT FEA ST SR AT 3 AT 9% FTLATS FOT ah
fifora 21 asre-fwior § gfrar &, @ SFaryEys & d99 §, whga @9
TATEHTT T TEATRIAT TH THIHL0T T A 2l

qreafeiaT &t SraTaeg! & forT U arg % €9 § -EEiHd F gae § g 7 et
g few:

1, E-rfvemae &t sffard AT 3w o1 F T F FUT ag a1 @A § quw A"
STy, ST ad|T # 7000 & A &, v vhipa @Ay garg FAL TAT FA A
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AT T G FE F oy E-ETF G T OF AGEE g9 F ®T H AT G A= BT S
AT ;

2. WA qTEAAT ‘ATFeqHAT il TP F =207 T%F ST 5 o0 ThiFd aradt
T ATA-ATST TOTAT (STEUTUHATTATH) FT ITANT FT ol g ¥ TH TUUH &L aF
farearfa fraT s a=ar 21

qfafa ¥ gore & B atvare =H T # SOET § I g arer ST ATHT
ot T ST FAHAT 2, T 2 (1) BrEAT HT AT HAAT AT TF THOT TAFS(AH A2qb TL
IR G AT, (i) ATRIT e THEA A derghrarer, fSHs wereasy a4
e fay yrfeemiat % form aufia vfiga By aemeant &1 aara #=27 qa4l
ZTd § FHT ATLIAT

afafa & S-edata erwar 1 fEwfag w7 & gt oot F are & o gz o) 299
- Srus 9207 (EAS Stage) @ F&aTe, =T i qAwiia 7 Friee, =i Tue fE&fre
.., RATE SE gl F w9 A UHTHATAUE (IMMOLS) S Iwersy - i
TEETHT T ITANT gieRtora 971 FeEead:, atafa 't f=r gt # ow, e
TagT gurrterat & vy foar Rt gagar F, uE g9-grey S-EE g wewd FEEg
LT FT gATT =47

i AT TeTg TOTelt T ggE F o gae § GiAi T w1 6 v G 9w
guret # e fBr s it sraeTsar § art 38 whid At gerg wrdwerdt
fory seaTar & SAT9H SAIL F " S e 7 fEaw, AfAeee, e sat s sifaw
FTATE S $2 & § g wiqeas’ o #4-[or & gafea o §9d ga1 & 979 UF
fRroter wraelsr SoTefY a9 Weh| Z& YOITet T sfers STeT &= & aryy fAwa & s 9%ar g
o7 gt ff a9 ¥ forn Gearfia atvedaw F w1y SieT 97 9941 g1 v &g
HATEHTI GTT STET FT ATETH-TETH FLAT T TH ST wh Hgea Qo] [ [redT a1 ahal gl
afafa 7 vfiga B aerg yorret & Feferfd Fromarer si w5t f rg=rm £ 8
1. e "=mew F Sfgsre-ad F Squ Thigd AT qAqgard  foed, TRAsEr
qeTerd, aore AT, =59 sfiv s Taoq, &= fEHm & o Te-aedy gargar w1
TETART, TRErg Rt U IEarsi #T sqare, -6 grtaat arfs /g aeg wiw AeAr
g & wetaa Bt ggqet 1 6 3 &,

2. 7g FteraTia % wearal & @etear aa Sia 98t g, Sa7 6 g g9t § grav g,

3. THT FIE HeAqTTa =gaedT 7at § forad whisa fAxia gargsr Fafaq s o Foi
o i R F oA 2 quT ST smy i Tr IS Ud qRI ST, aeerd a9t
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=T WIS NI HE T il STl <F Sal 2l

4, FrdTgha # foaae g1 A1 aféwa vah afEaa § g, Sw G sryer gt qur
AT FaTet # g, Fgh a9 fF T qEErery (I, A {7 argEar) ¥ 74 v
o= HaTeFIT 3T UHFa @g qargH a7 &7 & Hd F:dJ g,

5. ot #wm whiga A<y aargear o A9 g & uhiga AT aqrgart &
f= A sdroarir e 927 8, o Feor s & avard argert # =rrear fie-
forar gt 31 emafer % forw agav ged & WTH FIA ST qee Fel g UA. e
(3rATTe Tee)/UA . ATE Y, (arseTadl § FqE) wal, omE.A. IUERT] (FTEAUY UF qireaTT)
F 9w @2 F a1y gl g @ AU STERL AT WS A /YA & U I g9
HITTF ¢,

6. TIT TAAT H HATHT qe &l Uhigd [awig TATgHI, HaT AHIL AT A9-Fghi &
T yq@ yeEuT geAEE G gaad SeaH/aEE Iiev Feal & ggdn F
YT qTSTHT FATT ST Tha &, ST o7 SATLuTE 7 e yare w4,

7. whiFa i werg FrET F QU T de AT AT F 9T A AH FA g AAAEA
T Fom A< aryAt, saayy =R, &Y g wwe ¥ gwar v G w1 e
UHFd A< aATEHhl &l AqUerT AT Fit TGy T F AGTd FAT F (o0
TEAAT & fashia w6 saeaar gl

8. ATATH FIHF H&dT, T Faa HedT § a7 Tuferg T 92 A, Thrpa fEa<ia qamg
FOTTt § UF agd aET FHT g

afufd 7 whra =T gorg ot § Seqma Sy w1 ShT=1iE §7 98T F0 3
ITH FLA T AFLIFAT T T AT T80 Awtorfed game 7o

1. GEITTT T F2AT, ATCOTTSAl, AATAF, TFATD] TAT TATHAF qearasii (qiwe HidT
qfgd), dqsaT qauT AT F TF GrgRs I §, ST @97 @t difgs it w7 g2rdr g
AT T 79 F ITCET e SATaTH-aT T UH eI T siafiigd (e 2;

2. sm3eye fAeger ¥7g gid § sat fFerysmar srfamtora: siafifga T grar g1 Fea=t #1
HTOA 3T ST 99T & , A F GETE &, faheq 39T SATEAT F3A & forg sfafatga s
AELIHFAT BT gl ETE AT FT FISHLT HLA ¢ A Tg IAFATT Tgd F44 6 (o0
At ITYTH 8, i Feaiared s IqF FF F gHAA F fow Sgitrw =,
HEATHIAT, T FagEar i 0T F4dT 2

3. TAHTH TUITAT Wehisha =17 918 TOrTelt & 97 g |41 qega: q=T wEal, 97t
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e T, TR, it A sgRe, v R aerg REw-gitas e gt
Tt § gea FEtE Srgie 31 gaeht of e & wefverT g ST st s e ehaT 2

4. Tty %y ¥ foro sfarf® ofmar &7 =@ ygw &e, 9 Raare 7o s
FruTerat @ A gemewTd 1 aftafed F i sraerar 21 Fam-gE A
Frafia =9 & srerd= FEAT U 2

5. FEINTT T FT T A o Chga Feiy aeng axertert F At 37-He
(FF-=T) FT UhEd T gargdR St § @4l =iy F O 90 Ty ST g
2l

it grer B o geret o S=t aees § A TS o

During the Controllers’ Conference in 2017, a presentation was made by a
committee of IDAS officers on the IFA system. The Committee in its presentation
highlighted the fact that the IFA system was fast emerging as the most crucial
and challenging assignment of Defence Accounts Department. It is the youngest
of all the functions and yet most challenging. It calls for a new skill set, a matured
mind-set and intuitive understanding of the context of delegated financial powers
to the armed forces, Border Roads, Ordnance Factories and DRDO to improve

and sustain defence preparedness.

The IFA system was created to facilitate defence expenditure proposals and was
not meant to be a control mechanism over the powers of the executive. However,
due to certain organisational, structural and functional issues there have been
some problems in the functioning of the IFA system due to which it is

experiencing stress and challenges.
The Committee identified the following challenges:

1. Making the IFA system accessible to the CFA’s in a meaningful and fruitful

manner;

2. Ensuring that adherence to rules was not an impediment in the processing of

proposals;

3. Lack of specialised procurement related knowledge and to enhance the ability
to judiciously apply the rules;
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4. Meaningful integration of the IFA in the process of decision making, which is
currently limited to vetting the PPP document and processing of individual
procurement cases. IFA involvement in budget making is key to this integration,

especially regarding liability management.

Regarding e-concurrence as a tool for transparency and accountability, the

Committee gave following suggestions:

1. As part of the mandated policy of e-governance and in order to meet the
challenge of providing IFA cover to a very large number of Competent Financial
Authorities (CFAs), more than 7000 at present, e-concurrence may be

considered as a viable solution;

2. Indian Air Force is using Integrated Material Management On-Line System
(IMMOLS) for e-concurrence up to AON stage and the same can be extended to
EAS stage.

The Committee suggested that the benefits expected to accrue from switching to
online concurrence system would be (i) instant movement of files and their easy
retrieval over a dedicated electronic network, (ii) Location neutral IFAs thereby

reducing the pressure to physically post dedicated IFAs for all CFAs.

The Committed further suggested the strategy for developing e-concurrence
capability. This included utilisation of available e-concurrence platforms like
IMMOLS with certain improvements such as extension to EAS stage, authority to
retrieve information, and design specific MIS reports. Alternatively it suggested,
developing an e-concurrence platform, in-house, for all service organisations,

without any linkage to inventory management systems.

Regarding strengthening the SIFA system, the committee stated that the SIFA
system needed enhancement to become a decision support system for IFA
functions, with granular details of the proposal, like item description,
specifications, their estimated and final cost and competition achieved in
tendering and other relevant information relating to a purchase decision. This

system can be augmented with more data fields and complemented with
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enhanced software analytical tools for considered decision making. Data sharing

by the IFAs may also be an important add on feature.
The committee identified following gaps and deficiencies in the IFA system:

1. Mandate of the IFAs as per Ministry of Finance charter covers various aspects
relating to the value for money principle, including project appraisal, budget
formulation, expenditure and cash management, leveraging non-budgetary
resources for sectoral development, monitoring assets and liabilities, non-tax

receipts etc.;

2 |t is not limited to scrutiny of procurement proposals, which is the case in

armed forces;

3 There is no institutional arrangement where IFA is associated with the decision
making process, appraised of modernisation plans and projects, budgeting and

other systemic issues on regular basis;

4. There is fragmented operation. Non vertical integration exists, as is the case in
Ordnance factories, in the three services, even to the extent that PIFAs and IFAs
in the same headquarters (Army, Navy and Air Force) operate independent of

each other;

5. There is no formalised interaction or co-ordination between different command
IFAs and IFAs of different arms leading to different interpretations of the same
government orders. This co-ordination is essential for better price discovery to
achieve value for money and to achieve uniformity in scaling and ranging of
equipment and stores held by the forces with special reference to NSP (Non-
Standard Pattern)/ NIV (Not in Vocabulary) items, IT equipment (hardware and

software);

6. There are issues relating to professional competence. Professional courses
may be designed in association with leading management institutes/NIFM/RTCs,
for IFAs, service officers and fresh entrants leading to diploma in public

procurement;
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7. There is a need to develop competence in international banking and financial
instruments, international trade practice, law and process and to expose the IFAs
to the best practices in international acquisition, to deliver on the value for money

objective enshrined in the IFA charter;

8. Inadequate manpower not just in numbers, but at the requisite level is a

substantive weakness in the IFA system.

The Committee stressed upon the need to formalise and create institutional

memory in the IFA system. It gave following suggestions:

1. Institutional memory is a collective set of facts, concepts, scientific, technical
and administrative documents (including soft copies), experiences and
knowledge, which add value to the intellectual capital of the organisation.

Institutional memory is a mixture of explicit and implicit knowledge sharing;

2. Outputs are quite explicit, while expertise is mostly implicit knowledge.
Networks can be mapped, and are, therefore explicit, but interpreting them
requires implicit knowledge. Explicit knowledge is easier to codify and more
suitable for enterprise-wide initiatives, while implicit knowledge requires personal

interpretation, sharing and engagement to make sense of it;

3. The present system is mainly manual record-keeping in shadow files, Master
Note Books, Registers, circulars and instructions, IFA manual and training

material in addition to SIFA. It immediately needs a review;

4. Need to automate procurement process for decision making, taking all the
stakeholders i.e. executives and financial advisors on board. Regular updating of

manuals is required;

5. For nurturing institutional memory, a flexible sub-cadre of IFA officials may be

retained in IFAs for longer tenures.

The suggestions by the Committee were discussed in the Conference.

(20 =rF/Marks)
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Q. 2. TE=a q=merg svw FH=TRAT % e et 6 afogfT o aga a2 aaafir #v =g =

Q.3.

TET 3| F5 AT | a9 ATl gra 21 Fi=a (Femoay), ey s=red, 9°d 9391 F g
SRT T 9 19 OF FETET J199 F UF FEET a4 B, SEd et F g,
&A1 TTHAIC FATAAT 1S & g faeqa srqeer 2w simd & 7 e afifRufaat & st
farert =7 o 7 F:

The Ministry of External Affairs is spending a huge amount on the reimbursement
of medical bills of its employees. In many cases, the claims are bogus. Prepare a
draft OM from Secretary (Establishment), Ministry of External Affairs,
Government of India, giving detailed instructions to Heads of Missions, Regional

Passport Officers etc, under what circumstances they should not pass the bills.
(20 si=/Marks)

ofF Taea e o s, 99 F yaaaE Fwo § @y Yo @faae st
9§ AT | FATAY AT FHT F 21 §F 2022 FT gHAT FT w27 TU 9
TATH FA F ATIE AT Irg a9TAT TE1 ST HHT ST Ire+ ATqqre § 25 57, 2022 F
sifam | Tl ITRT Tl T FT TET T ST BT TAT AT gerw * A o o i EadT

T FTIAT-T F HILH H FEUTAF AU T2 TF GUiaa 98 9% [Hqits 587 #7777
fa=me &wa & forg avefar & off1 sfdefat F o 9 T ga Mt F o T

fAerTia /1T, S/ afaTe T ST, adaT W, g FHEE A J9T GqHe Jar
Tt S ey e, sTamE=E), fmr anfe o F= ww gu a7 w9 v Gy ar
o e fgfF s #e ¥ forg At affdem 1 amer afe B8 21 sy
T ATE F A T T AR et F wIF F I wrdAT 9% wery w2
far=me ForarT ram am six 3 w=fierre AT o o ol & Rrepy 3w oft widem ¥
Fealq gerrate i £t g @iz ¥ v qor emaaT 2vaw G afder ¥ arker
ST fe Rrard e (Redise) #7177 R fa o 6 & wmer o= fr=me 3¢ die o
ATRATTH (FHTET) ST qTfdher areer ST & 9roff 3 arvrmaes o7 fas=me % 3 Mty o
TET o7 A, %ﬁmﬁ%ﬁmﬁwﬁwwwmﬂ
FTATETT T ST H T ZT Tl ATGATIH TSI FT HHTET 477 73 B3y el soratas
srfershor it ATTTeE @efts § wrge BT ST 8

Mr. Parivelan was a Sr. Accounts Officer working in DPDO Chennai, under the
administrative control of CDA, Chennai. He met with an accident on 21st June
2022 while coming to office. Despite all efforts, he could not be saved and he

breathed his last on 25th June 2022 in hospital. His wife had already died long
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Q4.

back. The dependent son of the deceased, Mr. Manivelan, had requested
through an application for consideration of grant of appointment to a suitable post
on compassionate grounds. The Board of Officers, considering the laid down
parameters as per governing rules, i.e. the size of his family, present house
occupation, terminal benefits as allowed to the deceased official, i.e. Provident
Fund, Gratuity, Insurance, etc. was of the opinion that the case of Mr. Manivelan
for grant of compassionate appointment was devoid of merit. His request was
considered by the Competent Authority concerned, in reference to the views of
the Board of Officers and the relevant Government orders and was not admitted.
Aggrieved by the decision, Mr. Manivelan filed an Original Application (OA) with
the Chennai Bench of Central Administrative Tribunal. The Tribunal passed
orders directing the respondents to consider and decide the representation of the

applicant by passing a speaking and reasoned order.

Assuming yourself as the Officer in Charge of the Legal Section in CDA, Chennai
office, draft a Speaking Order on behalf of the office, for filing the same before
the designated Bench of the Central Administrative Tribunal.

(20 =r=/Marks)

F - TR aTS S ¥ WeT oW #1021 F 03/22 i srafy F o sremdar B
0 afserat & Ig 9rar T4 5 e At gaw F gverd ofww # gEe g @
oft| fAsft aersrT<l ¥ 8,58,629/-%9F & Tt eI ATSHH (e & & H TgeAT T Sefih
Fad 53,285/-FTF TLHTLT T H STHT FHLGT TAT 3T 8,05,344/-F7 Fit 91 er=<Tier 7

gfe Fit Iordee [ & ST waT @ EradeT F D 9T T aAataadr F a1
T TATT A@TTLET ST g1 S@raeT srafr 3318 781 ¥ T s s d giea
e o AT aershrel & et T 6ot gy 7 T, F ATeAw & Ry 9

STHT FHLTAT TAT AT, S8 Te9199 % 210 Tod 9197 T971 LTS TSE 7 1T § 59
ST O FF gE TF TR srfAafaaar & FifE gfhe f o wriars e oty gfww
(3reror UF gerEe) FanTastt, 2006 F AW 23 F7 IeerE g ST T @
ST &1 7q ¢ [ o0 TH.OH. T3S, & anrel e § anfer forar sm =iz

IUdTh T AT H @A U, TAHE A@TLEAT HATAHET F FATAT F GgdF a@r

aferardl & =7 #, Faferfag it arfie #3d gu ush vy, uw wers. Rard & weter 9w
ETE
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(i) Zf=e = T

DEIGRIECEIEIREEER

RERIEREIES

(iv) ST & srafer

(v) sfaRraaT F1 S e SrETaT ¥ F FaT T 6 ZE g e 4

(vi) FaT=raw Rafa; siT

(vii) srefrat

During the audit of store account of a unit -XYZ for the period from 10/21 to
03/22, it was observed from records that five private parties had occupied govt.
premises for shops. A total amount of Rs. 8,58,629/- was recovered from the
private parties on account of license fee whereas only Rs. 53,285/- was
deposited into govt. treasury and balance amount of Rs. 8,05,344/- was
deposited in the regimental fund of the unit. The audit objection was raised by
LAO about the irregularity noticed in audit. The unit in its reply stated that the
entire amount recovered from the private parties was deposited into govt.
treasury through MRO, which was found to be incorrect during verification. The
lapse on account of less remittance of govt. revenue into treasury is a serious
irregularity as the action of the unit is in violation of Rule 23 Defence Shopping
Complexes (Maintenance & Administration) Rules 2006 and the LAO is of the

opinion that the same may be included in the next report of MFAI.

Keeping in view the above, as AAO in the office of LAO, prepare a draft MFAI

report covering:

(i) Name of the Unit

(ii) Particulars of Irregularity
(iii) Finaicial Effect

(iv) Period of the Accounts

(v) When the irregularity was first noticed in audit and to whom it was reported
(vi) Latest Position; and

(vii) Remarks.

(15 3f#/Marks)
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Q.5.

TGS § T @7 A9 & FITg § § UF Frarad § Fr0q T F=I0 F ararq o
e 3 aTel U or@ET Aty ofF ‘wdiwy F1 w7 F|r qgr=aas gy Redt § R
TET @ AT % U A7F FATAT § AT (AT TIT 971 S T, @ et
ST A 2006 F sAfAEfar (FUeugud) g w7 o, e 9 a9t § q@qs § a9
| IR TIAH K IS FATEST AT AT &1 9 Arar-foar, i 39 9% enfaa o @ 39
ATT T T A, F JG B F ILTE TT qI7 TG0 5 [d%g TET AET Hgriad=s #f
v ATaEA (AT TH T orET HEHEaE Z10 98 FEd g0 AT TR FT (2 T R et
7 T arfa-3cpe T giaer Suesy g o a1y T w@aq ¥ foru of sro qrar-foar
F forw 3o7 god € oY Figar F Ta% & T U 7 o] ¥ ATy AT S F 9T
F T 1 TET AGT TIAIAH F 50 39T & faeg o Tl 7 g7 womaiawor smeor
Tl g 30 19 3T dE@9S § TG0 & 99 @H F (o0 Feald TOTEF AT, qads
H g araed H§edT 10 &k 2022 i 2797 f&Fam)

T FH FT @A AT TgTAF AGT SHET F T F AT FIAT T II4-907% T F7 7FHET
GRIEE Y

Shri 'ABC', an Accounts Officer working in one of the DAD offices in Lucknow

and staying in his own accommodation was transferred to another DAD office
located in Delhi by the CGDA. Shri 'ABC', AO who is superannuating in the year
2026, had been serving in Lucknow for the past 4 years. He represented against
his transfer to the CGDA on the ground of his own ill health as well as the old
age of his parents, who were dependent upon him and staying with him. This
was rejected by the CGDA stating that excellent medical facilities were also
available in Delhi, which he could avail for himself and for his parents and that at
his level of seniority he could easily get Govt. Accommodation in Delhi. Against
this order of CGDA, Shri 'ABC' filed an O.A. No. 10 of 2022 in CAT, Lucknow for

cancellation of his transfer order and his retention in Lucknow.
As the dealing AAO, please prepare a draft counter affidavit.

(10 s=/Marks)

&+
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QuestionBank

2605—-Paper 4-A
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1. Tl e ST & - Y e B

What are the goals of a security plan?

(A) (@) T, Mg, 3R SUaed
(a) Confidentiality, integrity, and availability

(B) (@) Wiy, Hifaat, iR SRe bl

(b) Technologies, policies, and awareness

(C) @) U1, UgdrH, SR s 7 Xl

(c) Secrecy, identity, and non-repudiation

(D) (%) AT, Fmofieon 3R ugar

(d) Encryption, authentication, and identification

Correct Option(s): A

2. Uferd S &g U e e B & [ Ofsd 4 Elepiy EICEARER
e e S MR ) e o e

Alice and Bob are using public key encryption to exchange a message. Which key should Alice use to encrypt a message to
Bob?

(A) (@) U 1 Urgde il

(a) Private key of Alice

(B) (@) did DI Ufseid ol
{b) Public key of Bob

(©) @1y <l BT UI3aT Gl

(¢) Private key of Bob

(D) (8) UfeTY &1 ufseics ol
(d) Public key of Alice

Correct Option(s): A

3. AT TS BTEE B @R B B [0 310 e § Wy & S g1 31 3y Mefdfad | @ ol siuits o3

You are running out of space on your computer to store new files. Which of the following will you upgrade?

(A) (F) dad 2 B
(a) Level 2 Cache

(B) (@) 1.U1.g, o]
(b) CPU Registers

(C) (M) 3R 3 TH
(c) ROM

(D) (H) Wiiers &< grRa
(d) Solid State Drive

Correct Option(s): A

4. URT TRER 3o O TR (30, 00.0,) &1 Suai 63 o Wgfa ¥l § | Fafefd # 4 & @ o gu.e.
B TS (39T (PIR) 62
Govt. of India recommends using Open Source Software (OSS). Which of the following is a feature of 0SS?

(A) (@) T (@G) IS Iua= g

(a) Source Code is available

(B) () FINITE-017 (Uaoiagdaa) IS JUde §

(b) Executable Code is available




) @1 faftrs =u A 3 o! faafa 8! faar s wavdl &

(c) Cannot be legally distributed to others

(D) (%) I & forw gg sifFard § & 3 waward 7 301 ggdin ¢

(d) Vendors are obligated to give maintenance Support

Correct Option(s): A

5. TAAT WZaC Head 5y SR & edd! IR YR B GHEl &I 5 Bl 82

Virtual Private Network solves the problem of security on what kind of networks?

(A) (@) Ug R ot 718 T

(a) Leased lines

(B) (@) Uigd< Jedd

(b) Private networks

(C) (1) &I &7 & Hedh

(¢) Local Area networks

(D) () TIdei-idh eddy

(d) Public networks

Correct Option(s): A

6. faumT 3 g Wenfiet Aifa & sruR Fefifad d 9 fey 9rd @ féy o &1 7l 761 82

Which of the following is NOT prohibited as per the IT policy of the department?

(A) (@) 3T T & O (T U UH) Sl g2 Gl

(a) Connect your office LAN to the internet

(B) (W) 30~ Ygoffal & Ty Yo Uit ifd o= 9=l &1

(b) Discussing IT policy with colleagues

(C) (T) 3T TEHIEl & WY 30 UrdS Bl I Al

(c) Sharing your passwords with colleagues

(D) (9) 30U UTYES Pl dR-aR Faal
(d) Changing your password frequently

Correct Option(s): A

7. 21 g1 &1 82

What is a Trojan Horse?

(A) (@) Ueb URIHT i agd il I Ufdoiaye gl g

(a) A program that executes very fast

(B) (@) IUGNI T &1 TUYRYT a1 g3 Th draRy

(b) A virus disguised as a useful program

(C) () 39 UrHS o] Y& ¥4 ¥ fvuH & fae ue g

(c) A program to hide your passwords safely

(D) (9) T8 SIFHE B! FiH S & 70 TP T-aRRY

(d) An anti-virus to clean word documents

Correct Option(s): A

8. U5 gIS (3% 1 2l a1 399 4f¥es o1 &) fobue &ed o ufehan & farg A © S <71 g2

What is the process of creating two or more regions on a hard disk?

(A) (@) Ui
(a) Partitioning

—~—



(B) (@) g7

(b) Booting

(C) () grgaRAfeT

(c) Hibernating
(D) (4) HHIRT

(d) Compressing

Correct Option(s): A

9. haa s Yl (A Bl e & 1T vy T8 oy Uel. fdarur (etie) &1 JuaiT fbdr ol g2

Which SQL statement is used to return only different values?

(A) (@) Tide [SfEde
(a) SELECT DISTINCT

(B) (@) Wiae fEmie

(b) SELECT DIFFERENT

(C) (M) Wiae Liid

(¢) SELECT UNIQUE

(D) (9) Wiae UIgH
(d) SELECT PRIME

Correct Option(s): A

10. IR B I5 ¥ 1 82
What is the purpose of a router?

(A) (@) RAM H QR Reer ol oS Sear g
(a) Loads Operating System into RAM

(B) (T) 7cdd| & d1d Sel dI BIRIs Sl o

(b) Forwards data between networks

(C) () TR 3R o6y &) Siedl 6

(c¢) Connects application and the database

(D) (%) Tl fau U 9t fashed

(d) All the options given here

Correct Option(s): A

11.$Wﬁ§m%mmam(@wmmmwmaﬁﬁaﬁr@amﬁﬁm
A 4 USRI ITdl 52
By which of the following names does a step by step procedure used to solve a problem is called?

(A) (@) 3iffn Ren

(a) Operating system

(B) (@) TaRa

(b) Algorithm

(©) (1) Ul UiH

(c¢) Application Program

(D) (5) SUded # A Bl 16!

(d) None of the above

Correct Option(s): A

12. 9fE $ex # FAfafad ¥ 4§ &4 9 81 dl 98 “qc~ 98] B 9ddl o

A computer cannot “boot” if it does not have which of the following:



(A) (®) DR
(a) Compiler

(B) (@) 7Y

(b) Loader

(C) (1) ATafeT Ren

(c) Operating system

(D) (9) TR

(d) Assembler

Correct Option(s): A

13, TIIATG: U e TR Ueh 34 e T o W1y T &1 3429 3 &l § | 39 U &l Fafafaa § 4 fow
T ST ST 82
A computer virus normally attaches itself to another computer program. This program is known by which of the following
names?

(A) (&) TRATE IIH

(a) Target Programme

(B) (W) B UIIH

(b) Host Programme

(C) (M) IHSR UMW

(c) Backdoor Programme

(D) () ZioH g1

(d) Trojan Horse

Correct Option(s): A

14. FrEfifad o @ 19 97 SSU® (eif) &1 el f[AER 82

Which of the following is the correct expansion of ‘gif'?

(A) (&) Tthad geddd Bigd
(a) Graphics Interchange File

(B) (W) Wty gexds BiHe

(b) Graphics Interchange Format

(C) () T a hIAYH g

(c) Graphics Information File

(D) (9 Tfthaw 31 Bide

(d) Graphics Information Format

Correct Option(s): A

15. ST W el & FEfiiad § @ 6 udl (@R ¥ ugar S 82

Computers on an internet are identified by which of the following addresses?

(&) (@) 3-AT TG

(a) E-mail address

(B) (&) Fe T
(b) Street address

(C) (M) 3M3. 1. TgH

(c) IP address

(D) (9) Sudad # 4 g

(d) All of the above

Correct Option(s): A



16. UM W5+, FPTRITTe Wb 2R e Wq Fafafaa o 1§ o fadhedl & T U 82

Palm scan, Fingerprint scan and iris scan are forms of which of the following options?

(A) (@) TR UHOGI

(a) Strong authentication

(B) (d) € hareX WHTURHIO]

(b) Two factor authentication

(C) (1) S E JrviidhRor

(c) Biometric authentication

(D) (%) Rt Trga-2i+

(d) Single sign-on

Correct Option(s): A

17. Sred TR gffe @t i (@fis) &1 o {77 ST § S U W1, Uisfdd &1 uiafia Sl g

The speed of the Central Processing Unit (CPU) is measured in which represents a CPU Cycle.

(A) (&) TTaTge (Si &

(a) Gigabyte (GB)

(B) () §2Y (Td W18)
(b) Hertz (HZ)

OIOIREFAGEE]D

(c) Terabyte (TB)

(D) (8) faiiare (& o)

(d) Kilobyte (KB)

Correct Option(s): A

18. R ead & gy § A8 0 &1 ol g2

What does TCP stand for with respect to computer networks?

(A) (@) YA dld Wetdla

(a) Transmission Control Protocol

(B) (T) TIBR el &
(b) Transfer Control Plan

(C) () SR dele U

(c¢) Transfer Control Process

(D) (%) CIMALH Bid Wetdbia

(d) Transmission Call Protocol

Correct Option(s): A

19. FEfaRad § ¥ £ & BrRala o f[JRwarg?

Which of the following is the feature of firewall?

(A) (@) TR DI AIHYH

(a) Threat Prevention

(B) (T) TR 3fR Ug=H-21emid Fem
(b) Application and Identity-Based Inspection

(C) (1) TISloS T3S waId

(c) Hybrid Cloud Support

(D) () Sudad # 4
(d) All of the above

Correct Option(s): A



20. FEER ORI GIRT S F=I IR 38 a7l dweR Syal Hedd U v i $ & oy SuahT H o s
arerl U@ AR ¢
A is software used by cyber criminals to gain control over a target computer or network.

(A) (F) STITAS o4

(a) Downloader Trojans

(B) (@) 9B 2Io4

(b) Backdoor Trojans

(C) () Fefde g

(c) Rootkit Trojans

(D) (9) SUda A Y gt
(d) All of the above

Correct Option(s): A

21. 92 STeT ardrERvl 8, faafadt Fufafad @ 4o 8-

In Big Data environments, Velocity refers -

(A) () STeT <iig TIfa 2 U b o ehell §

(a) Data can arrive at fast speed

(B) (@) Sgd HH YHraf | fa2d Serdy Usd 81 9ol §

(b) Enormous datasets can accumulate within very short period of time

(C) () STeT &1 TS, STet & Uiy U oI # o7 a1 904 &

(c) Velocity of data translates into the amount of time it takes for the data to be processed

(D) (9 SUgad SfcxiRad Tt

(d) All of the mentioned above

Correct Option(s): A

22. 39 GOR B UgTH B ol SUANTEHG! (GuR) & WY YU & ety &I Fuffd B 8

Identify the laver which determines the interface of the system with the user.

(A) (@) ead

(a) Network

(B) (@) SIeifcid
(b) Datalink

(©) (M) WS =H

(c) Presentation

(D) () TRl

(d) Application

Correct Option(s): A

%ﬁ@ﬁﬁmwmwmmﬂw.mﬁwﬁéﬂ (Reter) @l geM (Rere) & e Iughn o
ildl g2
Which one of the following commands is used for removing (or deleting) a relation from the SQL database?

(A) (@) [3eiie
(a) Delete

(B) (&) 31U
(b) Drop

(© (n fo@

(c) Remove

(D) (3) Iudad § 4o
(d) All of the above



Correct Option(s): A

24, FEARE/AR Sy fagen Fafafgd Wed dar g

Client/Server database system focuses on

(A) (B) SICT BT HIFDIUT (Validation) DI
(a) Validating data

(B) (@) dIfdhamal &1 Uay Ud URdcThur BT

(b) Managing and presenting logic

(C) (1) U STl TR B Y BT SFARY BRAT 3R Ul HRAT

(¢) Requesting and receiving information from a database server

©) () STF T e §

(d) All the above are true

Correct Option(s): A

25, PPl A ) Raple B & R 5w Wieifiie &1 Sugi f&ar S 82

What technology is used to record cryptocurrency transactions?

(A) (P) AT

(a) Mining

(B) (@) fSfred dlcde

(b) Digital Wallet

(C) (1) & o4
(¢) Block Chain

(D) () CIeb

(d) Token

Correct Option(s): A

26. 519 U UL 1. 1 =Ie] fopan e § o ¢ Wb Ffafad gl e:

When a PC is powered on, the boot sequence is as follows:

(A) (@) POST - BIOS - OS
(a) POST - BIOS - OS

(B) () BIOS - POST - OS
(b) BIOS - POST - 0S

(C) (") OS - POST - BIOS
(c) OS - POST - BIOS

(D) (9 OS - BIOS - POST
(d) OS - BIOS - POST

Correct Option(s): A

27. 301 3R 3.0, & QU FU 182
What is the full-form of EPROM?

(A) (@) SadRIHEHd TumHad 48 3if-efl #md

(a) Electronically Programmable Read Only Memory

(B) (@) 3eoiad WS 4 affell 49d

(b) Erasable Pre-processed Read Only Memory

(©) @ 3w -0 §s offe il

(¢) Electronically Pre-processed Read Only Memory

(D) (9 ZLolad WTeEd 38 3ii-ell A

(d) Erasable Programmable Read Only Memory



Correct Option(s): A

28, GTTedTR AT § SduRd HeH DI B 6 82

1. I ] ISR AT TR WO Bl g D b (1Y 1A D1 o] S
1. T ] SIS Bl

111, ST o) ST e, T @ e SR STl eyl Sl

IV, T 1 Brai-aa b

V. YT b1 Helidh S 3T SFARE0T AT

What are the steps involved in Software Development?

I. Analyzing the problem at hand, and planning the program(s) to solve the problem.
II. Coding the program(s).

TII. Testing, debugging. and documenting the program(s).

IV. Implementing the program(s).

V. Evaluating and maintaining the program (s).

(A) (@) Had I, 1L, 1L IV
(a) I, IL. 1L, TV only

(B) (@) bdd I, 111, V
(b) IL, 1L, V only

(©) () $Had 1 RV
(¢)Iand IV only

(D) (4) SWdad H 4 g4t
(d) All of the Above

Correct Option(s): A

20, Ffafaa I O & 91 98 321 &1 U UHR ol 82

Which of the following is not a type of Big Data?

(A) () SFTIS STl

{(a) Unstructured Data

®) (@) gra-FHHd ¥su srer

(b) Human-generated Random Data

(C) () EFES SIeT

(¢) Structured Data

(D) (4 YHf1- XIS s1et

(d) Semi-Structured Data

Correct Option(s): A

30. ﬁﬁl%l@ﬂ A A B9 W U ) U dsigd Horell 8T 82
1. U490

IL =
1. Sferg

v, Hdd

Which of the following is not a centralised system in the Department?
L. NCS

II. SPARSH

I. TULIP

IV. BHAWAN

(A) (@)1 3R M
(a) Land III

(B) (@) 13RI
(b)Iand I1

(©) @T) I AR IV
(c) Ml and IV

=




D) (@1 AR 1V
(d) T and IV

Correct Option(s): A
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PAPER IV — INFORMATION TECHNOLOGY - PRACTICAL

7€ AT oo § stqefe Hrerer:
Operating Skills in Word Processing Package : (25 siF/Marks)

95 - ﬁ'ﬁwﬁ%m?mﬁvﬁf@ﬂmﬁmﬁ?ﬁ

Quest. Format the following work as per given directions-

TEITT 1
qraaE ¥ gord & Fafaq Rer-fAda
1.1 "ferg 7o

1.2 3297
ﬁﬁ'mﬁ%&ﬁaﬁrﬁjwwqmﬁ%ﬁwﬁwﬁ#qaﬁmwwawm%n
1.3 fAE

3 oy Ser FeaTroegt, earel, wergr, aearft S e FTfE w AT A g1 T e
oot aoft TS U SN 2N § o7 FAe WAI-EaY F SARTIIE, TR F A,
I T, A AErIed aF &1 Hfha gl 8

1.4 FRem-F=a

ot qreast ¥ W F FH 12 ACFHEERF Faed, quy i AT ¥ a5, F H FH U
AT (AT 0-9) T FW A T UH T FLAT (AT 1$%A&* ) FH HAHT em-fagert a1
o7 f3 ST =T

Chapter 1

Password Construction Guidelines

1.1 Overview

Passwords are a critical component of information security. Passwords serve to
protect user accounts; however, a poorly constructed password may result in the
compromise of individual systems, data, or the network.

1.2 Purpose

The purpose of these guidelines is to provide best practices for the creation of

strong passwords.

1.3 Scope



This guideline applies to employees, contractors, consultants, temporary and other

workers. This guideline applies to all passwords including but not limited to user-

level accounts, system-level accounts, web accounts, e-mail accounts.
1.4 Guidelines

All passwords should meet the guidelines of containing at least 12 alphanumeric

characters, both upper and lower case letters, at least one number (for example, 0-

9) and at least one special character (for example,1$%"&")

1)

5)

8)

9)

Tt T AT S 2T A

Type the above text in Word.

Insert the header which says “DAD Information Security Policy”.
g8 FEAT ¥ AT Tl AL

Add footer with page numbers.

EEIRARIRRINEEE] ST HEAT A AT U U 2, Ay veree |7 Ares d
1T =TfRTh ez % ATES 14 F w9 § q2

First two lines containing Chapter number and name should be centre

aligned and in Bold. Set the Font size as 14.
AT T (FiEE) ¥ R e ATEe A1 12 % w9 d2 A7)
Set the Font size as 12 for rest of the content.

s FY FFA 1.1, 1.2, 1.3 37 1.4 ¥ e F FFT FT THAT AT ATH Ao
# g AR
Divide the content into Sections 1.1, 1.2, 1.3 and 1.4. Section humber and

name should be in Bold.

FFUT 1.4 F UTS I 29 THIC HW FE O TAF ArgeAZA qoAe ATEE F ®F H
sifera &t 75 2N

Frame the content of Section 1.4 in such a way that each of the guideline
is indicated in the form of a bullet point.

wqof T % For 1.5 STEed ST 1 SA HL

Use 1.5 lines spacing for the whole document.

o aer ¥ i e |ree S FT ariie ¢ AR TedF qFA 7 905 F Oy



10)

wATERE & “Justify” F €T § H2 FT
Include a single line space between each section and set the alignment to

be “Justify” for the content in each of the sections.
sy F T A A R nRE_aifersft. pdf Are & v L EL0E. F w6 49 F1)

Save your work as a PDF with the name “IT_Security_Policy.pdf”.

T sffe ter ® sifoefe Fee:
Operating Skills in Spread Sheet Package : (25 sw/Marks)
T T A AT T Aot v A we g0 2 o (g F srpe freferta wr

Quest.

FT HIHS FL
While reading the table given at the end of the question, format the following

work as per given directions.

UF 7L FHAF @I AT K H YL F ATH G H FL

Open a new workbook and save the file with name “Payroll”
TATSITRrT, TEF Al AT § doed] ST T4 A THE L

Enter the labels and values in the exact cell location as desired

et A6 T A:8 T FHHATE T FT T * form T fiher &1 Tan

Use auto fill to put the Employee number into cell A6 to A:8

et # A1Ev, Rreare=a F1 TATE T

Apply Borders, gridlines to the table

=T ¥ o0 Wt Faa T AT 3 gieeer 7€ &1 gfaHer FT & O FHA F
T E4 & % T AT FT AT B

Calculate the Gross Pay for employee; enter a formula in E4 Cell to

multiply Hourly Rate by Hourly Worked

TH T FT AT AT FE ST AHA IGA H 6% @ THA AAT FT 6% & O FA F
forT F4 8 § T ST FT TAY FL

Calculate the S.S Tax which is 6% of gross pay; enter a formula on cell F4



to multiply gross pay by 6%

(1) et 3 & U T A AT w3 R et i e g f e e we-
=21 T AT L

(g) Calculate the total hours worked by all five employees to subtract S.S Tax
from Gross pay

(1) rofy = ATt e R T e F-SE A Ao

(h) Calculate the total hours worked by all the five employees

(1) SrerEe A Sreeny § dz A

(i)  Setlayout to landscape

() S A

(i)  Save your work

greofi/Table
T 1 oy ki S U il
A B C D E F G
Tt
PAYROLL
arra 1/11/21
Date
TR A, | FAATd &7 | wtaderax | Bhu e w e | wee aad g 2 | fAEe
EMPL NO. | TH HOURLY | %2 GROSS PAY | 5.5 TAX | 77
EMPL RATE HOURS NET
NAME WORKED PAY
£00001 TS 7.5 35 ? ? ?
E00001 Rajesh
£00002 | AT 8 30 2 9 2
E00002 Sumit
== 6.5 25 ? 2 2
Chanchal
Hy 9 40 ? ? ?
Madhu
Fd 10 39 ? 2 ?
Kriti




Y5 T 7 SArfET AT
Operating Skills in Presentation Package : (20 siF/Marks)

w;:ﬁ%ﬁr{mfﬁgﬁ%mwmgmml T F1 W pptx F ET F T F

Quest. Create a presentation as per instructions given below. Save the file as Learn.pptx.
Eﬁ)ﬁﬁ?ﬂﬁiﬁﬂ[ﬁﬂﬁﬂﬁwaﬁﬁﬂ?ﬁl

A) Select any template for the presentation.

s 1t

Slide 1:

a)w%%vm%mwmaﬁt oo 7 et i & R @G F = A

B) Select Title layout for the slide. Set the title as ‘How to Learn Faster'.
H)Wwﬁ,waﬁw—zozs%wﬁﬁzaﬁ1 7z 2T wedt FATEEl § A S

! Q \l
C) In the master slide, set the footer as SAS —2023. This footer must appear on all slides.

=1ge 2
Slide 2 :
a)amaﬂtaﬁﬁzémwﬁmzﬁl ofefer =51 o 3 = 8 Az ) e g
ey w31 T off g ¥ gereH A SIEA
D) Insert Title and Content layout slide. Set the title as Tips. Type the following list. Add
bullets of any type.
o ATEH FATH
Take Notes
Read it loud
e TEATW T FL
Test yourself
o T 3w F1 9=l
Teach to someone else
o EHTU-9TF AR T TEA L
Use memory techniques

o mfterTE 3 A= Al T B8

Leave a gap between reviews



QuestionBank

2605--Paper S
Print Time: 29/05/2023 11:22 AM

1.WWW@M%MWWWWW$ﬁW$HWW%ﬁaﬁ@aﬁﬂaﬂﬂﬂ

Posthumous Publication occurs when a book is published after the author's death. Which situation below is the best example of
Posthumous Publication?

(A) (@) 3B Ugd Bl s G- Jedd &1 TR [Geaaer wileredt &1 e U $vd, I8! AR = 3@t shaq
ol GHIE BR 41|

{a) Richard's illness took his life before he could enjoy his novel's amazing early reviews.

%)g%wgwﬁwmmmwﬁm$wm$wﬁmwﬁ Y (BlcdT)

(b) Melissa's publisher cancels her book contract after she fails to deliver the manuscript on time.

(C) () &I = g B g1 Wran U1 & 39t wapniRrd Iu=ara-adt (feafsn ot Rt qeae 1 98 210 siaare | 3@

qrue|
(c) Clarence never thought he would live to see the third book in his trilogy published.

Bl 3T TRAT BRI B T wefad fan R 3T T A
%a%aq%%au&mﬁ nguwmam%@fﬁmw g gt

(d) Elizabeth is honored with a prestigious literary award for her writing career and her daughter accepts the award on behalf
of her deceased mother.

Correct Option(s): A

2. AR, 3HaR AR T BT 1Y BT GHA 1T 80 Y g 1 oIF 9N UG ST AT BT W0 AN b1 Ure

The total of ages of Amar, Akbar and Anthony is 80 years. What was the total of their ages three years ago?

(A) (@) 71 9%
(a) 71 years

B)@) 729
(b) 72 Years

(©) (M 74 ¢
(c) 74 Years

(D) () 77 a4
(d) 77 Years

Correct Option(s): A

3. 3116 Afdkd Ueb fbR1G BT HR b fbR1Y Bl SRIR-TRTGR Ig1 - D1 UISHT &1 38 & | 3 U e 3 o e
S’rgaé%%?ﬁﬁma@xmmqnﬁmw&wwmﬁ%ﬁgﬁmu@awﬁm%aﬂ%@ﬁmﬁﬁ

Eight people are planning to share equally the cost of a rental car. If one person withdraws from the arrangement and the
others share equally the entire cost of the car, then the share of each of the remaining persons increases by:

(A) (P) 1/7
(a) 1/7

(B) (@) 1/8
(b) 1/8

(©) AN 1/9
(c) 1/9

(D) (¥) 7/8
(d) 7/8

Correct Option(s): A



4. faffEa Iegafd 990 &1 28:
o 35
ot mqﬁfwﬁi

e-n?aqs{;%%aﬁaﬂmawa‘r
SRy A o1 e s ERIR e R

Look at the following jumbled sentence:

When he

P : did not know

Q: he was nervous and

R: heard the hue and cry at midnight

S: what to do

The proper sequence for the jumbled sentence should be:

(A) (@) IR A AT
(a) RQPS

(B) (@) F U ¥ 3R
(b) QPSR

(C) (N TH g Ul 3R
(c) SQPR

(D) (80) G &g 3R U™
(d) PQRS

Correct Option(s): A

5. U 3fichs & UMM Hed 3R ATd IRufiex & 4ed & 19 & iR &) Fufifad am @ dafia o s 8

The difference between the expected value of a statistic and the value of the parameter being estimated is called a:

(A) (@) AN FfC

(a) Standard error

(B) (@) yaiug

(b) Bias
(C) () THAIRRUT Ff2

(c) Sampling error

(D) (%) IR-FHAHR0T Ffe

(d) Non-sampling error

Correct Option(s): A

6. Mwﬁﬁamﬁ%@sﬂﬁmuﬁmﬁ aReHTST SR SFHM & ol 1 Iug a8, 39 Fufifad

%ﬁﬁ@sﬁma&

D e T earads

The logic which uses known results, definitions and rules of inference to prove something is called:
1. Deductive Logic

II. Inductive logic

Which of the following is correct for the above statement:

(A) (®) Pad 1
(a) Only I

(B) (@) bad 11
(b) Only II

© @Ad RIS

(c) Neither I nor I1

@) (@)1 AR 1A
(d) Both I and II




Correct Option(s): A

78

U@ Ui H o ofa ST R0 & 3R 98 gU g1 i oiR 7 & g IR i 98 §1 U qg H 3 ARG
RIF R 31 3| U0 ol ‘T 3R T & A9 981 3| TH U Fad Sl SR Y 3139 RIF W 38121 B T &
&l R E TR RIF R 3] 81 T F & 1§ 3R & UFd RIF R 331 81 313 F T & a8 IR 46 2

T Ul & da- aret watiie Suifed afedal @t d@e feah &

A certain number of persons are sitting in a row facing in the North direction. Four persons are sitting between P and Q. F sits
second to the right of Q. One person sits between F and S. S sits at eight position from one of the extreme ends. D sits third to
the right of . H sits fifth to the left of Q. Eight persons are sitting to the left of Q.

What is the maximum possible number of people sitting in a row?

(A) (@) 91"
(a) Twenty

(B) () d1g¥
(b) Twenty two

(C) () B

(c) Twenty six

(D) (%) U=fE
(d) Twenty five

Correct Option(s): A

8. 3U1 ONDE ¥ i 90l ol vl Ueb AR Wl 953 §U fabeit ofefqef ool wreq &ty o wepd 22

How many meaningful English words can be made with the letter ONDE using each letter only once in each word.

(A) () BIg 75T

{a) None

(B) (8) Td
(b) One

©@a

(¢) Two

(D) (&) FH
(d) Three

Correct Option(s): A

9. HileT Udcl ¥ Sl HoR Walfird § SR g e @ gl 3.

Thick is related to Thin in the same way as Idle is related to :

(A) (P) TR

(a) Virtuous

(B) (W) HTIR
(b) Business

(©) (M) IeH

(¢) Industrious

(D) () nfafafy

(d) Activity
Correct Option(s): A
10. Fafaaa 73 39 ST IH BT T B Sl I UBR b Il Haley 1 1T <l § 9 s o= g a2 2.

Choose the odd one out which does not share common relationship as others do :

—



(A) (P) IS9P : Brgel
{a) Clerk : File

(B) () I : Haifdhal

{(b) Lawyer : Client

(C) (1) Sidex - Aft

(c¢) Doctor : Patient

(D) (¥) GPMGR : ATeD
(d) Shopkeeper : Customer

Correct Option(s): A

11. U Y el o &r%aﬂ:ﬁ ] 3R U U fadhed! # 3 UE 51 & 90 B
4l : 1 - U9or, 2 - ,3-%4-6‘1@%71

Arrange the given words in a meaningful sequence and choose the correct sequence from the options given:
Series : 1 — Sending, 2 — Encoding, 3 — Receiving, 4 - Decoding

(A) () 2.4,3.1
(a) 2.4.3.1

(B) (@) 4,2,1,3
(b)4,2,1.3

(©(@M1,234
(c) 1,2,3.4

(D) (9) 2,1,3.4
(d)2.1.3.4

Correct Option(s): A

12.@1@@@%@@%%%&&?uﬂﬁo_cﬁ?ﬂa,mmﬂﬁ&ﬂ?soﬁﬁiﬂaaﬁ?m\ﬁf
fe=m @t 2R so fabeliviiex Grae 81 TSt & URMS ©IF § @IH frg Rand 2o

A train runs 120 km in the west direction, 30 km in the south direction and then 80 km in the east direction before reaching the
station. In which direction is the station from the trains’ starting point?

(A) (P) CfEur-ufgy

(a) South-West

(B) (@) STR-UEH
{b) North-west

(C) () af&or.gd
(¢) South- East

(D) () &famr
(d) South

Correct Option(s): A

13. U fGgTSt Hoige &1 5750 mwwﬁ@aiﬁ%mmmmwmﬁmsﬂﬁﬁwﬁaﬁ@@a
mﬁ%aﬂmeﬁmsooomﬁﬁrwmwwmwﬁwﬁmﬁamm@ﬁﬁmﬂ?

A daily wage labourer was engaged for a certain number of days for Rs. 5750, but being absent on some of these days he was
paid only Rs. 5000. What was his maximum possible daily wage?

(A) (@) 125 37
(a) Rs. 125

(B) (@) 250 94
(b) Rs. 250

(C) (M) 375 3T
(c) Rs. 375

-



(D) (9) 500 3T
(d) Rs. 500

Correct Option(s): A

14. U e g1 {o6a1 71 92 Udies s 99 § ST g1 il ¢ | afe 394 a 1990, 1995, 2000 3R 2005 H Ud® a4
5000 $UY &1 AL fawar 41l 9l 2010 H IS GRT UIW Sl ¢RI et 2o

A man’s investment doubles in every 5 years. If he invested Rs. 5000 in each of the years 1990, 1995, 2000 and 2003, then
what was the total amount received by him in 20107

(A) (B) 30000 T
(a) Rs. 30000

(B) () 70000 T
(b) Rs. 70000

(C) (T) 140000 TTT
(c) Rs. 140000

(D) (9) 150000 FTF
(d) Rs. 150000

Correct Option(s): A

5.3 & S & Y 39 fUar &) Y off, Safdr 3T 4 I9 B IUS HIE & oFH & Y IGS| ATl &
316§ﬁ|%ﬂ%?ﬁmaﬁmﬁ%m@ﬂ%saﬁi%é ! e o

Renu’s father was 38 years of age when she was born while her mother was 36 years old when her brother 4 vears younger to
her was born. What is the difference between the age of her parents?

(A) (@) 274

(a) 2 years

(B) () 4 74
(b) 4 years

(©(hHeay
(c) 6 years

(D) (%) 8 7Y
(d) 8 years

Correct Option(s): A

16. U% HITGH H 40% FHAN] <) U &, 9 7 50% Widd (IFU2) ¢ AR A9 99 180 SAfek] RGP (e Io0e)
| Widd HHIING! & W fobar 82
In a certain organization, 40% employees are matriculates, 50% of the remaining are graduates and the remaining 180 are
post-graduates. What is the number of graduate employees?

(A) (@) 180
(a) 180

(B) (M) 240
(b) 240

(©) () 300
(¢) 300

(D) (d) 360
(d) 360

Correct Option(s): A

17. T 3500 $TY ¥ TUR YRH B 3R U 718 & 91 ‘o IUP ATUR # UEIER &4 <11 81 U 9 915 T1H &)
2:3 & 3(IUId ¥ die forn et g | Ysh | <& o1 o 87

A starts business with Rs 3500 and after five months, B joins with A as his partner. After a year, the profit is divided in the
ratio of 2:3. What is B’s contribution in the Capital?



(A) (@) 7500 UL
(a) Rs. 7500

(B) (@) 8000 ¥YY
(b) Rs. 8000

(C) @) 8500 394
(c¢) Rs. 8500

(D) (8) 9000 TYY
(d) Rs. 9000

Correct Option(s): A

18. U Y= H 6 auf § YR TS W 60% B1 i gicil g1 3 T8l & YT I & X 12,000 YU B YR B
(GH3S) &1 fbdHT g

There is 60% increase in an amount in 6 years at simple interest. What will be the compound interest of Rs. 12,000 after 3
years at the same rate?

(A) (@) 2160 UL
(a) Rs. 2160

(B) (9) 3120 U4
(b) Rs. 3120

(C) (1) 3972 344

(c) Rs. 3972

(D) (9) 6240 3T
(d) Rs. 6240

Correct Option(s): A

19. U U BI WaT3 B oA g off b 22.5 Hiex Te1 81N SR o1 sy (Srawier) 7 witex g 39t 3aia
PP (BTS) YaE DI TIRER 3 ST Ufd a7f Hiex 31 X A 6T S S SUP ATl 1 Il ST |

A well has to be dug out that is to be 22.5 m deep and of diameter 7 m. Find the cost of plastering the inner curved surface at
Rs 3 per sq meter.

(A) (P) 1465 TT
{a) Rs. 1465

(B) (M) 1475 TYY
(b) Rs. 1475

(C) (1) 1485 TYU
(¢) Rs. 1485

(D) () 1495 TYL
(d) Rs. 1495

Correct Option(s): A

20.

U drferd H 20 sufdd HRIG § | U Safaad! &1 uga UHg 8 9ol Tdig 9 2 99 30R1E & g S1d Bdl o1 59
Tl BT U THE 10 91 Ydig d 4 T 3URTE & did I $Hdl ¢ 3R Ui il & I U9 12 9 augi T 6
91 3UR1G S << B Bl § | PRI H 3 HULR ¢ oD IughT W S agu o3d |

fFrafafaa ¥ | 59 91 & SRM e o1 aifUete suar fa smeme

There are 20 people working in an office. The first group of five works between 8 am to 2 pm. The second group of ten works
from 10 am to 4 pm and the third group of five works between 12 noon and 6 pm. There are 3 computers in the office which
all the employees frequently use.

During which of the following hours, the computers are likely to be used the most?

-~ - -~



(A) () 2:00 991 3URTG U 4:00 99 WG
(a) 2:00 pm to 4:00 pm

(B) () 12 991 USRI ¥ 2:00 I TG

(b) 12 noon to 2:00 pm

(C) () 1:00 T UG Y 3:00 §91 ARG
(c) 1:00 pm to 3:00 pm

(D) (9) 10 991 Yd1g ¥ 12 §91 QTR

(d) 10 am to 12 noon

Correct Option(s): A

%@@Hﬁw%ﬁqwmﬂﬁrwuﬁﬁWaﬁm%
R g Ui &1 IR
ﬁ%ﬁﬁmoﬁﬁﬁﬁﬁ%@%ﬁﬁwwﬁmﬁmmmﬁ

1L 3= & fom S IO (@Eﬁ ﬁf"ﬁﬂ B ATHIATd B The below pie chart shows the sale of different fruits in a day for a

shop:

Answer the following questions based on the pie chart:

L If a total of 1200 kg of fruits were sold in a day, calculate the amount of bananas sold (in kg)

IL. Find the difference between sale of grapes and oranges. III. Calculate the central angle for others.

Columnl

B others
# orange
= apple

B Grape

@ Banana

(A) (@) 360, 60 3R 72 fguht
(a) 360, 60 and 72 Degree

(B) () 355, 70 3R 62 fa2ht
(b) 355,70 and 62 Degree

(©) @T) 350, 50 3R 82 f3M
(c) 350, 50 and 82 Degree

(D) (9) 340, 45 37X 90 f7ht
(d) 340, 45 and 90 Degree

Correct Option(s): A



22. TP Pl H 200 B ] wezad A 98 501 1| 140 BT 919 THE B 8, 120 BTH UHe B & 3R 80 BH
3R B} aﬁgﬁ e B ol

QU HU $ el | BT <:

L T s
II. BIEl THg ?

1. fSd] B A dl 97 WG Bd § AR A G BB

Iv. [ BT IR 301 H1P) 1 § dad U Bl 08 Hd 82

V. [ BT HH U HH TP U3 DI TG D g2

In a college, 200 students are randomly selected. 140 like tea, 120 like coffee and 80 like both tea and coffee.
In the light of above statement, please answer the following:

I. How many students like only tea?

II. How many students like only coffee?

III. How many students like neither tea nor coffee?

IV. How many students like only one of tea or coffee?

V. How many students like at least one of the beverages?

(A) () 60; 40; 20; 100; 3R 180
(a) 60; 40; 20; 100; & 180

(B) (@) 50; 50; 40; 110; 3R 170
(b) 50: 50: 40; 110: & 170

(C) (1) 70; 40; 30: 100; 3T 150
(c) 70; 40; 30; 100; & 150

(D) (F) 50 40; 50; 110; 3R 280
(d) 50; 40; 50; 110; & 280

Correct Option(s): A

23

fafeRad yem @1 ud o 4 Rummuy s13w e

ST BRI TR forw ueh 3ya S Ul giel) 3, H IR daet s aivfiey o 418 wovar €1 4R & S9 g 4

aﬁaﬁﬁﬂma%aﬂﬁmaﬁqgﬁﬁawgwwm .
& Py ¥ ufafed o J g oy o1 o T el §2

Read the following information and answer the question which follows:

“The upcoming Marathon seems to be an impossible task for me, I can only run 5 km at a stretch. Even if I double that I would

still not reach half way through the Marathon” says Rohan.

Which of the following statements can be inferred from Rohan’s Statement?

(A) (a%ﬁé*aﬁ UIe ) AT 1 R BR Webell § a8 M 0 8 T8 I aet IR & Ugel 0 Rpeiivier & g
(a) Any runner who can complete the Marathon can definitely finish first five kilometers of the marathon faster than Rohan.

(B) (W) Tf g /U &l ¥ IR T SISl § ol 98 ARIYA Q1 &R A

(b) If Rohan runs four times his capacity, he would finish the marathon

(C) (M) T AR 1 Y% Yo TP ¥feT B <ff gt = 39 &1 5 b 9w H QT R R g

(c) Had the specified time for Marathon been one hour, Rohan would have completed it in two hour’s time.

(D) (9) AT FRTY &1 fafre g3t g 9 @ 20 fbeifier @ aftre 2

(d) The specific distance of the upcoming marathon is definitely more than 20 km.

Correct Option(s): A



24,

HY:
L 814 ¢ 7 X TR T gal ‘Xyz' Bl 5! &1 39 SR R ufsfere o faar § s garelt gr omg vl & e
Bﬂmgz‘qufrrfamw%

%géw#gmaﬁﬁw‘HZ’aﬁWmaﬁmuﬁﬁﬂﬁﬁﬁqﬁa%’mEﬁﬁagaacﬂ@ﬁq@%Wﬁ
|
Suded oyl ¥ Fafafaa & 3 oy o o e sn awar 82

Statements:

L City *X" has recently banned the sale of a drug — xyz, citing its misuse by youths for other activities.

II. City “Y” has recently lifted its ban on the sale of the drug xyz. after a sharp rise in the number of cases of Glaucoma.
Which of the following can be inferred from the above statements?

(A) (P) @l *XYZ’ BT ST dda Hifaariss & IR H a1 orar g

(a) Drug xyz is only used in the treatment of Glaucoma.

(B) (@) TR *x’ H Hifquifds & wdiel 31 T o wfaw 7 9f gl

(b) The number of Glaucoma patients in City ‘X’ is going to increase in the future.

(C) (M) &al XYz’ BT IYANT RGeSl gR1 @aige-uesi ¥ 3fg & fou oft fsar sirar &

(¢) Drugs xyz is also used by the sportspersons to enhance their athletic performance.

(D) (8) &dl *XYZ’* &1 3ugiT Hifagifee & Iuar # fear o g g

(d) Drug xyz can be used in the treatment of Glaucoma.

Correct Option(s): A

25,

3= uy 7 & o PR B Prrd ugra G a1 ok o 2
%u_:f:w%wa@wﬁ%w&ﬁaﬁﬁaﬁamﬁ%@ﬁwﬁaﬁwﬁamm%

1. 81, 75 faf¥e dufal & g sraiea ufreef & g &2 3m
I ;g,urﬁu’rﬁuﬁafﬂméimﬁmmaﬁaﬁﬂ

BIS BT TGN P §U TS IR PT 997 I3
Directions: The Question consists of a Statement followed by two arguments I and II.
Statement: Should only one company be allowed to run the transport system in any one big city?
Arguments:
L. Yes, this will put an end to unhealthy competitions among different companies.
IL. No, the commuter should be given a wider-choice of fransport system,
Select the correct answer using the code given below:

(A) (®) bad dd-1 Gad &

(a) Only argument-I is strong

(B) (W) $ad -1 Y4d ¢

(b) Only argument-1I is strong

© EHIIT 191 1 Uad &

(¢) Either I or II is strong

D) @AW HRAS uIIaT 8
(d) Neither I nor II is strong

Correct Option(s): A



A H U D+ 31 71 g fores a1g a1 YRUMT 1 SR 1 & 78 81 o R AR o3 3R Aoy 3
fafafad < mwaﬁﬁﬁﬁﬂm&m%?ﬂm ?
YT W%ﬁmﬁwwﬁﬁmmél s

R feel] garg A A 98 B
I, 3 el mqﬁaag‘i%aﬁ?ﬁ%mmwﬁ%‘
DS BT ITUNT PYd §U o1 SWY DT 99 Dy:
Directions: In the question below is given a statement followed by two assumptions numbered I & II. Consider the Statement
and decide which of the given assumptions is implicit.
Statement: It is faster to travel by air to Delhi from Bengaluru.
Assumptions:
I. Bengaluru and Delhi are connected by air.
Il. There are no other means of transport available to Delhi from Bengaluru.
Select the correct answer using the code given below:

(A) (@) TS Had YRUM-1 A<fTed §

(a) If only assumption-I is implicit

(B) (W) ufe ael 4RI SafiRd

(b) If only assumption-II is implicit

(©) (nafdardi syaru eHRd g

(c) If either I or 11 is implicit

D) (DR Fd R T 1 erafiiRa

(d) If neither I nor Il is implicit

Correct Option(s): A

27

. faferad fRu e wy ¥ U wyH faan 1 § e 915 @ 1 3R U 1 & U H &) SRaTRdl 21 1is) a8
HehR 1 g fob B H gl 714 wft a1d Ul § o vy H & 71 a1 & 9nuR W a7y ug RyiRd ot b o Ot
TRATfAd &1 o daTell SRATS difdhids U § 347l g & Ry Iuged 82
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Directions: In the question below is given a Statement followed by two courses of action numbered I and II. You have to
assume everything in the Statement to be true and on the basis of the information given the statement, decide which of
suggested courses of action logically follow(s) for pursuing:
Statement: Many medical and engineering graduates are taking up job in administrative services and in banks.
Course of Action:
L All the professionals should be advised to refrain from taking up such jobs.
[I. The govt should appoint a committee to find out the reasons for these professionals taking up such jobs and to suggest
remedial measures.
Select the correct answer using the code given below:

(A) () TS Had 1 96 7 3rar g

(a) If only I follows

(B) (@) I bad nag H A g
(b) If only II follows

ORGSR GE

(e) If either I or II both follows

@)@ ARAANMRAQuaEH g
(d) If neither I nor 11 follows and

Correct Option(s): A
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Directions: In the question, a statement is given followed by two conclusions number I & II.

Statement: Sealed tenders are invited from competent contractors having experience of executing construction jobs.
Conclusion:

I. Tenders are invited only from experienced contractors.

IL. 1t is difficult to find competent tenderers in construction job.

Select the correct answer using the code given below:

..nb

(A) (@) Ofe Had FAsp- 9 J 31d1 &;

(a) If only conclusion-I follows:

(B) (@) TfE Had Fsh-11 916 | 3T 8

(b) If only conclusion-II follows;

(C) (hyaTal 1 a1 1 &1E | 37dl 8;
(c) If either I or II follows;

(D) (@ ARATNARAT 1 G H AT 8;

(d) If neither I nor II follows;

Correct Option(s): A

29.
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The salary of a person decreased by 20% in the first year and increased by 20% in second year. Find the net change in salary
over the 2 years:

(A) (®) 4%
(a) 4%

(B) (T) 5%
(b) 5%

(©) @) 6%
(c) 6%

D) () 7%
(d) 7%

Correct Option(s): A

‘;ﬁf?f ﬁ?(‘l’@l—:l ﬁﬁ:fff@ % 3%
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Preeti went to market and purchased some mangoes, of which 10% were bad. She gives 33.33% of the remainder to the poor
and then has 180 lefi. How many mangoes did Preeti purchase initially?

(A) (@) 280
(a) 280

(B) () 300
(b) 300

(C) (M) 325
(c) 325



(D) (¥) 250
(d) 250

Correct Option(s): A

31. T HoHHHIdT & Wi 7 40 ORI $UA & Hed BT TR 31 I8 38 UG B 20% S @1 R a9 A 31 T ARG d A
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g ddr g1 3 o o e Ty e 32

A builder owns a house worth Rs.40 Lakhs. He sells it to Rahul at a profit of 20%. After 3 months, Rahul gets a promotion and
has to go to Hyderabad. So, he decides to sell the house back at a loss of 20% to the builder. In this transaction, what does the
builder make?

(A) (P) 12 TG 3YL &1 A4
(a) A profit of Rs.12 Lakhs

(B) (@) 10 TRI YL BT ATH
(b) A profit of Rs.10 Lakhs

(C) () 9.6 TRG TUY BT ATH
{(c) A profit of Rs. 9.6 Lakhs

(D) (9) DI ATH 7151, B g1 Tal

(d) No profit no loss

Correct Option(s): A

32. U ST R ww 119 Uiday &1 2 T 4 94T & T WrROr <11, 3000 $U Y 4RI W 209 Ufiay @l &3 3
2 T & foTT =Ishfest o416l b aRTER 3| TR TS TR T S eI & =

The simple interest (S.1.) on a certain sum of money for 4 years at 11% p-a. is equal to the compound interest (C.1.) on Rs.
3000 for 2 years at 20% p.a. The sum placed on S.I. is =

(A) (P) 4000
(a) 4000

(B) (@) 3000
(b) 3000

(C) () 2500
(c) 2500

(D) (9) 39Ge # 4 iy g

(d) None of these

Correct Option(s): A

33. UF SPHAR 110 &A1 T FHioL-a1] &1 Q1 3 & R 99 3 g e 21 a8 20 faT & 1T 200 SHfdaal BT
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A contractor undertakes to complete a work in 110 days. He employs 200 men for 20 days and they complete one-fourth of the
work. He then reduces the number of men to 100, who work for 50 days after which there is strike for 20 days. How many men
must be employed for remaining period to finish the work on time?

(A) (@) 250
(a) 250

(B) () 260
(b) 260

(C) (’T) 200
(c) 200

(D) (3) IUYaT H 8 IS 78]

(d) None of these

Correct Option(s): A
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Four coins are tossed up simultaneously. What is the probability of getting at least one head?

(A) (P) 15/16
(a) 15/16

(B) (@) 1/16
(b) 1/16

(©) (M) 17/16
(c) 17/16

(D) (4) 5 I BIg 5T

(d) None of these

Correct Option(s): A
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Why do we need sampling in Audit? Which of the following are correct answers?
L. Making an audit assertion with absolute certainty would be vastly expensive.
II. There would always be some risk that audit fails to discover all material errors, even when 100% of the transactions are
audited.
III. Recognizing this, the auditor defines an audit risk that he is willing to accept
IV. Sampling in audit means testing less than 100% of the items in the population for some characteristic and then drawing a
conclusion about that characteristic for the entire population
Select the correct answer using the code given below:

(A) (@) D (1) 3R (1) T §

(a) only (I) and (II) is correct

(B) (T) bael () 3R (1v) Tgl §

(b) only (III) and (IV) is correct
(C) Ty a4t 1err §

(c) All are incorrect

(D) (%) 9l wgl §

(d) All are correct

Correct Option(s): A

36.
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Which are sampling selection methods?

I. Random Sampling

II. Systematic Sampling

IMI. Monetary unit Sampling

IV. Haphazard sampling

Select the correct answer using the code given below:




(A) (@) BT 1 3R 11 Ge1 &

(a) Only I and II are correct

(B) (@) had L I, iR m Il &

(b) Only I, 11, and III are correct
(C) (1) W Wel §

(c) All are correct

(D) (&) G T §

(d) All are incorrect

Correct Option(s): A

37. a@a%ﬂgamuﬂaumﬁmﬁuaﬁaﬁsﬁha WIS & U & U H I 8 | g &1 A & 1Y 59 ueR

Amit introduces Rahul as the son of the only brother of his father’s wife. How is Rahul related to Amit?

(A) () HERT 4TS

(a) Cousin

(B)(@) 9
(b) Son

(C) (1) HIHT
(c) Uncle

(D) (¥) qTHIG
(d) Son-in-Law

Correct Option(s): A
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Directions: Read the following passage and solve the question based on it.

Amit, Bharat, Chandan, Dinesh, Eeshwar and Ferguson are cousins. None of them are of the same age, but all of them have
birthdays on the same date. The youngest of them is 17 years old and Eeshwar, who is the eldest, is 22 vears old. Ferguson is
somewhere between Bharat and Dinesh in age. Amit is elder to Bharat and Chandan is older than Dinesh.

Which of the following is not possible?

(A) (@) T @1 amg 20 af

(a) Dinesh is 20 years old

(B) (9) BUYH B 3G 1594 §

(b) Ferguson is 18 vears old %

(©) (1) BXHA &1 21 19 99 ¢

(c) Ferguson is 19 years old
(D) (9) BGE B 311G 20 99 g

(d) Ferguson is 20 years old

Correct Option(s): A
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Directions: Read the following passage and solve the question based on it.

The Hotel Leela in Goa has two wings, the East wing and the West wing. Some East wing rooms, but not all, have an ocean

view. All the West wing rooms have a harbor view. The charges for all the rooms are the same, except:

i. There is an extra charge for all harbor view rooms on or above the third floor.

ii. There is an extra charge for all ocean view rooms, except those without a balcony.

iii. Some harbor view rooms on the first two floors and some East wing rooms without an ocean view have kitchen facilities,

for which there is an extra charge.

iv. Only the ocean view and the harbor view rooms have balconies.

Which of the following cannot be determined on the basis of the information given?

I. whether there are any rooms without a balcony for which an extra charge is imposed

II. whether any room without a kitchen or a view involves an extra charge

III. whether two extra charges are imposed for any room

Select the correct answer using the code given below:

(A) (@) Had 1

(a) I only

(B) (@) Bad 11
(b) II only

(C) (1) &ad 1 3R m

(c) I and Il only

(D) (9) Had 11 3R 11

(d) 1T and III only

Correct Option(s): A

40.
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Directions: Read the following passage and solve the question based on it.

I Sixmen B, D, C, M, J and K are split in two groups of three each and are made to stand in two rows, such that a man in one
row is exactly facing a man in the other row.

II. M is not at the ends of any row and is to the right of J, who is facing C. K is to the left of D, who is facing M.

Which of the following groups of men are in the same row?

(A) (@) &I T 3P
(a) BMD

(B) (@) W S <
(b) MIK

~ -~ ~



(C) (TI') iaTE :g‘l’a (H‘P
(c) BDC

(D) () TTH Y BIg T

(d) None of these

Correct Option(s): A

41.
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Study the following table carefully and find the average percentage of marks obtained by all the students in the subject C and
D together.

= AT Tt ® A freheat 5T STR ST w5 T
The percenage marks obtained by seven students In six different subjects:
)

Subpa—+| A B e o € F
Studont | [(Gutol | (Gutof | (Outol | (Owief | (Outof | (G
75) | 150y | w0y | s0) | 150y | o175
0 s & 76 % 5% 62
) 7% 72 84 B0 B4 70
R 66 b i 4 &a T2 a8
s 74 ez &1 74 70 74
T & 75 a7 a8 7y 78
v T 0 6 7a a2 | 80
w %) 8 81 3 76 72
(A)(P) 78
(a) 78
(B) (9) 80.71
(b) 80.71
(C) (1) 79.43
(c) 79.43
(D) (d) 77.53
(d) 77.53

Correct Option(s): A
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In the network diagram below, the figures represent the flow of natural gas through pipelines between major cities A, B, C, D

& E (in suitable units). Assume that supply equals demand in the network (although not on individual nodes). If the number of
units demanded in C is 225, what is the value of x?

(A) (@) 975
(a) 975

(B) (@) 875
(b) 875



N 775
(e) 775

(D) (&) 950
(d) 950

Correct Option(s): A
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Study the following graph that shows the percentage of number of employees of five different categories of a certain company
during 1997 and 1998, carefully and then answer the following questiont:

If the number of employees of category B in 1998 were the same as that in 1997, what would have been its percentage
share in the total number of employvees?

1997 % meanfart £ 3o 5=3200 siT 1998 #=3600
Total number of employees in 1997=3200 and that in 1998=3600

(A)
(F) 281
9
(@) 28 ;
(B)
T
@ 7
(b) 17§
(©
(m) 22;
© 22
(D)
@) 25
(d 25

Correct Option(s): A
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The following graph shows the monthly average values of the rupee against the US dollar from January 1998 to December
1998:

mmﬂwwﬁ@ﬁﬁmsﬂ&mﬁW$maM$w 3T el & 3 O

Find the number of months which have shown below average performance of the monthly average values of the rupee against
the US dollar in the vear 1998.

(A) (P) 5
(a)5

(B) (9) 7
(b)7

(© e
(©)6

(D) (*) 8
(@8

Correct Option(s): A
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Study the following information:

L. Alex, Betsy, Chloe, Dennis, Edward, Fiona, Giles and Herbert are gamblers sitting around a round table facing the centre.
II. Dennis is the neighbour of Alex but not of Herbert.

III. Betsy is the neighbour of Fiona and 4th to the left of Dennis.

IV. Edward is the neighbour of Herbert and 3rd to the right of Fiona.

V. Chloe is neither the neighbour of Alex nor of Giles.

Which of the following is correct?

(A) (@) SFE T & 3k U312

(a) Dennis is to the immediate left of Giles.

(B) (W) T0iay, ol SR S S A AR

(b) Alex is between Chloe and Dennis.

(C) (M) fhgHT 39 & o8 iR R A R Y

(¢) Fiona is 3rd to the right of Dennis.

(D) () U39S g¥ae SR all s g A2

(d) Edward is between Herbert and Betsy.

Correct Option(s): A



46.

e =i feu Ty vy &1 IR &7 & fa FafaRed yaar o ey o

1 el @, @, @, B, F w, AR o Tl @ oRe dkaerell § e O

I $§ I & T3l v w9 i U -1l B §

. S WeT g1 ‘T Y 3eeh 3fdb Urad szl

IV. T FaT g1 ‘ol U 1Y 3ieh WIe Hal .
V. U aR A1 ol - Halle oif U a1 § 9iR 3 ol BH 3its U el 2 e wU ¥ <& gaies i
U BT § 3R T 1 “#ll> o B feb U1l el |

afe S BT M To1 AR A BT RIH viear §, @ 579 F P T 96 6 goar

Directions: Refer to the following information to answer the question that follows.

I. Seven students A, B, C, D, E, F and G take a series of tests.

II. No two students get similar marks.

III. G always scores more than A.

IV. A always scores more than B.

V. Each time either C scores the highest and E gets the least; alternatively, D scores the highest and F or B scores the least.
If D is ranked sixth and B is ranked fifth, which of these can be true?

(A) () S BTG TgaT AT YT
(a) G is ranked first or fourth

(B) (@) Ul BT ¥ g1 TT TR &
(b) C is ranked second or third

(C) () “T DI ¥h GHI 1 Ufral §
(c) A is ranked second or fifth

(D) (8) ‘U I 3 dRT 1 D11 §
(d) F is ranked third or fourth

Correct Option(s): A
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Directions: Read the information and answer the question that follows.

Five friends — Ramesh, Suresh, Tanveer, Umesh and Vikram — each present one paper to their class on mathematics, History,
Biology, Chemistry or Dermatology — one day a week, Monday through Friday.

1. Vikram does not do Chemistry and does not give his presentation on Tuesday.

II. Suresh makes the Dermatology presentation and does not do it on Monday or Friday.

III. The mathematics presentation is made on Thursday.

IV. Tanveer presents his presentation, which is not on Chemistry, on Wednesday.

V. The Biology presentation is on Friday, and not by Umesh.

V1. Ramesh makes his presentation on Monday.

What presentation does Vikram do?

(A) (P) THYA IR
(a) Chemistry

(B) () @41 fag=
(b) Dermatology

(€) ) TR
(c) Mathematics

~ -~



(D) (%) SITd TaI
(d) Biology

Correct Option(s): A
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Directions: Answer the question on the basis of the information given below:

Each person, out of the 400 people in a certain community. reads at least one newspaper among Times of India, Hindustan

Times, and The Hindu. 37% of the people read at least two of the three newspapers, while 15% of the people read only HT. It
was also known that 23% of the people read TOI and Hindu, while 20% read TOI and HT and 12% read all the three
newspapers.

If the number of people who read TOI is less than that of those who read The Hindu, at least what number of people do
not read TOI?

(A) (P) 185
(a) 185

(B) (9) 166
(b) 166

(C) () 215
(c) 215

(D) (8) 39 A Bis Tg!

(d) None of these

Correct Option(s): A

49.
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Below are depicted three different positions of a dice. Find the number of dots on the face opposite to the face with one dot.

(A)(®)2
(a) 2

(B) (M) 3
(b)3

©@a
(c)4

(D) (@) 6
(d)6

Correct Option(s): A



50.

ﬁﬁfqrlIhifiiEﬂﬁEIﬁ{ﬂ%%ﬁa'Eﬁﬁﬁ? TG, Fad R RIS A 100 HIRX B S A UM e su Qe A3 145 a0

& UERKE] frafead gaa ot Juas §:
gliéhq 5 E"E1;E§2ﬂiﬁﬁﬁﬁ yferd & a1 s Ot
Ivgmamaﬂ%ﬁ m!ﬂﬂﬁ"iﬂﬁ'{ﬂ@ﬁ?{%’{ﬁ%ﬁm%w?ﬂ
gfe dRID 3R TG & YP| &1 YN 8 § df [ vt Yo v a1 §2

Directions: Five athletes Pulkit, Qadir, Rahim, Saglain, Tariq participated in a 100 meter race. They got different ranks from 1
to 5 in the race (1 being fastest). The following information is also known:

L. Pulkit is not the person who finished the race first.

I1. Rahim did not get 5th rank but he finished the race after Pulkit.

III. Saglain finished the race after Qadir.

IV. The sum of ranks of Pulkit and Tariq was equal to the sum of ranks of Rahim and Saglain.

If sum of ranks of Tariq and Rahim is 8 then who got the 4th rank?

(A) (@) Yfepd

(a) Pulkit
(B) (@) Ui

(b) Saglain

() (1) dikd

(c) Tarig

(D) (8) §7H A DS 71

(d) None of these

Correct Option(s): A

s1. AT si@er 7 3T 3id &9 W 82
What is the next term in the following series?

1,4,3,9,5,16,7,25,9.36. 11,7

(A) (P) 64
(a) 64

(B) (@) 49
(b) 49

(©) (1) 48
(c) 48

(D) () 55
(d) 55

Correct Option(s): A

52. 91 T YBT3 BTN 14 § 3R ST 3R 10 8, T 37 &1 Tom2il & UGS (Wieae) BT gal e |

If the sum of two numbers is 14 and their difference is 10, find the product of these two numbers.

(A) (P) 24
(a) 24

(B) (™) 22
(b) 22

(C)(@N 20
(c) 20

(D) (4) 18
(d) 18

Correct Option(s): A



53.

HelID (39GUS) DY

Evaluate:

J‘H— 21+4y19-49

(A) (@) 3
(a)3

(B) (W) s
(b) 5

(©CFNe
(c)6

(D) (4) 6.4
(d) 6.4

Correct Option(s): A

s4.r,ra:-a€&rr?ﬁ€ﬂsﬂmaﬁmaﬂqaoﬁa—cﬁm%ammﬂa?&nﬂmaﬁmﬁmaamzo%?ﬁm%luﬁ:ﬁtgvfa&rr
BT G a9 23.25 BT B T S el T HHLT: SE UTH BETA & Ul G e grfo

The average weight of boys in a class is 30 kg and the average weight of girls in the same class is 20 kg. If the average weight
of the whole class is 23.25 kg. what could be the possible strength of boys and girls respectively in the same class?

(A) () 14 3R 26
(a) 14 and 26

(B) (@) 13 3R 27
(b) 13 and 27

(©) AN 17 3R 27
() 17 and 27

(D) () ST A DI 71

(d) None of these

Correct Option(s): A

1 59 U 0 & SRY qu |
The price of an edible oil is increased by 25%. To maintain the budget, Sushma reduces the consumption of this oil by 20%.
The percentage increase in expenditure due to this edible oil is:

A)(@)0
(a) 0

55.qm@%%aaﬂma25%%m%%%g§mm$mwwaaﬁmaﬁzo%aaﬁmmém

(B) (W) 1
(®1

(©M2
()2

(D) (¥) 3
(d) 3

Correct Option(s): A

g{%gﬁmgﬂﬁaﬂw%m%o% T 4 ST 8% BT & A HH) G o1 B, AR gWR 99 98 5% Vg T 21 2 W &

The population of a town is 189000. It decreases by 8% in the first year and increases by 5% in the second year. What is the
population of the town at the end of 2 years?



(A) (P) 182574
(a) 182574

(B) (T) 185472
(b) 185472

(C) () 191394
(c) 191394

(D) (9) 193914
(d) 193914

Correct Option(s): A

57. U AR A U He 1 17 B1 AT B BIE Y 40% AW ag1 11 397 U =Y 1gs Bl 20 3R 259 &
g%wwaﬁ&almuﬁmmmaﬁmmmwmmlGﬂﬁ@mﬁﬁmaﬂwmmaﬁ

A dealer marked the price of an item 40% above the cost price. He allowed two successive discounts of_?.()% and 25%to a
particular customer. As a result he incurred a loss of Rs. 448. At what price did he sell the item to the said customer?

(A) (D) 2,416
(a) 2,416

(B) (W) 2,352
(b) 2,352

(C) (M) 2,268
(c) 2,268

(D) () 2,152
(d) 2,152

Correct Option(s): A

58. ‘@ 2500 ¥TY BT IUR W’ Bl a1 § 3R I GG 5 4RI T Bl 7% WY & WURUI S W AT R Al 4
gdfa‘aam‘az W AR T AN & SUHTHEYY 1120 ¥4 UTe BT 8 ol T Bl SUR &1 778 oIy Frofafaa

A lends Rs. 2500 to B and a certain sum to C at the same time at 7% p-a. simple interest. If after 4 years, A altogether receives
Rs. 1120 as interest from B and C, then the sum lent to C is :

(A) (P) 700
(a) 700

(B) (M) 1500
(b) 1500

(C) (*1) 4000
(c) 4000

(D) (4) 6500
(d) 6500

Correct Option(s): A

59. U Ut HRIH B Wideb g TS U Hall &1 Tar fbam 1 shad ot 399 16000 U3 3| HRI-3HY T@ arat
SHE! B 3 T g mfie 399 18000 YA B for1 - oy a1l ST 1 R1T Fg1 MY 12000 3UF T | Ba F BRI
37U dret SR (911 ot - arqva a1 Bl &8 wRgad & Ruikor sy

The mean monthly salary paid to graduating MBA class of a management institute is Rs. 16000. The mean monthly salary paid
to students with work experience is Rs. 18000. The corresponding figure for the students without any work experience is Rs.
12000. Determine the percentage of students with work experience and those without any work experience in the class.

(A) (P) 66.67%, 33.33%
(a) 66.67%, 33.33%

(B) (W) 33.33%, 66.67%
(b) 33.33%, 66.67%



(C) @T) 75%, 25%
(c) 75%, 25%

(D) (9) 25%, 75%
(d) 25%, 75%

Correct Option(s): A

60. HFARI 1 Uh I Dl 6800 YA H o &1 SR g1eT I51T| I I 9% Bl 7850 U H o 2 gren df I

TH 3D GRTIBTS 715 g1 B 4RI b 319 ob SRISR AT 1 20% ATH U B & 70 39 9 B b1 iod W
aa:ﬂ a]fa'qo

Srinivas sold an article for Rs. 6800 and incurred a loss. Had he sold the article for Rs. 7850, his gain would have been equal
to half of the amount of loss that he incurred. At what price should he sell the article to have 20% profit?

(A) (@) 7500
(a) 7500

(B) (@) 9000
(b) 9000

(©) (1) 10680
(c) 10680

(D) (9) 9600
(d) 9600

Correct Option(s): A

51.q§w%ﬁawmmmwﬁa@mfﬁamél BT AT S &1 el Tl 66 § | TR afekrdl &t ot
U §:

Every b;ndy in a room shakes hands with everybody else. The total number of hand shakes is 66. The total number of persons
in the room is

(A) (@) 11
(a) 11

(B) (M) 12
(b) 12

(©) (N 13
(e) 13

(D) (¥) 14
(d) 14

Correct Option(s): A

62.

U [aererd 3 Ui 96 &, @, T, T 3R 3 § 0 P A 23 end§ € e S weq & ¥4, 957 @ Q 8, We
Y 5, 9e 0 H 2 AR AV FEA B A U@ faeelf ot el & Hifiex & w9 7 9l (swe) w9 3 9 el
STl & | 39 910 &1 Wifdend] (Aafafereh) s wafia el @en &, <@ ok ap 4 9t e, frgferad g:

A school has five houses A, B, C, D and E. A class has 23 students, 4 from house A, 8 from house B, 5 from house C, 2 from

house D and rest from house E. A single student is selected at random to be the class monitor. The probability that the selected
student is not from A, B and C is

(A) (D) 4/23
(a) 4/23

(B) () 6/23
(b) 6/23

(C) () 8/23
(c) 8/23



(D) (9 17/23
(d) 17/23

Correct Option(s): A

S@Hﬂﬁ 1zomﬁmmmwﬁt4oomﬂﬂ@ﬂalGﬂimﬁﬁ?ﬂﬁs%ﬁﬁﬂwm
Ef?rs%aﬂaﬁuv T b gRT U 4RI fdhal g2
Latika bought a teapot for Rs 120 and a set of cups for Rs 400. She sold teapot at a profit of 5% and cups at a loss of 5%.The
amount received by her is

(A) (B) 494 BT
(a) Rs. 494

(B) () 546 TUL
(b) Rs. 546

(C) (T) 506 T
(¢) Rs. 506

(D) (9) 534 3T
(d) Rs. 534

Correct Option(s): A

64.

<l Ryae] @1 1000 IR IeSTel 71 AR I GROTH B FYFER sftfafEd e m .
S Y & MR R, 3P W 3P TP 83 31 YHIGI 8

Two coins are tossed 1000 times and the outcomes are recorded as below:

Based on this information, the probability for at most one head is

% AT e 2 |4 0
Numberofheads

RLELECL 200 |550 | 250
Frequency

(A) (@) 1/5
(a) 1/5

(B) (H) 1/4
(b) 1/4

(C) (M) 4/5
(c)4/5

(D) (M) 3/4
(d) 3/4

Correct Option(s): A



65.

W%i?%ﬁq?oaﬁgfaﬁﬂi@ﬁﬁ(mmﬁﬁW%Waﬂﬁﬁﬁaﬂﬁﬁ@ﬁﬁﬁaﬁ:ﬁ%ﬁﬂémmﬁ
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80 bulbs are selected at random from a lot and their life time (in hrs) is recorded in the form of a frequency table given below:
The probability that bulbs selected randomly from the lot has life less that 900 hours is:

SAraaTary (421 H) 300 | 500 | 700 | 900 | 1100
Life time (in hours)
ATTATAT 10 |12 |28 |25 |10
Frequency

(A) () 11/40
(a) 11/40

(B) () 5/16
(b) 5/16

(C) AN) 7/16
(c) 7/16

(D) (9) 9/16
(d) 9/16

Correct Option(s): A

66.@@%@%%15%03@@@uﬁfaﬁmmmwaﬁmmmmaﬁmmm&
R B Hl BI07 60 T B Gﬂ%}fﬁmmmwéﬁmmmmﬁﬂémﬁrﬁm%z

Monthly salary of a person is Rs. 15000. The central angle of the sector representing his expenses on food and house rent on a
pie chart is 60 degree. The amount he spends on food and house rent is

(A) (@) 5000 TG
(a) Rs. 5000

(B) (@) 2500 ¥UT
(b) Rs. 2500

(C) () 6000 YL
(c) Rs. 6000

(D) () 2000 YL
(d) Rs. 9000

Correct Option(s): A

sv.mw,mm,mm_ﬁwmwm%mm%?

Method like tossing a coin, throwing a die, lottery method- come under what sampling?

(A) () UTHRY QG TSR0

(a) Simple random sampling

(B) (9) WIRA (RCH15S) Tl

(b) Stratified sami;ling

(C) () ST THARY]

(¢) Multi stage sampling

(D) () G AHATDHI0]

(d) Cluster sampling

Correct Option(s): A



68. A& 3 R H IETIHA d6! G HH-G&fd 1 el T 918 8 < T Frafeirae 7 4 e srpurer 8

If you want to find the working efficacy of nationalized bank in India, which one of the following would vour follow?

(A) (@) TG FHADRT

(a) Multi stage sampling

(B) () IR HATH R

(b) Cluster sampling

(C) (T) TIRUT G THATHR0T

(c) Simple random sampling

(D) (9) THATRRUI FfE

(d) Sampling error

Correct Option(s): A

69, Wé:%%%QUENCESﬁ%ﬁ%W@%%WWWWQHfﬁﬁﬁﬂ%&m%ﬁlﬁﬁimaﬁ

How many pairs of letters are there in the word CONSEQUENCES which have as many letters between them as in the English
alphabet?

(A) (P) IR

(a) Four

(B) (W) Ul
(b) Five

(C) (1) HId

(c) Seven

(D) (¥) &:
(d) Six

Correct Option(s): A

. Pifdlep B & BU G 3 Bgl, “3uP] Trar R g fafaa >
%?ﬁﬁﬁﬁamaggumwﬁag% Bk TR P2

Pointing to Kartik, Vivan said, “His mother’s brother is the father of my son Nitin.”
How is Kartik related to Vivan?

(A) () HIHT
(a) Uncle

(B) (T) HIg
(b) Brother

(C) AT Hcfie

(c¢) Nephew

(D) (%) e
(d) Father

Correct Option(s): A

7a

el & SiS 159 UbR 957 5% b 1Yl 276 B T & oY 18Rt ) TeTER Bweas A S Od

Select the combination of numbers so that the letters are arranged accordingly to form a meaningful word.



(A) (P) 3.4,2,7,6.1,5

(a) 3142277!6’155
(B)(®)5,2,7.1,4,6,3
(b)5,2,7,1,4,6,3
(©) (N 4,1,7,3,2,6,5
(€)4,1,7,3,2,6,5

6,7

Correct Option(s): A

72.

ﬁﬁmmmﬁm%mma@awmmmwwwm

What is the least number of squares that must be added so that the line AB becomes a line of symmetry?

(A) (@) 4
(2) 4

(B) (@) 5
(b) 5

@©@ne
(c)6

(D) (%) 7
(@7

Correct Option(s): A

73

fFrafefad # 9 o o 9 T8 82

Which of the following is NOT correct?
(A)

(®) (8= (3paT(2Px (3 F =0 ¥ fory o v ¢
@ (8- (3)can bewriten as (2)x (35

(B)
() 10.342 x (10)° % AT i+ 1.0342 x (10)10 g

(B)  The standardform of 10.342 x (10)° is 1.0342 x (10)10
(©)

(M 20x30+40%FTHM1E

(©)  Valueof20x 30+ 40 s 1



D)
() P3xPs:PRTHTP: &

(d)  Value of Pé x P5- P4is P4

Correct Option(s): A

%Waﬁaﬂaﬁwwﬂaaﬂaﬁnﬁ%?ﬁqwﬁmmmal 3¢ U dedd B 9T 176 93 B dl 3 Feail 3R 4

@1 G AT BT Uell | _
The Prigewof a bat is Rs.14 more than three times the price of a ball. If cost of a bat is Rs. 176. Find the total cost of 3 bats and

4 balls.
(A) (@) 575 39Y

(a) Rs. 575

(B) (@) 460 T
(b) Rs. 460

(C) @) 650 TGT
(¢) Rs. 650

(D) (9) 744 34T
(d) Rs. 744

Correct Option(s): A

75. G, HEFH 3R BIC S{H1-3e DR & 255 FFN 1 4369 2 - 8 5% U A ¥ | 7o MR F sl )
BIGER]

There are 255 boxes of different sizes large, medium and small. These boxes are in the ratio 2:8:5. Find the number of medium
size boxes.

(A) (P) 85
(a) 85

(B) (@) 136
(b) 136

()N 192
(c) 192

(D) (H) 115
(d) 115

Correct Option(s): A

76. b 114 §§19 & 3% aich 31 4l 71a &Y ifd wg19 & o 40% ¥ B Il 8 1 T YRT B! 7173 & SRR G &
SR R e 719 @1 Y 240 Rbamsitemf der 1 e 31 14 &1 9514 & faeg 71fa (fraiie/ufd ser &) &1 uar
AU |

A boat travels in upstream. If the speed of boat in upstream is decreased by 40% then it is equal to the speed of current and
speed of boat in still water is given as 240 kms/hr. Then find upstream speed of boat? (In kmv/hr)

(A) () 120
(a) 120

(B) (9) 180
(b) 180

(C) (M 150
(c) 150

(D) (9) 210
(d) 210

Correct Option(s): A



77. U GHIGR &l G S 3R BHiel 3G 8| U SiI-=4 &1 ARTd-Hed U BHI & ANT-ed U 32.5% @ 2
3R S & ANTA-Hd B 30% 1 a1 STl § aUT 38 25% b AlH TR 4134 ST & 9 RArSrar 21 i Sl =
3ifebd Hel B AFTA-Hed Y 15% 30D gl foam Siar § df FHiv W ifhd 4ed (U §) &1 yal e |

A Shopkeeper has two articles jeans and shirt. Cost price of a jeans is 32.5% more than cost price of a shirt and cost price of
jeans is increased by 30% and is sold for Rs. 4134 at the profit of 25%. If shirt marked up 15% above cost price, then find the

marked price of shirt (in Rs.)?

(A) (@) 2200
(a) 2200

(B) () 2208
(b) 2208

(C) () 2280
(c) 2280

(D) () 2820
(d) 2820

Correct Option(s): A

78.

=Tel < 775 RV Ueh IE H AR SHRRT-3fT oAl TR TN T b1 el $ i Gl 8 ofR 9 341 feil A migen
3! & Ufd2rd &1 i <=l § 1 S BT eFyde ug 3R us &1 3w 2|

Table given below shows total number of male visitors on four different days to a park and it also shows percentage of female
visitors on these four days. Read the data carefully and answer the question.

fza 8 T A afgar urtgsl 21 ulasms
Da_ys ) ) Teialmale visitors Percentage of female visitors
MLELY 120 78%

Sunday

P 260 30%

Mondag )

WA 500 37.5%

Tuesday

Ayt | 420 40%

Wednesday |

QuAre ) ARl R g s, Fae ol drgare afen snaat o fieres gor e &
Total number ofvisitors on Wednesday is hew much more than tetal number of fermale
visitors on Sunday and Monday togethes?

(A) (®) 300
(a) 300

(B) (@) 200
{b) 200

(©) @) 250
(c) 250

(D) () 350
(d) 350

Correct Option(s): A

79. BT 130-150 & Ha-2F g
The class-mark of the class 130-150 is:

(A) (@) 130
(a) 130

(B) () 135
(b) 135

(C) ("T) 140
(c) 140



(D) (Y) 145
(d) 145

Correct Option(s): A

80. 25 H‘@mﬁﬁ% Tﬁ;ﬂfﬂﬁgss?%&@ﬂﬁ@&ﬁﬂﬂﬂ 13 TSI B HHAA 32 § 2R 33 13

The mean of 25 observations is 36. Out of these observations if the mean of first 13 observations is 32 and that of the last 13
observations is 40, the 13th observation is:

(A) (®) 23
(a) 23

(B) (@) 36
(b) 36

(©) (N 38
(c) 38

(D) (d) 40
(d) 40

Correct Option(s): A

81.

52@&@@%@%@@@@@%%%sﬂmﬁmﬁmﬁ%aﬂéwaﬁsﬁm

One card is drawn from a well-shuffled deck of 52 cards. Calculate the probability that the card will not be an ace.
(A) (@) 1/13
(a) 1/13

(B) (W) 1/26
(b) 1/26

(©) (@ 1/39
(c) 1/39

(D) (d) 1/52
(d) 1/52

Correct Option(s): A



82.
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The given bar graph shows the daily wages of both men and women working in ABC Itd in five different days in a week.
The wage for men on Saturday is 40% of the both men and women wages in Friday and the wage for women on Saturday is
25% of the both men and women wages on Wednesday. Find the total wages of both men and women on Saturday.

Total wages
A

TEAG

EI)
220
2000
1808
100
S
0

Ilenday Tuz silay Nrdnesday Thursda, Frida;

(A) (P) 1800 ST
(a) Rs.1800

(B) () 1900 TG
(b) Rs. 1900

(C) @T) 2000 7Y
(e) Rs. 2000

(D) (4) 1600 TGY
(d) Rs. 1600

Correct Option(s): A

83.

ﬁaﬁ@aﬁwwmﬁﬁmﬁm%@&m—mwmﬁ

The following Venn diagram shows the number of people who speak different languages:

1z

— Y E 4

Spanish a aghsh
241 5
&
2
8 H/A-> Hiod:
10 =
—> French

Howmany parsons can speak French and Spanish both?

(A) (P) 11
(a) 11

(B) () 12
(b) 12



()13
{c) 13

(D) (4) 14
(d) 14

Correct Option(s): A

84.

®: TSIl U Tl 7 34 g fag 3 3R 3@ gU s €13 e, @y, <o, wge, b
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Six girls are sitting in a circle facing to the centre of the circle. They are P, Q. R, S, T and V. T is not between Q and S but
some other one. P is next to the left of V. R is 4th to the right of P.

Which one is sitting just right to the V?

AR B ag IR
U & 7S AR DY »A

-

-

A) @) Tt
(a)P

B) (@)
T

(C) (1) 3
()R

(D) () TH/R]
(d)S/Q

Correct Option(s): A

85.

feRr: PR uy A ue uy ok < sy 1 sk 1 ARka 2 S9! 4 [Hofa &1 § 6 R B | Suaied SR1v e
PG JY B IR & & 10 vl ¥ 1 G ol ) 02 iR IeR 2
Y : DIFES 9 'sin co bye',maﬂf% 'He is good', § P17 I DIS U 'good’ %ﬁmm‘g’ﬁﬂ 8

DY

L G BIS HINT T, 'co mot det' T C'rlg’? 'They are good'

.3 &S HTST . 'sin mic bye' @[ 'He is honest'.

Directions: The following question consists of a question and two statements numbered I and I given below it. You have to
decide whether the data provided in the statements are sufficient to answer the question. Read both the statements and give
answer:

Question: Which code word stands for 'good’ in the coded sentence 'sin co bye' which means 'He is good*?
Statements:

L. In the same code language, 'co mot det' means ' They are good'.
II. In the same code language, 'sin mic bye' means 'He is honest'.

(A) (®) Dad 1 93 § el bae 1 wufe T2

(a) I alone is sufficient while IT alone is not sufficient

(B) (T) Bl 11 QT § STafeb el | Ui 18 3

(b) I1 alone is sufficient while I alone is not sufficient

(©) D AT dl 1 a7 1 v g

(c) Either I or II is sufficient

D)@ AT1MRAT 1 W@ g

(d) Neither [ nor 11 is sufficient

Correct Option(s): A



86.
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Directions: In the following problem, there is one question and three statements I, II and III given below the question. You
have to decide whether the data given in the statements is sufficient to answer the question. Read all the statements carefully
and find which of the statements is/are sufficient to answer the given question.

Question: What is Suman's rank from the top in a class of forty students?

Statements:

L. Suman is 3 ranks below Deepak from the top

II. Deepak's rank from the bottom is 23

IMI. Suman is 3 ranks above Deepak from the bottom

(A) @ T HIDSE Q

(a) Any two of the three

(B) (@) dad 1 3R 11

(b) Only I and I

(C) () &dd 1 3R m

(c) Only 11 and III

(D) (8) ael 1 3R AT 1 3T 1

(d) Ouly II and either I or ITI

Correct Option(s): A

87.

frvce: Frafermad wy o, 1 sy R e ¥ Roraer e <) frsed 1 o e 31 U feU MU & HU! &1 Ol =Y
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(1) 92 [Eerrs] Wl ¥ag §
() $3 Raars) e gad

Directions: In each question below are given two statements followed by two conclusions numbered I and II. You have to take
the given two statements to be true even if they seem to be at variance from commonly known facts. Read the conclusion and

then decide which of the given conclusions logically follows from the two given statements, disregarding commonly known
facts.

Statements: No women teacher can play. Some women teachers are athletes.
Conclusions:

(I) Male athletes can play.

(I) Some athletes can play.

(A) () bad s 1 3R w1 B

(a) Only conclusion I follows

(B) (@) bacl Fss 11 3HR0 BT &

(b) Only conclusion II follows

(C) (M) Tl 1 34YET 11 SFERT Bl @
(c) Either I or IT follows

(D) (&) T <1 1 3R E 11 3FTHR bl &

(d) Neither I nor 11 follows

Correct Option(s): A



88.

e FEfiRed a1 &1 ug 3R 39 W 2yl Uy &1 IR 2|
LUBG U Y6933 8 3R i3S W TP GSA1 (1 U 6) 3R TS 18|
IL 3,6 AGIIR 1, 5 & T 3Md §

%ﬁaaa%q%ﬁ@m 3R T1e &6 4 & 0 UTd ¢ b 37 7 3R e 4 e 39S W § SR Wb 7 3R 9 1
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Directions: Read the information given below and answer the question based on it.

I. A dice has 6 sides and each side has a number (1 to 6) and a colour.

II. 3, 6 lie correspondingly opposite to 1, 5.

II. When you see number 2 and Red surface then you find that the green colour and number 4 are exactly opposite to it and the
white colour and number 1 lies on the top.

IV. Yellow and Blue are in front of each other.

V. When you observe the pink colour in front of you, you find number 2 on the top, number 3 on your right and Blue colour on
your left.

Which colour is represented by digit 57

(A) (@) el
(a) Blue

(B) (@) UTalr
(b) Yellow

(C) 1) T[eTrat

(¢) Pink
@) (3 FeRor =g fvar s gdar g

(d) Can’t be determined

Correct Option(s): A

89.

12 RY 1Y Fead 7 TR € 7 Uge & e e T

What is the total mumber of ways to reach A to B in the network given?

(A) (P) 12
(a) 12

(B) (9) 16
(b) 16

(©) (M 20
(c) 20

(D) (™) 22
(d) 22

Correct Option(s): A



90. HI-1 1 g &1 Hg! He! ITa g fdb I el ofl & S+ 31 TR 18 TS & 918 § olfch1 98 22 0E & Ugdl 21 3%

fob 3 Ul & o7H ) ARG 24 7S W b o1G 61 73 | by avia &l ffy
I S g e 3w

Meena correctly remembers that her father's birthday is after 18th May but before 22nd May. Her brother ?orrectly re{nembers
that their father's birthday is before 24th May but after 20th May. On which date in May was definitely their father's birthday?

(A) (@) 20
(a) 20

(B) (@) 19
(b) 19

(SYCURE
(c) 18

(D) (4) 21
(d) 21

Correct Option(s): A

91. 4 S{CT-S{TT el 1], 2 Ueh ¥l Il 11af 3R 3 U SRft Wb 151 & 90 & aidiep] & ot Tl 1T @i

What will be the total number of ways of selections of 4 distinct red balls, 2 identical black balls and 3 identical white balls?

(A) (P) 192
(a) 192

(B) (M) 185
(b) 185

(C) (TN 193
(c) 193

(D) (9) 195
(d) 195

Correct Option(s): A

92. 10 farciITd Ul &1 TR 24 BT Iraet & ARG & RIS 2| 6 [baiium o &1 Bivd 2 raumy araa & arg

@ SRR G| 312 B Ul eI a1 AT 20.50 ST 31 4 R A4, 3 e 9 3 5 flaiiom ame o1 arrg
CARGIRSUI

The cost of 10 kg of apples is equal to the cost of 24 kg of rice. The cost of 6 kg of flour equals the cost of 2 kg of rice. The
cost of each kg of flour is Rs.20.50. Find the total cost of 4 kg of apples. 3 kg of rice and 5 kg of flour.

(A) (D) 849.40 3L
(a) Rs. 849.40

(B) (@) 877.40 394
(b) Rs. 877.40

(©) (1) 901.60 YL
(¢) Rs. 901.60

(D) (9) 815.20 TTY
(d) Rs. 815.20

Correct Option(s): A

93. 19 A BT 560 it 71g, et MR EIel HH: 3 < 4 - 1 F T T G| 60% 718, 45% T 3R 20% &Tell B
Wﬁaﬁ&umﬁgﬁﬁmgﬂmwmm%mr%wmmmm%?

Raju bought a total of 560 kg of wheat, rice and pulses in the ratio 3:4:1 respectively. After 60% of wheat, 45% of rice and
20% of pulses are sold; the total weight of the remaining items is what percent of the initial total weight of rice and pulses?

(A) () 84%
(a) 84%



(B) (H) 79%
(b) 79%

(C) (1) 86%
(c) 86%

(D) () 82%
(d) 82%

Correct Option(s): A

94. T G TP 4% W 216000 TT BT BT <l 3, 5 7 I8 H 16.67% Ul a8 & Ishafg o411 1 X Y e s

%L'um 3R fe<iia 98 & <1 Al HAE: 84000 T 7R 58000 TUL TTTY B el § | B BT USRI B3 & 270 39
Iy & &1 fbael Y=RIRI drerT gl

A man takes a loan of Rs 216000 from a bank, to be returned in three years at a rate of 16.67% p.a. compound interest. The
man returns Rs 84000 and Rs 58000 after first and second year. How much money will he have to return after third year to
settle the loan?

(A) (®) 161000 TG
(a) Rs. 161000

(B) (M) 138000 ST
(b) Rs. 138000

(C) (T) 152000 3TY
(c) Rs. 152000

(D) (9) 175000 TUL
(d) Rs. 175000

Correct Option(s): A

95. Afed1 (FfST) T 8l gler &

The median is always:

(A) (®) TP 81T I H Halltd SRaRaT 4 g9 ael R 8

(a) The most frequently occurring score in a data set

(B) (@) nmaéf%,aauﬁmmﬁnﬁr(ﬂaﬂ@%ﬂﬁ%ﬁaaﬁmw%

(b) The middle score when results are ranked in order of magnitude

(©) (M AEHE @) & e

(c) The same as the mean

(D) (3) 3HTBEAH 3R FAaw 3d] @B RS 9 3R

(d) The difference between the maximum and minimum scores

Correct Option(s): A

96. TF® S B o1 URHTT 82

What is a definition of the standard error?

(A) (®) T BT HAS fdzrer
(a) Standard deviation of the sample

(B) (9) Wia¥s AMS fagaq

(b) Squared standard deviation

(C) (1) AT AEHHA] &1 HHS faga

(c) Standard deviation of sample means

(D) () SERe1 HeqHH &1 A fadeq
(d) Standard deviation of the population mean

Correct Option(s): A



97. 3(T3.UL.Ta. TioH 10 H 65 RGaTSal & oid T 90 €1 3fe 2 v faaifedl & el Rarsiar 8 @198 a5 T R

g Sl 81 42 Y Sh1e] 3 1 ael 2 i el & < sHad gRmE QUi A 9 § o) el w161 T S
4Tl fGag] & 31 &1 Uell |

The average runs of 65 players in IPL season 10 is 90. If top five players are removed, the average drops by 5 runs. If the runs
of top five scorers are in consecutive decreasing integers order, then find the run of top scrorer.

(A) () 148
(a) 148

(B) (W9) 152
(b) 152

(C) (M) 145
(c) 145

(D) () 155
(d) 155

Correct Option(s): A

98. ﬁ%mﬁaﬁgﬁ%ﬁ?%wﬁmmmw 3Id AIHM 18, 22, 19, 25, 12 2

Directions: The average temperatures recorded over a five-day period last winter are 18, 22,19,25,12
What will be the standard deviation for the above data?

(A) (P) 4.9
(a) 4.9

(B) (@) 5.9
(b) 5.9

(©) (6.9
(c) 6.9

D) () 7.9
(d)7.9

Correct Option(s): A

99.

e 1w as TREH R TS fe1 | fassy P g :
‘ﬁ eﬁga @ fU 71T aTeHl 31 SEm ® 10 BRI-Raw @ AffiEd g

Dire_ectious: The number of vehicles sold by a major Toyota Showroom in a day was recorded for 10 working days. The data
is given as —

L)
<

Frequency
20
15
18
5

10
7
21
19
25
10 28

]
©o|N|oialslwiv|«| g

|
|

Fam sy spepr TR wrad e Frer e sy 5 v s
Find its coefficientforthe given discrete distribution case.

(A) (P) 24.07
(a) 24.07

(B) (W) 23.08
(b) 23.08

(C) (1) 25.04
(c) 25.04



(D) (9) 26.09
(d) 26.09

Correct Option(s): A

100, THAIRYI &1 =I5 Wik, forae wiiddrar (efaferdhy anfie =1 8, &1 R 9m 3 S o g

A selection procedure of sampling having no involvement of probability is known as

(A) () T.3R.TH S 3. 3R,
(a) SRSWOR

(B) (T) S IGURD BRI

(b) Purposive sampling

(C) (7T) TH.3{R. T S, 31X,
(c) SRSWR

(D) (8) I3 8T

(d) None

Correct Option(s): A



